
ASSORTMENTS

#UniquelyBe�er



CUSTOMIZATIONS

All assortments shown are J & L 

Standard Assortments. You can 

customize them in a way that 

works best for you! For custom-

iza�ons, please give us a call at 

219-845-8500.

#UNIQUELYBETTER

2



TABLE OF CONTENTS
ASSORTMENT PAGE

ABP  - BRASS PIPE FITTINGS

ABT  - COPPER LUG/BATTERY TERMINAL

ACP  - COTTER PINS

ADP  - DOWEL PINS

AERR  - EXTERNAL RETAINING RINGS

AETI  - NYLON INSULATED ELECTRICAL TERMINALS

AETI100  - INSULATED NYLON ELECTRICAL TERMINALS

AEWWN  - NYLON INSULATED ELECTRICAL TERMINALS/WIRENUTS

55‐56 

53‐54 

49‐50 

47‐48 

45‐46 

43‐44 

41‐42 

39‐40 

37‐38 

35‐36 

33‐34 

31‐32 

29‐30 

27‐28 

25‐26 

23‐24 

21‐22 

19‐20 

17‐18 

15‐16 

13‐14 

11‐12 

9‐10 

AORL ‐ BUNA O‐RINGS (LARGE) 

AOR ‐ BUNA O‐RINGS 

ANCTB ‐ BLACK NYLON CABLE TIES 

AMSPPWNFL ‐ PHILLIPS PAN HD M/S W/NUTS, F/W & L/W 

AMPMS ‐ METRIC PHILLIPS PAN HD MACHINE SCREW W/ NUTS 

AMORS ‐ METRIC O‐RINGS 

AMGF ‐ METRIC GREASE FITTINGS 

AMFCS ‐ METRIC FLAT HD SOCKET CAP SCREW 

AKSD ‐ KEY STOCK 

AHWT ‐ HEW WASHER HEAD TAPCON ANCHORS 

AHSTB ‐ BLACK HEAT SHRINK TUBING 

AHST ‐ HEAT SHRINK TERMINALS 

AHC ‐ HOSE CLAMPS 

AGFS ‐ GREASE FITTINGS 

AGFL ‐ GREASE FITTINGS 

AFW ‐ FENDER WASHERS 

51‐52 

3



TABLE OF CONTENTS
ASSORTMENT PAGE

102 

100‐101 

99 

98 

94‐97 

91‐93 

89‐90 

88 

85‐86 

83‐84 

81‐82 

79‐80 

77‐78 

75‐76 

73‐74 

71‐72 

69‐70 

67‐68 

65‐66 

63‐64 

61‐62 

59‐60 

57‐58 

87 

AETLW ‐ EXTERNAL TOOTH LOCK WASHERS 

ABPXH1142 ‐ 1 1/4‐2" BLACK XH PIPE FITTINGS 

ABPPDOT ‐ POLU PUSH D.O.T. 

ABP24 ‐ BLACK PIPE FITTINGS, 24 HOLE 

ABP181 ‐ 1/8‐1" BLACK PIPE FITTINGS 

ABP141 ‐ 1/4‐1" BLACK PIPE FITTINGS 

ABP1142L ‐ 1 1/4‐2" BLACK PIPE FITTINGS 

ABNTA ‐ NTA BRASS AIR BRAKE FITTINGS 

ABCF ‐ BRASS COMPRESSION FITTINGS 

NSASSC14201213 ‐ CUP PT SOCKET SET SCREWS 

NSAMSPPSS614 ‐ S/S PH HD M/S W/NUT 

AWN ‐ WIRE NUTS 

ATRB7 ‐ B7 THREADED ROD 

ATCHD ‐ HEAVY DUTY TUBING CLAMPS 

ASSSC ‐ SOCKET SET SCREW CUP POINT 

ASSCM ‐ METRIC SOCKET SET SCREWS 

ASSC6321420 ‐ CUP PT SOCKET SET SCREWS 

ASDS ‐ HEX WASHERS HD SELF DRILLING SCREWS 

ARPSSSS ‐ STAINLESS STEEL POP RIVETS 

ARP‐ ROLL PINS 

ARMS ‐ SLOTTED ROUND HEAD MACHINE SCREWS 

APRMS ‐ PHILLIPS ROUND HD MACHINE SCREW W/NUTS 

APRAS ‐ ALUM/STEEL POP RIVETS 

APPSMS ‐ PHILLIPS PAN HD SHEET METAL SCREWS 

4



TABLE OF CONTENTS
ASSORTMENTS WITHOUT GRIDS PAGE

125‐126 

113‐114 

111‐112 

108‐110 

106‐107 

105 

104 

103 

AIERR ‐ INTERNAL & EXTERNAL RETAINING RINGS 

AHWHSMS ‐ HWH SHEET METAL SCREWS 

AHPC ‐ HAIR PIN COTTERS 

AHDEL ‐ HEAVY DUTY ELECTRICAL LUG 

AHCS8NF40 ‐ 1/4‐1/2" GR. 8 SAE HEX HD CAP SCREWS 

AHCS8L ‐ LONG LENGTH GR. 8 USS HEX HD CAP SCREWS 

AHCS840 ‐ 1/4‐1/2" GR. 8 USS HEX HD CAP SCREWS 

AHCS540 ‐ 1/4‐1/2" GR. 5 USS HEX CAP SCREWS 

AGRHCSSAE ‐ GR. 8 SAE HEX CAP SCREWS 

AGR8HCS ‐ GR. 8 SAE HEX CAP SCREWS 

AGR5HCSFB ‐ FULL BOX QTYS. GR. 5 USS HEX CAP SCREWS 

AGR5HCS78 ‐ 1/4‐7/8" GR 5 USS HEX CAP SCREWS 

AGR5HCS ‐ GR. 5 USS HEX CAP SCREWS 

AGP141 ‐ 1/4‐1" GALVANIZED PIPE FITTINGS  

AGP1142S ‐ STANDARD GALVANIZED PIPE 1 1/4‐2" 

AFTA ‐ FLAT HD TAPCO ANCHORS 

AFAGCATC ‐ AGC/ATC FUSES 

AFAGC ‐ AGC FUSES 

123‐124 

121‐122 

119‐120 

117‐118 

115‐116 

139 

138 

137 

136 

135 

134 

133 

132 

131 

130 

129 

127‐128 

ALNNI8F ‐ FINE GRADE 8 NYLON INSERT LOCKNUTS 

ALNNI8C ‐ COARSE GRADE 8 NYLON INSERT LOCKNUTS 

ALNASCF ‐ GR. C ALL STEEL LOCK NUTS, USS & SAE 

AKS ‐ 1/8‐1" SQUARE KEYSTOCK 

AITLW ‐ INTERNAL TOOTH LOCK WASHERS 

AIRR ‐ INTERNAL RETAINING RINGS 

AIETLW ‐ INTERNAL & EXTERNAL TOOTH LOCK WASHERS 

5



TABLE OF CONTENTS
ASSORTMENT WITHOUT GRIDS PAGE

179‐180 

176‐178 

174‐175 

173 

172 

170‐171 

169 

168 

167 

165 

161‐164 

160 

159 

157‐158 

155‐156 

154 

152‐153 

150‐151 

148‐149 

147 

146 

144‐145 

142‐143 

140‐141 

ASHCSHLW ‐ SOC HD C/S W/HI‐COLLAR L/W 

ASHCS72 ‐ SOCKET HD CAP SCREWS (72 HOLE) 

ASHCS40‐ 40 HOLE BIN SOCKET HD CAP SCREWS 

ASHCS24S ‐ SMALL SOCKET HD CAP SCREWS 

ASHCS24 ‐ SOCKET HD CAP SCREW (24 HOLE) 

ASFCS40 ‐ FLAT HD SOCKET C/S 

ASFCS24 ‐ 24 HOLE FLAT HD SOCKET C/S 

ASCP ‐ STANDARD CLEVIS PIN 

APSDS ‐ PHILLIPS PAN HD TEK SCREWS 

APRAA ‐ ALUM./ALUM. POP RIVETS 

APBXH181 ‐ 1/8‐1" SCHO. 80 BLACK PIPE FITTINGS 

ANCTN ‐ NATURAL NYLON CABLE TIES 

AMSHCS24 ‐ METRIC 12.9 SOCKET HD CAP SCREWS 

AMSHCS12972 ‐ METRIC 12.9 SOCKET HD CAP SCREWS 

AMSHCS12940 ‐ METRIC 12.9 SOCKET HD CAP SCREWS 

AMLNAS ‐ METRIC ALL STEEL LOCK NUTS 

AMHCSS ‐ GR. 8.8 METRIC HEX HD CAP SCREWS (SMALL) 

AMHCSL ‐ GR. 8.8 METRIC HEX HD CAP SCREWS (LARGE) 

AMHCS40 ‐ GR. 8.8 METRIC HEX HD CAP SCREWS 

AMHCS24109 ‐ GR. 10.9 METRIC HEX HD CAP SCREWS, DRAWER 

AMHCS24 ‐ GR. 8.8 METRIC HEX HD CAP SCREWS, DRAWER 

AMHCS10972 ‐ GR. 10.9 METRIC HEX HD CAP SCREWS 

AMHCS10940 ‐ GR. 10.9 METRIC HEX HD CAP SCREWS 

AMHCS109 ‐ GR. 10.9 METRIC HEX HD CAP SCREWS 

166 APRSS ‐ STEEL/STEEL POP RIVETS 

ASSORTMENT WITHOUT GRIDS 

6



TABLE OF CONTENTS

195 

194 

193 

191‐192 

188‐190 

185‐187 

182‐184 

181 

PAGE ASSORTMENT WITHOUT GRIDS  

ASSSCSS ‐ STAINLESS SOCKET SET SCREW, CUP POINT 

ASSSCF ‐ FINE THREAD SOCKET SET SCREWS 

ASSSC2 ‐ SOCKET SET SCREWS 

ASSPN141 ‐ STAINLESS PIPE NIPPLES 

ASSP141 ‐ STAINLESS PIPE FITTINGS 

ASSMHCS72 ‐ METRIC S/S HEX HD CAP SCREWS 

ASSHCS72 ‐ 18/8 S/S HEX HD CAP SCREWS 

ASMSPPSS ‐ STAINLESS PHIL PAN HD SHEET METAL SCREW 

7

ASSSS ‐ SOCKET SET SCREW, SMALL 196 

AWHCL ‐ HIGH COLLAR LOCK WASHERS 197 



FOLLOW US!

6944 Parrish Ave Hammond, IN 46323

(219) 845-8500

h�ps://www.facebook.com/JLfasten/

h�ps://www.jlfasteners.com

8



    

A
B
P

 

9



ABP
PART NO. DESCRIPTION QTY

100A-A 1/8 90 FPT ELBOW, BRASS 6

100A-B 1/4 90 FPT ELBOW, BRASS 5

100A-C 3/8 90 FPT ELBOW, BRASS 4

100A-D 1/2 90 FPT ELBOW, BRASS 3

103A-A 1/8 HEX COUPLING, BRASS 6

103A-B 1/4 HEX COUPLING, BRASS 5

103A-C 3/8 HEX COUPLING, BRASS 4

103A-D 1/2 HEX COUPLING, BRASS 3

122A-A 1/8 MPT HEX NIPPLE, BRASS 6

122A-B 1/4 MPT HEX NIPPLE, BRASS 5

122A-C 3/8 MPT HEX NIPPLE, BRASS 4

122A-D 1/2 MPT HEX NIPPLE, BRASS 3

109A-A 1/8 SQUARE HEAD PLUGS, BRASS 10

109A-B 1/4 SQUARE HEAD PLUGS, BRASS 10

109A-C 3/8 SQUARE HEAD PLUGS, BRASS 8

109A-D 1/2 SQUARE HEAD PLUGS, BRASS 6

110A-BA 1/4 X 1/8 HEX BUSHING, BRASS 10

110A-CB 3/8 X 1/4 HEX BUSHING, BRASS 10

110A-DC 1/2 X 3/8 HEX BUSHING, BRASS 10

110A-ED 3/4 X 1/2 HEX BUSHING, BRASS 6

101A-A 1/8 TEE, BRASS 6

101A-B 1/4 TEE, BRASS 5

101A-C 3/8 TEE, BRASS 4

101A-D 1/2 TEE, BRASS 3

24DRAWER 24 COMPARTMENT DRAWER 1

10



FR
ON

T

BA
CK

8 
X 

5/
16

CO
PP

ER
 L

UG
BC

L8
51

6

1 
X 

3/
8

CO
PP

ER
 L

UG
BC

L1
38

2/
0 

X 
3/

8
CO

PP
ER

 L
UG

BC
L2

03
8

1/
0 

PO
S

BA
TT

ER
Y 

TE
RM

BT
10

P

3/
0 

PO
S

BA
TT

ER
Y 

TE
RM

BT
30

P

6 
X 

3/
8

CO
PP

ER
 L

UG
BC

L6
38

1 
X 

1/
2

CO
PP

ER
 L

UG
BC

L1
12

2/
0 

X 
1/

2
CO

PP
ER

 L
UG

BC
L2

01
2

1/
0 

NE
G

BA
TT

ER
Y 

TE
RM

BT
10

N

3/
0 

NE
G

BA
TT

ER
Y 

TE
RM

BT
30

N

4 
X 

3/
8

CO
PP

ER
 L

UG
BC

L4
38

1/
0 

X 
3/

8
CO

PP
ER

 L
UG

BC
L1

03
8

3/
0 

X 
1/

2
CO

PP
ER

 L
UG

BC
L3

01
2

2/
0 

PO
S

BA
TT

ER
Y 

TE
RM

BT
20

P

4/
0 

PO
S

BA
TT

ER
Y 

TE
RM

BT
40

P

2 
X 

3/
8

CO
PP

ER
 L

UG
BC

L2
38

1/
0 

X 
1/

2
CO

PP
ER

 L
UG

BC
L1

01
2

4/
0 

X 
1/

2
CO

PP
ER

 L
UG

BC
L4

01
2

2/
0 

NE
G

BA
TT

ER
Y 

TE
RM

BT
20

N

4/
0 

NE
G

BA
TT

ER
Y 

TE
RM

BT
40

N

CO
PP

ER
 L

UG
 / 

BA
TT

ER
Y 

TE
RM

IN
AL

SI
DE

 M
OU

NT
BA

TT
ER

Y 
TE

RM
BT

SM

PO
SI

TI
VE

M
AR

IN
E 

TE
RM

BT
M

P

NE
GA

TI
VE

M
AR

IN
E 

TE
RM

BT
M

N

TR
UC

K 
EM

ER
GE

NC
Y

BA
TT

ER
Y 

TE
RM

BT
TE

A
B

T

11



ABT

PART NO. DESCRIPTION QTY

BCL8516 #8 X 5/16 BATTERY COPPER LUG 6

BCL638 #6 X 3/8 BATTERY COPPER LUG 6

BCL438 #4 X 3/8 BATTERY COPPER LUG 6

BCL238 #2 X 3/8 BATTERY COPPER LUG 6

BCL138 #1 X 3/8 BATTERY COPPER LUG 6

BCL112 #1 X 1/2 BATTERY COPPER LUG 6

BCL1038 1/0 X 3/8 BATTERY COPPER LUG 5

BCL1012 1/0 X 1/2 BATTERY COPPER LUG 5

BCL2038 2/0 X 3/8 BATTERY COPPER LUG 5

BCL2012 2/0 X 1/2 BATTERY COPPER LUG 5

BCL3012 3/0 X 1/2 BATTERY COPPER LUG 4

BCL4012 4/0 X 1/2 BATTERY COPPER LUG 3

BT10P 1/0 STG POST TOP BATTERY TERMINAL POS 3

BT20P 2/0 STG POST TOP BATTERY TERMINAL POS 3

BT30P 3/0 STG POST TOP BATTERY TERMINAL POS 2

BT40P 4/0 STG POST TOP BATTERY TERMINAL POS 2

BT10N 1/0 STG POST TOP BATTERY TERMINAL NEG 3

BT20N 2/0 STG POST TOP BATTERY TERMINAL NEG 3

BT30N 3/0 STG POST TOP BATTERY TERMINAL NEG 2

BT40N 4/0 STG POST TOP BATTERY TERMINAL NEG 2

BTSM EMERGENCY SIDE MOUNT BATTERY TERMINAL 3

BTMP MARINE BATTERY TERMINAL POSITIVE 2

BTMN MARINE BATTERY TERMINAL NEGATIVE 2

BTTE TRUCK EMERGENCY BATTERY TERMNAL 3

24DRAWER 24 COMPARTMENT DRAWER 1

12



FR
ON

T

BA
CK 1/

16
 X

 1
 1

/2
CO

TT
ER

 P
IN

PC
11

61
12

3/
32

 X
 2

CO
TT

ER
 P

IN
PC

33
22

1/
8 

X 
2 

1/
2

CO
TT

ER
 P

IN
PC

18
21

2

5/
32

 X
 2

 1
/2

CO
TT

ER
 P

IN
PC

53
22

12

3/
16

 X
 2

 1
/2

CO
TT

ER
 P

IN
PC

31
62

12

1/
16

 X
 1

CO
TT

ER
 P

IN
PC

11
61

3/
32

 X
 1

 1
/2

CO
TT

ER
 P

IN
PC

33
21

12

1/
8 

X 
2

CO
TT

ER
 P

IN
PC

18
2

5/
32

 X
 2

CO
TT

ER
 P

IN
PC

53
22

3/
16

 X
 2

CO
TT

ER
 P

IN
PC

31
62

1/
16

 X
 3

/4
CO

TT
ER

 P
IN

PC
11

63
4

3/
32

 X
 1

CO
TT

ER
 P

IN
PC

33
21

1/
8 

X 
1 

1/
2

CO
TT

ER
 P

IN
PC

18
11

2

5/
32

 X
 1

 1
/2

CO
TT

ER
 P

IN
PC

53
21

12

3/
16

 X
 1

 1
/2

CO
TT

ER
 P

IN
PC

31
61

12

1/
16

 X
 1

/2
CO

TT
ER

 P
IN

PC
11

61
2

3/
32

 X
 3

/4
CO

TT
ER

 P
IN

PC
33

23
4

1/
8 

X 
1

CO
TT

ER
 P

IN
PC

18
1

5/
32

 X
 1

CO
TT

ER
 P

IN
PC

53
21

3/
16

 X
 1

CO
TT

ER
 P

IN
PC

31
61

CO
TT

ER
 P

IN
S

1/
4 

X 
3

CO
TT

ER
 P

IN
PC

14
3

1/
4 

X 
2

CO
TT

ER
 P

IN
PC

14
2

1/
4 

X 
1 

1/
2

CO
TT

ER
 P

IN
PC

14
11

2

1/
4 

X 
1

CO
TT

ER
 P

IN
PC

14
1

A
C

P

13



ACP

PART NO. DESCRIPTION QTY

PC11612 1/16 X 1/2 COTTER PIN, ZINC 200

PC11634 1/16 X 3/4 COTTER PIN, ZINC 200

PC1161 1/16 X 1 COTTER PIN, ZINC 100

PC116112 1/16 X 1 1/2 COTTER PIN, ZINC 100

PC33234 3/32 X 3/4 COTTER PIN, ZINC 200

PC3321 3/32 X 1 COTTER PIN, ZINC 100

PC332112 3/32 X 1 1/2 COTTER PIN, ZINC 100

PC3322 3/32 X 2 COTTER PIN, ZINC 50

PC181 1/8 X 1 COTTER PIN, ZINC 100

PC18112 1/8 X 1 1/2 COTTER PIN, ZINC 100

PC182 1/8 X 2 COTTER PIN, ZINC 50

PC18212 1/8 X 2 1/2 COTTER PIN, ZINC 25

PC5321 5/32 X 1 COTTER PIN, ZINC 100

PC532112 5/32 X 1 1/2 COTTER PIN, ZINC 50

PC5322 5/32 X 2 COTTER PIN, ZINC 50

PC532212 5/32 X 2 1/2 COTTER PIN, ZINC 25

PC3161 3/16 X 1 COTTER PIN, ZINC 50

PC316112 3/16 X 1 1/2 COTTER PIN, ZINC 50

PC3162 3/16  X 2 COTTER PIN, ZINC 25

PC316212 3/16 X 2 1/2 COTTER PIN, ZINC 25

PC141 1/4 X 1 COTTER PIN, ZINC 25

PC14112 1/4 X 1 1/2 COTTER PIN, ZINC 25

PC142 1/4 X 2 COTTER PIN, ZINC 25

PC143 1/4 X 3 COTTER PIN, ZINC 25

24DRAWER 24 COMPARTMENT DRAWER 1

14



FR
ON

T

BA
CK

1/
8 

X 
3/

4
DO

W
EL

 P
IN

PD
18

34

3/
16

 X
 1

/2
DO

W
EL

 P
IN

PD
31

61
2

1/
4 

X 
1 

1/
2

DO
W

EL
 P

IN
PD

14
11

2

5/
16

 X
 2

DO
W

EL
 P

IN
PD

51
62

7/
16

 X
 1

 1
/2

DO
W

EL
 P

IN
PD

71
61

12

1/
8 

X 
1/

2
DO

W
EL

 P
IN

PD
18

12

1/
8 

X 
2

DO
W

EL
 P

IN
PD

18
2

1/
4 

X 
1

DO
W

EL
 P

IN
PD

14
1

5/
16

 X
 1

 1
/2

DO
W

EL
 P

IN
PD

51
61

12

3/
8 

X 
2

DO
W

EL
 P

IN
PD

38
2

3/
32

 X
 1

DO
W

EL
 P

IN
PD

33
21

1/
8 

X 
1 

1/
2

DO
W

EL
 P

IN
PD

18
11

2

3/
16

 X
 2

DO
W

EL
 P

IN
PD

31
62

5/
16

 X
 1

DO
W

EL
 P

IN
PD

51
61

3/
8 

X 
1 

1/
2

DO
W

EL
 P

IN
PD

38
11

2

1/
16

 X
 1

/2
DO

W
EL

 P
IN

PD
11

61
2

1/
8 

X 
1

DO
W

EL
 P

IN
PD

18
1

3/
16

 X
 1

DO
W

EL
 P

IN
PD

31
61

1/
4 

X 
2

DO
W

EL
 P

IN
PD

14
2

3/
8 

X 
1

DO
W

EL
 P

IN
PD

38
1

DO
W

EL
 P

IN

3/
4 

X 
3

DO
W

EL
 P

IN
PD

34
3

5/
8 

X 
3

DO
W

EL
 P

IN
PD

58
3

1/
2 

X 
3

DO
W

EL
 P

IN
PD

12
3

1/
2 

X 
1 

1/
2

DO
W

EL
 P

IN
PD

12
11

2

A
D

P

15



PART NO. DESCRIPTION QTY

PD11612 1/16 X 1/2 DOWEL PIN ALLOY STEEL 5

PD3321 3/32 X 1 DOWEL PIN ALLOY STEEL 5

PD1812 1/8 X 1/2 DOWEL PIN ALLOY STEEL 5

PD1834 1/8 X 3/4 DOWEL PIN ALLOY STEEL 5

PD181 1/8 X 1 DOWEL PIN ALLOY STEEL 5

PD18112 1/8 X 1 1/2 DOWEL PIN ALLOY STEEL 5

PD182 1/8 X 2 DOWEL PIN ALLOY STEEL 5

PD31612 3/16 X 1/2 DOWEL PIN ALLOY STEEL 5

PD3161 3/16 X 1 DOWEL PIN ALLOY STEEL 5

PD3162 3/16 X 2 DOWEL PIN ALLOY STEEL 5

PD141 1/4 X 1 DOWEL PIN ALLOY STEEL 5

PD14112 1/4 X 1 1/2 DOWEL PIN ALLOY STEEL 5

PD142 1/4 X 2 DOWEL PIN ALLOY STEEL 5

PD5161 5/16 X 1 DOWEL PIN ALLOY STEEL 5

PD516112 5/16 X 1 1/2 DOWEL PIN ALLOY STEEL 5

PD5162 5/16 X 2 DOWEL PIN ALLOY STEEL 5

PD381 3/8 X 1 DOWEL PIN ALLOY STEEL 5

PD38112 3/8 X 1 1/2 DOWEL PIN ALLOY STEEL 5

PD382 3/8 X 2 DOWEL PIN ALLOY STEEL 5

PD716112 7/16 X 1 1/2 DOWEL PIN ALLOY STEEL 3

PD12112 1/2 X 1 1/2 DOWEL PIN ALLOY STEEL 3

PD123 1/2 X 3 DOWEL PIN ALLOY STEEL 3

PD583 5/8 X 3 DOWEL PIN ALLOY STEEL 3

PD343 3/4 X 3 DOWEL PIN ALLOY STEEL 3

24DRAWER 24 COMPARTMENT DRAWER 1

ADP

16



FR
ON

T

BA
CK

7/
32

EX
T 

RE
T 

RI
NG

RE
R7

32

7/
16

EX
T 

RE
T 

RI
NG

RE
R7

16

11
/1

6
EX

T 
RE

T 
RI

NG
RE

R1
11

6

15
/1

6
EX

T 
RE

T 
RI

NG
RE

R1
51

6

1 
3/

8
EX

T 
RE

T 
RI

NG
RE

R1
38

3/
16

EX
T 

RE
T 

RI
NG

RE
R3

16

3/
8

EX
T 

RE
T 

RI
NG

RE
R3

8

5/
8

EX
T 

RE
T 

RI
NG

RE
R5

8

7/
8

EX
T 

RE
T 

RI
NG

RE
R7

8

1 
1/

4
EX

T 
RE

T 
RI

NG
RE

R1
14

5/
32

EX
T 

RE
T 

RI
NG

RE
R5

32

5/
16

EX
T 

RE
T 

RI
NG

RE
R5

16

9/
16

EX
T 

RE
T 

RI
NG

RE
R9

16

13
/1

6
EX

T 
RE

T 
RI

NG
RE

R1
31

6

1 
1/

8
EX

T 
RE

T 
RI

NG
RE

R1
18

1/
8

EX
T 

RE
T 

RI
NG

RE
R1

8

1/
4

EX
T 

RE
T 

RI
NG

RE
R1

4

1/
2

EX
T 

RE
T 

RI
NG

RE
R1

2

3/
4

EX
T 

RE
T 

RI
NG

RE
R3

4

1
EX

T 
RE

T 
RI

NG
RE

R1

EX
TE

RN
AL

 R
ET

AI
NI

NG
 R

IN
GS

2
EX

T 
RE

T 
RI

NG
RE

R2

1 
3/

4
EX

T 
RE

T 
RI

NG
RE

R1
34

1 
5/

8
EX

T 
RE

T 
RI

NG
RE

R1
58

1 
1/

2
EX

T 
RE

T 
RI

NG
RE

R1
12

A
ER

R

17



PART NO. DESCRIPTION QTY

RER18 1/8 EXTERNAL RETAINING RING 6

RER532 5/32 EXTERNAL RETAINING RING 6

RER316 3/16 EXTERNAL RETAINING  RING 6

RER732 7/32 EXTERNAL RETAINING  RING 6

RER14 1/4 EXTERNAL RETAINING RING 10

RER516 5/16 EXTERNAL RETAINING RING 10

RER38 3/8 EXTERNAL RETAINING RING 10

RER716 7/16 EXTERNAL RETAINING  RING 10

RER12 1/2 EXTERNAL RETAINING RING 10

RER916 9/16 EXTERNAL RETAINING  RING 10

RER58 5/8 EXTERNAL RETAINING RING 10

RER1116 11/16 EXTERNAL RETAINING RING 10

RER34 3/4 EXTERNAL RETAINING RING 6

RER1316 13/16 EXTERNAL RETAINING RING 6

RER78 7/8 EXTERNAL RETAINING RING 6

RER1516 15/16 EXTERNAL RETAINING RING 6

RER1 1 EXTERNAL RETAINING RING 6

RER118 1 1/8 EXTERNAL RETAINING RING 4

RER114 1 1/4 EXTERNAL RETAINING RIN 4

RER138 1 3/8 EXTERNAL RETAINING RING 4

RER112 1 1/2 EXTERNAL RETAINING RING 3

RER158 1 5/8 EXTERNAL RETAINING RING 2

RER134 1 3/4 EXTERNAL RETAINING RING 2

RER2 2 EXTERNAL RETAINING RING 2

24DRAWER 24 COMPARTMENT DRAWER 1

AERR

18



FR
ON

T

BA
CK

22
-1

8 
  #

6
RI

NG
ET

IR
22

18
6

16
-1

4 
  #

6
RI

NG
ET

IR
16

14
6

12
-1

0 
 #

6
RI

NG
ET

IR
12

10
6

16
-1

4
F 

QU
IC

K 
SL

ID
E

ET
IF

QS
16

14

22
-1

8
BU

TT
ET

IB
22

18

22
-1

8 
  #

8-
10

RI
NG

ET
IR

22
18

10

16
-1

4 
  #

8-
10

RI
NG

ET
IR

16
14

10

12
-1

0 
 #

8-
10

RI
NG

ET
IR

12
10

10

16
-1

4 
X 

0.
25

M
 Q

UI
CK

 S
LI

DE
ET

IM
QS

16
14

16
-1

4
BU

TT
ET

IB
16

14

22
-1

8 
  #

4-
6

SP
AD

E
ET

IS
22

18
6

16
-1

4 
  #

4-
6

SP
AD

E
ET

IS
16

14
6

12
-1

0 
 1

/4
RI

NG
ET

IR
12

10
14

16
-1

4 
X 

0.
25

F 
QU

IC
K 

SL
ID

E
ET

FI
FQ

S1
61

4

12
-1

0
BU

TT
ET

IB
12

10

22
-1

8 
  #

8-
10

SP
AD

E
ET

IS
22

18
10

16
-1

4 
  #

8-
10

SP
AD

E
ET

IS
16

14
10

12
-1

0 
 3

/8
RI

NG
ET

IR
12

10
38

16
-1

4 
X 

0.
25

M
 Q

UI
CK

 S
LI

DE
ET

FI
M

QS
16

14

12
-1

0 
X 

0.
25

F 
QU

IC
K 

SL
ID

E
ET

IF
QS

12
10

NY
LO

N 
IN

SU
LA

TE
D 

EL
EC

TR
IC

AL
 T

ER
M

IN
AL

S

22
-1

8
HE

AT
 S

HR
IN

K 
BU

TT
ET

HS
B2

21
8

16
-1

4
HE

AT
 S

HR
IN

K 
BU

TT
ET

HS
B1

61
4

12
-1

0
HE

AT
 S

HR
IN

K 
BU

TT
ET

HS
B1

21
0

12
-1

0 
X 

0.
25

M
 Q

UI
CK

 S
LI

DE
ET

IM
QS

12
10

A
ET

I 

19



PART NO. DESCRIPTION QTY

ETIR22186 22-18 4-6 INS. RING TERMINAL 25

ETIR16146 16-14 4-6 INS. RING TERMINAL 25

ETIR12106 12-10 4-6 INS. RING TERMINAL 25

ETIFQS1614 16-14 X .250 FEMALE INS. QUICK SLIDE 25

ETIB2218 22-18 NYLON INS. BUTT CONNECTOR 25

ETHSB2218 22-18  HEAT SHRINK BUTT CONNECTOR 10

ETIR221810 22-18 8-10 INS. RING TERMINAL 25

ETIR161410 16-14 8-10 INS. RING TERMINAL 25

ETIR121010 12-10 8-10 INS. RING TERMINAL 25

ETIMQS1614 16-14 X .250 MALE INS. QUICK SLIDE 25

ETIB1614 16-14 NYLON INS. BUTT CONNECTOR 25

ETHSB1614 16-14  HEAT SHRINK BUTT CONNECTOR 10

ETIS22186 22-18 4-6 INS. SPADE TERMINAL 25

ETIS16146 16-14 4-6 INS. SPADE TERMINAL 25

ETIR121014 12-10 1/4 INS. RING TERMINAL 25

ETFIFQS1614 16-14 X .250 FULLY INS. FEMALE QUICK SL 20

ETIB1210 12-10 NYLON INS. BUTT CONNECTOR 25

ETHSB1210 12-10  HEAT SHRINK BUTT CONNECT 10

ETIS221810 22-18 8-10 INS. SPADE TERMINAL 25

ETIS161410 16-14 8-10 INS. SPADE TERMINAL 25

ETIR121038 12-10 3/8 INS. RING TERMINAL 25

ETFIMQS1614 16-14 X .250 FULLY INS. MALE QUICK SLIDE 20

ETIFQS1210 12-10 X .250 FEMALE INS. QUICK SLIDE 20

ETIMQS1210 12-10 X .250 MALE INS. QUICK SLIDE 20

24DRAWER 24 COMPARTMENT DRAWER 1

AETI

20



FR
ON

T

BA
CK

22
-1

8 
#6

RI
NG

 C
ON

N
ET

IR
22

18
6

22
-1

8 
#1

0
RI

NG
 C

ON
N

ET
IR

22
18

10

22
-1

8 
#6

SP
AD

E 
CO

NN
ET

IS
22

18
6

22
-1

8 
#1

0
SP

AD
E 

CO
NN

ET
IS

22
18

10

22
-1

8 
FE

M
AL

E
QU

IC
K 

SL
ID

E 
CO

NN
ET

IF
QS

22
18

16
-1

4 
#6

RI
NG

 C
ON

N
ET

IR
16

14
6

16
-1

4 
#1

0
RI

NG
 C

ON
N

ET
IR

16
14

10

16
-1

4 
#6

SP
AD

E 
CO

NN
ET

IS
16

14
6

16
-1

4 
#1

0
SP

AD
E 

CO
NN

ET
IS

16
14

10

22
-1

8 
M

AL
E

QU
IC

K 
SL

ID
E 

CO
NN

ET
IM

QS
22

18

12
-1

0 
#1

0
RI

NG
 C

ON
N

ET
IR

12
10

10

12
-1

0 
 1

/4
RI

NG
 C

ON
N

ET
IR

12
10

14

12
-1

0 
 3

/8
RI

NG
 C

ON
N

ET
IR

12
10

38

12
-1

0 
#6

SP
AD

E 
CO

NN
ET

IS
12

10
6

12
-1

0 
#1

0
SP

AD
E 

CO
NN

ET
IS

12
10

10

16
-1

4 
FE

M
AL

E
QU

IC
K 

SL
ID

E 
CO

NN
ET

IF
QS

16
14

16
-1

4 
M

AL
E

QU
IC

K 
SL

ID
E 

CO
NN

ET
IM

QS
16

14

12
-1

0 
FE

M
AL

E
QU

IC
K 

SL
ID

E 
CO

NN
ET

IF
QS

12
10

12
-1

0 
M

AL
E

QU
IC

K 
SL

ID
E 

CO
NN

ET
IM

QS
12

10

12
-1

0 
FE

M
AL

E
QU

IC
K 

SL
ID

E 
CO

NN
ET

IF
QS

12
10

IN
SU

LA
TE

D 
NY

LO
N 

EL
EC

TR
IC

AL
 T

ER
M

IN
AL

S
A

E
T

I 
SP

E
C

 

22
-1

8
BU

TT
 C

ON
N

ET
IB

22
18

16
-1

4
BU

TT
 C

ON
N

ET
IB

16
14

12
-1

0
BU

TT
 C

ON
N

ET
IB

12
10

12
-1

0 
M

AL
E

QU
IC

K 
SL

ID
E 

CO
NN

ET
IM

QS
12

10

21



PART NO. DESCRIPTION QTY

ETIR22186 22-18 4-6 INS. RING TERMINAL * 100

ETIR221810 22-18 8-10 INS. RING TERMINAL * 100

ETIS22186 22-18 4-6 INS. SPADE TERMINAL * 100

ETIS22186 22-18 4-6 INS. SPADE TERMINAL * 100

ETIFQS2218 22-18 X .250 FEMALE INS. QUICK SLIDE * 100

ETIB2218 22-18 NYLON INS. BUTT CONNECTOR * 100

ETIR16146 16-14 4-6 INS. RING TERMINAL * 100

ETIR161410 16-14 8-10 INS. RING TERMINAL * 100

ETIS16146 16-14 4-6 INS. SPADE TERMINA 100

ETIS161410 16-14 8-10 INS. SPADE TERMINAL * 100

ETIMQS2218 22-18 X .250 MALE INS. QUICK SLIDE 100

ETIB1614 16-14 NYLON INS. BUTT CONNECTOR * 100

ETIR121010 12-10 8-10 INS. RING TERMINAL * 100

ETIR121014 12-10 1/4 INS. RING TERMINAL * 100

ETIR121038 12-10 3/8 INS. RING TERMINAL * 100

ETIS12106 12-10 4-6 INS. SPADE TERMINAL 100

ETIS121010 12-10 8-10 INS. SPADE TERMINAL * 100

ETIB1210 12-10 NYLON INS. BUTT CONNECTOR * 100

ETIFQS1614 16-14 X .250 FEMALE INS. QUICK SLIDE * 100

ETIMQS1614 16-14 X .250 MALE INS. QUICK SLIDE * 100

ETIFQS1210 12-10 X .250 FEMALE INS. QUICK SLIDE 100

ETIMQS1210 12-10 X .250 MALE INS. QUICK SLIDE * 100

ETIMQS1210 12-10 X .250 MALE INS. QUICK SLIDE * 100

ETFIFQS1210 12-10 X .250 FULLY INS.  FEMALE QUICK S 100

24DRAWER 24 COMPARTMENT DRAWER 1

AETI100

22



FR
ON

T

BA
CK

22
-1

8 
  #

6
RI

NG
ET

IR
22

18
6

16
-1

4 
  #

6
RI

NG
ET

IR
16

14
6

12
-1

0 
 #

8-
10

RI
NG

ET
IR

12
10

10

22
-1

8
F 

QU
IC

K 
SL

ID
E

ET
IF

QS
22

18

22
-1

8
BU

TT
ET

IB
22

18

22
-1

8 
  #

8-
10

RI
NG

ET
IR

22
18

81
0

16
-1

4 
  #

8-
10

RI
NG

ET
IR

16
14

81
0

12
-1

0 
 1

/4
RI

NG
ET

IR
12

10
14

22
-1

8
M

 Q
UI

CK
 S

LI
DE

ET
IM

QS
22

18

16
-1

4
BU

TT
ET

IB
16

14

22
-1

8 
  #

4-
6

SP
AD

E
ET

IS
22

18
6

16
-1

4 
  #

8-
10

SP
AD

E
ET

IS
16

14
10

12
-1

0 
 #

8-
10

SP
AD

E
ET

IS
12

10
10

16
-1

4 
X 

0.
25

F 
QU

IC
K 

SL
ID

E
ET

FI
FQ

S1
61

4

12
-1

0
BU

TT
ET

IB
12

10

16
-1

4
BL

UE
 IN

-L
IN

E 
CO

N
IN

CB

12
-1

0 
X 

0.
25

F 
QU

IC
K 

SL
ID

E
ET

IF
QS

12
10

12
-1

0 
X 

0.
25

M
 Q

UI
CK

 S
LI

DE
ET

IM
QS

12
10

16
-1

4 
X 

0.
25

M
 Q

UI
CK

 S
LI

DE
ET

FI
M

QS
16

14

SM
AL

L
GR

AY
 W

IR
E 

NU
T

W
NS

G

NY
LO

N 
IN

S.
 E

LE
CT

RI
CA

L 
TE

RM
IN

AL
S/

W
IR

EN
UT

S

BL
UE

W
IR

E 
NU

T
W

NB

RE
D

W
IR

E 
NU

T
W

NR

OR
AN

GE
W

IR
E 

NU
T

W
NO

YE
LL

OW
W

IR
E 

NU
T

W
NY

A
EW

W
N

23



AEWWN
PART NO. DESCRIPTION QTY

ETIR22186 22-18 4-6 INS. RING TERMINAL 50

ETIR16146 16-14 4-6 INS. RING TERMINAL 50

ETIR221810 22-18 8-10 INS. RING TERMINAL 50

ETIR161410 16-14 8-10 INS. RING TERMINAL 50

ETIR121010 12-10 8-10 INS. RING TERMINAL 50

ETIR121014 12-10 1/4 INS. RING TERMINAL 50

ETIS22186 22-18 4-6 INS. SPADE TERMINAL 50

ETIS161410 16-14 8-10 INS. SPADE TERMINAL 50

ETIS121010 12-10 8-10 INS. SPADE TERMINAL 50

INCB 801 S/LOK BLUE 18-14 INLINE CONN 25

ETIFQS2218 22-18 X .250 FEMALE INS. QUICK SLIDE * 25

ETIFQS1614 16-14 X .250 FEMALE INS. QUICK SLIDE 25

ETIFQS1210 12-10 X .250 FEMALE INS. QUICK SLIDE 25

ETIMQS2218 22-18 X .250 MALE INS. QUICK SLIDE 25

ETIMQS1614 16-14 X .250 MALE INS. QUICK SLIDE 25

ETIMQS1210 12-10 X .250 MALE INS. QUICK SLIDE 25

ETIB2218 22-18 NYLON INS. BUTT CONNECTOR 100

ETIB1614 16-14 NYLON INS. BUTT CONNECTOR 100

ETIB1210 12-10 NYLON INS. BUTT CONNECTOR 50

WNSG SMALL GRAY WIRE NUT 100

WNB BLUE WIRE NUT 100

WNR RED WIRE NUT 25

WNO ORANGE WIRE NUT 5

WNY YELLOW WIRE NUT 25

24DRAWER 24 COMPARTMENT DRAWER 1

24



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

FE
ND

ER
 W

AS
HE

RS

1/
4 

X 
1 

1/
4

FE
ND

ER
 W

AS
HE

R
W

F1
41

14

3/
16

 X
 1

 1
/4

FE
ND

ER
 W

AS
HE

R
W

F3
16

11
4

3/
16

 X
 1

FE
ND

ER
 W

AS
HE

R
W

F3
16

1

3/
16

 X
 3

/4
FE

ND
ER

 W
AS

HE
R

W
F3

16
34

5/
16

 X
 1

 1
/4

FE
ND

ER
 W

AS
HE

R
W

F5
16

11
4

3/
8 

X 
2

FE
ND

ER
 W

AS
HE

R
W

F3
82

1/
4 

X 
2

FE
ND

ER
 W

AS
HE

R
W

F1
42

3/
8 

X 
1 

1/
2

FE
ND

ER
 W

AS
HE

R
W

F3
81

12

1/
4 

X 
1 

1/
2

FE
ND

ER
 W

AS
HE

R
W

F1
41

12

5/
16

 X
 1

 1
/2

FE
ND

ER
 W

AS
HE

R
W

F5
16

11
2

FE
ND

ER
 W

AS
HE

RS

1/
2 

X 
2

FE
ND

ER
 W

AS
HE

R
W

F1
22

1/
2 

X 
1 

1/
2

FE
ND

ER
 W

AS
HE

R
W

F1
21

12

A
W

F

25



AFW

PART NO. DESCRIPTION QTY

WF31634 3/16 X 3/4 FENDER WASHER ZINC 100

WF3161 3/16 X 1 FENDER WASHER ZINC 100

WF316114 3/16 (#10) X 1 1/4 FENDER WASHER ZINC 100

WF14114 1/4 X 1 1/4 FENDER WASHER ZINC 100

WF14112 1/4 X 1 1/2 FENDER WASHER ZINC 100

WF142 1/4 X 2 FENDER WASHER ZINC 100

WF516114 5/16 X 1 1/4 FENDER WASHER ZINC 100

WF516112 5/16 X 1 1/2 FENDER WASHER ZINC 100

WF38112 3/8 X 1 1/2 FENDER WASHER ZINC 100

WF382 3/8 X 2 FENDER WASHER ZINC 100

WF12112 1/2 X 1 1/2 FENDER WASHER ZINC 100

WF122 1/2 X 2 FENDER WASHER ZINC 50

ADJDRAWER ADJUSTABLE DRAWER 1

26



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

1/
4-

28
 

65
°

GF
14

28
65

1/
8 

NP
T 

X 
1 

3/
4

LO
NG

 S
TR

AI
GH

T 
GF

18
SX

L

1/
8 

NP
T 

90
°

GF
18

90

1/
8 

FP
T

H.
D 

CO
UP

LE
R

GC
HD

1/
8 

ST
RA

IG
HT

LE
AK

PR
OO

F
GF

LP
18

S

1/
4-

28
 

45
°

GF
14

28
45

1/
8 

NP
T 

X 
1 

1/
4

LO
NG

 S
TR

AI
GH

T 
GF

18
SL

1/
8 

NP
T 

65
°

GF
18

65

1/
8 

FP
T

NA
RR

OW
 C

OU
PL

ER
GC

5/
16

DR
IV

E 
TY

PE
GF

D5
16

1/
4-

28
 X

 1
 1

/8
LO

NG
 S

TR
AI

GH
T 

GF
14

28
SL

1/
8 

NP
T

ST
RA

IG
HT

GF
18

S

1/
8 

NP
T 

45
°

GF
18

45

1/
4 

NP
T 

67
°

GF
14

67

1/
4

DR
IV

E 
TY

PE
GF

D1
4

1/
4-

28
ST

RA
IG

HT
GF

14
28

S

1/
4-

28
 

90
°

GF
14

28
90

1/
8 

NP
T 

30
°

GF
18

30

1/
4 

NP
T

ST
RA

IG
HT

GF
14

S

3/
16

DR
IV

E 
TY

PE
GF

D3
16

GR
EA

SE
 F

IT
TI

NG
S

1/
2 

NP
T

BU
TT

ON
 H

D
GF

B1
2

3/
8 

NP
T

BU
TT

ON
 H

D
GF

B3
8

1/
4 

NP
T

BU
TT

ON
 H

D
GF

B1
4

1/
8 

NP
T

BU
TT

ON
 H

D
GF

B1
8

A
G

FL

27



PART NO. DESCRIPTION QTY

GF1428S 1/4-28 STRAIGHT GREASE FITTING 10

GF1428SL 1/4-28 1 1/8" LONG GREASE FITTING 5

GF142845 1/4-28 45º GREASE FITTING 10

GF142865 1/4-28 65º GREASE FITTING 4

GF142890 1/4-28 90º GREASE FITTING 10

GF18S 1/8 MPT STRAIGHT GREASE FITTING * 10

GF18SL 1/8 MPT 1 1/4" LONG GREASE FITTING 5

GF18SXL 1/8 MPT 1 3/4" LONG GREASE FITTING 2

GF1830 1/8 MPT 30º GREASE FITTING 4

GF1845 1/8 MPT 45º GREASE FITTING 6

GF1865 1/8 MPT 65º GREASE FITTIN 10

GF1890 1/8 MPT 90º GREASE FITTING 6

GF14S 1/4 MPT STRAIGHT GREASE FITTING 6

GF1467 1/4 MPT 67º GREASE FITTING 6

GC 1/8 FPT NARROW GREASE COUPLER 2

GCHD 1/8 FPT HD GREASE COUPLER 2

GFD316 3/16 DRIVE TYPE GREASE FITTING 10

GFD14 1/4 DRIVE TYPE GREASE FITTING 10

GFD516 5/16 DRIVE TYPE GREASE FITTING 10

GFLP18S 1/8 STRAIGHT LEAKPROOF GREASE FITTING 4

GFB18 1/8 MPT STD BUTTON HD GREASE FITTING 5

GFB14 1/4 MPT STD BUTTON HD GREASE FITTING 5

GFB38 3/8 MPT STD BUTTON HD GREASE FITTING 3

24DRAWER 24 COMPARTMENT DRAWER 1

AGFL

28



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

1/
4-

28
65

°

GF
14

28
65

1/
8 

X 
1 

3/
4

ST
RA

IG
HT

 L
ON

G
GF

18
SX

L

1/
8 

M
PT

90
°

GF
18

90

1/
4-

28
45

°

GF
14

28
45

1/
8 

X 
1 

1/
4

ST
RA

IG
HT

 L
ON

G
GF

18
SL

1/
8 

M
PT

65
°

GF
18

65

1/
4-

28
 X

 1
 1

/8
ST

RA
IG

HT
 L

ON
G

GF
14

28
SL

1/
8 

M
PT

ST
RA

IG
HT

GF
18

S

1/
8 

M
PT

45
°

GF
18

45

1/
4-

28
ST

RA
IG

HT
GF

14
28

S

1/
4-

28
90

°

GF
14

28
90

1/
8 

M
PT

30
°

GF
18

30

GR
EA

SE
 F

IT
TI

NG
S

1/
8 

FP
T

NA
RR

OW
 G

RE
AS

E 
  

CO
UP

LE
R

GC

1/
4 

M
PT

67
°

GF
14

67

1/
4 

M
PT

ST
RA

IG
HT

GF
14

S

A
G

FS

29



AGFS

PART NO. DESCRIPTION QTY

GF1428S 1/4-28 STRAIGHT GREASE FITTING 15

GF1428SL 1/4-28 1 1/8" LONG GREASE FITTING 5

GF142845 1/4-28 45º GREASE FITTING 15

GF142865 1/4-28 65º GREASE FITTING 5

GF142890 1/4-28 90º GREASE FITTING 10

GF18S 1/8 MPT STRAIGHT GREASE FITTING 15

GF18SL 1/8 MPT 1 1/4" LONG GREASE FITTING 5

GF18SXL 1/8 MPT 1 3/4" LONG GREASE FITTING 5

GF1830 1/8 MPT 30º GREASE FITTING 5

GF1845 1/8 MPT 45º GREASE FITTING 10

GF1865 1/8 MPT 65º GREASE FITTING 10

GF1890 1/8 MPT 90º GREASE FITTING 10

GF14S 1/4 MPT STRAIGHT GREASE FITTING 8

GF1467 1/4 MPT 67º GREASE FITTING 5

GC 1/8 FPT NARROW GREASE COUPLER 1

ADJDRAWER ADJUSTABLE DRAWER 1

30



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

HO
SE

 C
LA

M
P

  M
4 

   
   

   
  M

6 
   

   
   

   
 #

6 
   

   
   

   
#1

0 
   

   
   

  #
12

   
   

   
   

#1
6 

   
   

   
  #

20
   

   
   

   
 #

28
   

   
   

   
#3

2 
   

   
   

 #
36

A
H

C

31



PART NO. DESCRIPTION QTY

CHM4 #4 MINI HOSE CLAMP, 7/32" -  5/8" O.D. 20

CHM6 #6 MINI HOSE CLAMP, 7/16" - 25/32" O.D. 20

CH6 #6 HOSE CLAMP, 7/16" TO 25/32" 10

CH10 #10 HOSE CLAMP 9/16" TO 1 1/16" 10

CH12 #12 HOSE CLAMP 11/16" TO 1 1/4" 10

CH16 #16 HOSE CLAMP, 13/16" TO 1 1/2" 10

CH20 #20 HOSE CLAMP, 13/16" TO 1 3/4" 10

CH28 #28 HOSE CLAMP,  1 5/16" TO 2 1/4" 10

CH32 #32 HOSE CLAMP, 1 9/16" TO 2 1/2" 10

CH36 #36 HOSE CLAMP,  1 13/16" TO 2 3/4" 10

DHCRS SMALL DURHAM HOSE CLAMP RACK #6-#36 1

AHC

32



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

22
-1

8 
#6

RI
NG

 C
ON

N
ET

HS
R2

21
86

22
-1

8 
#1

0
RI

NG
 C

ON
N

ET
HS

R2
21

81
0

22
-1

8 
#6

SP
AD

E 
CO

NN
ET

HS
S2

21
86

22
-1

8 
#1

0
SP

AD
E 

CO
NN

ET
HS

S2
21

81
0

22
-1

8 
FE

M
AL

E
QU

IC
K 

SL
ID

E 
CO

NN
ET

HS
FQ

S2
21

8

16
-1

4 
#6

RI
NG

 C
ON

N
ET

HS
R1

61
46

16
-1

4 
#1

0
RI

NG
 C

ON
N

ET
HS

R1
61

41
0

16
-1

4 
#6

SP
AD

E 
CO

NN
ET

HS
S1

61
46

16
-1

4 
#1

0
SP

AD
E 

CO
NN

ET
HS

S1
61

41
0

22
-1

8 
M

AL
E

QU
IC

K 
SL

ID
E 

CO
NN

ET
HS

M
QS

22
18

12
-1

0 
#1

0
RI

NG
 C

ON
N

ET
HS

R1
21

01
0

12
-1

0 
 1

/4
RI

NG
 C

ON
N

ET
HS

R1
21

01
4

12
-1

0 
 3

/8
RI

NG
 C

ON
N

ET
HS

R1
21

03
8

12
-1

0 
#6

SP
AD

E 
CO

NN
ET

HS
S1

21
06

12
-1

0 
#1

0
SP

AD
E 

CO
NN

ET
HS

S1
21

01
0

16
-1

4 
FE

M
AL

E
QU

IC
K 

SL
ID

E 
CO

NN
ET

HS
FQ

S1
61

4

16
-1

4 
M

AL
E

QU
IC

K 
SL

ID
E 

CO
NN

ET
HS

M
QS

16
14

12
-1

0 
FE

M
AL

E
QU

IC
K 

SL
ID

E 
CO

NN
ET

HS
FQ

S1
21

0

12
-1

0 
M

AL
E

QU
IC

K 
SL

ID
E 

CO
NN

ET
HS

M
QS

12
10

HE
AT

 S
HR

IN
K 

TE
RM

IN
AL

S
A

H
ST

 

22
-1

8
BU

TT
 C

ON
N

ET
HS

B2
21

8

16
-1

4
BU

TT
 C

ON
N

ET
HS

B1
61

4

12
-1

0
BU

TT
 C

ON
N

ET
HS

B1
21

0

33



PART NO. DESCRIPTION QTY

ETHSR22186 22-18 #6 HEAT SHRINK RING CONNECTOR 25

ETHSR221810 22-18 #10 HEAT SHRINK RING CONNECTOR 25

ETHSR16146 16-14 #6 HEAT SHRINK RING CONNECTOR 25

ETHSR161410 16-14 #10 HEAT SHRINK RING CONNECTOR 25

ETHSR121010 12-10 #10 HEAT SHRINK RING CONNECTOR 25

ETHSR121014 12-10 1/4 HEAT SHRINK RING CONNECTOR 25

ETHSR121038 12-10  3/8 HEAT SHRINK RING CONNECTOR 25

ETHSS22186 22-18  #6 HEAT SHRINK SPADE CONNECTOR 25

ETHSS221810 22-18 #10 HEAT SHRINK SPADE CONNECTOR 25

ETHSS16146 16-14  #6 HEAT SHRINK SPADE CONNECTOR 25

ETHSS16146 16-14  #10 HEAT SHRINK SPADE CONNECTOR 25

ETHSS12106 12-10  #6 HEAT SHRINK SPADE CONNECTOR 25

ETHSS121010 12-10  #10 HEAT SHRINK SPADE CONNECTOR 10

ETHSFQS2218 22-18 HEAT SHRINK FEMALE QUICK SLIDE 10

ETHSFQS1614 16-14 HEAT SHRINK FEMALE QUICK SLIDE 10

ETHSFQS1210 12-10 HEAT SHRINK FEMALE QUICK SLIDE 10

ETHSMQS2218 22-18 HEAT SHRINK MALE QUICK SLIDE 10

ETHSMQS1614 16-14 HEAT SHRINK MALE QUICK SLIDE 10

ETHSMQS1210 12-10 HEAT SHRINK MALE QUICK SLIDE 10

ETHSB2218 22-18  HEAT SHRINK BUTT CONNECTOR 25

ETHSB1614 16-14  HEAT SHRINK BUTT CONNECTOR * 25

ETHSB1210 12-10  HEAT SHRINK BUTT CONNECTOR 25

24DRAWER 24 COMPARTMENT DRAWER 1

AHST

34



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

1/
8 

X 
4

SI
NG

LE
 W

AL
L

HS
TB

18
4

BL
AC

K 
HE

AT
 S

HR
IN

K 
TU

BI
NG

1/
4 

X 
6

SI
NG

LE
 W

AL
L

HS
TB

14
6

3/
8 

X 
6

SI
NG

LE
 W

AL
L

HS
TB

38
6

1/
2 

X 
6

SI
NG

LE
 W

AL
L

HS
TB

12
6

3/
4 

X 
6

DU
AL

 W
AL

L
HS

TB
34

6

1 
X 

6
DU

AL
 W

AL
L

HS
TB

16

A
H

ST
B

 

35



PART NO. DESCRIPTION QTY

HSTB184 1/8 X 4" BLACK HEAT SHRINKTUBING STANDARD 20

HSTB146 1/4 X 6" BLACK HEAT SHRINK TUBING STANDARD 12

HSTB386 3/8 X 6" BLACK HEAT SHRINK TUBING STANDARD 12

HSTB126 1/2 X 6" BLACK HEAT SHRINK TUBING STANDARD 10

HSTB346 3/4 X 6" BLACK HEATSHRINK TUBING MEGA WALL 5

HSTB16 1 X 6" BLACK HEAT SHRINK TUBING MEGA WALL 4

DL6VC VERTICAL 6 HOLE DRAWER W/LATCH 1

AHSTB

36



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

S

3/
16

 X
 2

 1
/4

HW
H 

TA
PC

ON
S

AT
H3

16
21

4

3/
16

 X
 3

 3
/4

HW
H 

TA
PC

ON
S

AT
H3

16
33

4

1/
4 

X 
2 

1/
4

HW
H 

TA
PC

ON
S

AT
H1

42
14

1/
4 

X 
3 

3/
4

HW
H 

TA
PC

ON
S

AT
H1

43
34

3/
16

 X
 1

 3
/4

HW
H 

TA
PC

ON
S

AT
H3

16
13

4

3/
16

 X
 3

 1
/4

HW
H 

TA
PC

ON
S

AT
H3

16
31

4

1/
4 

X 
1 

3/
4

HW
H 

TA
PC

ON
S

AT
H1

41
34

1/
4 

X 
3 

1/
4

HW
H 

TA
PC

ON
S

AT
H1

43
14

3/
16

 X
 1

 1
/4

HW
H 

TA
PC

ON
S

AT
H3

16
11

4

3/
16

 X
 2

 3
/4

HW
H 

TA
PC

ON
S

AT
H3

16
23

4

1/
4 

X 
1 

1/
4

HW
H 

TA
PC

ON
S

AT
H1

41
14

1/
4 

X 
2 

3/
4

HW
H 

TA
PC

ON
S

AT
H1

42
34

HE
X 

W
AS

HE
R 

HE
AD

 T
AP

CO
N 

AN
CH

OR
S

A
H

W
T

37



AHWT

PART NO. DESCRIPTION QTY

ATH316114 3/16 X 1 1/4 HWH TAPPER ANCHOR 100

ATH316134 3/16 X 1 3/4 HWH TAPPER ANCHOR 100

ATH316214 3/16 X 2 1/4 HWH TAPPER ANCHOR 50

ATH316234 3/16 X 2 3/4 HWH TAPPER ANCHOR 50

ATH316314 3/16 X 3 1/4 HWH TAPPER ANCHOR 50

ATH316334 3/16 X 3 3/4 HWH TAPPER ANCHOR 25

ATH14114 1/4 X 1 1/4 HWH TAPPER ANCHOR 100

ATH14134 1/4 X 1 3/4 HWH TAPPER ANCHOR 100

ATH14214 1/4 X 2 1/4 HWH TAPPER ANCHOR 50

ATH14234 1/4 X 2 3/4 HWH TAPPER ANCHOR 50

ATH14314 1/4 X 3 1/4 HWH TAPPER ANCHOR 25

ATH14334 1/4 X 3 3/4 HWH TAPPER ANCHOR 25

ADJDRAWER ADJUSTABLE DRAWER 1

38



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

S

   
   

   
 3

/4
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 K
S3

4

   
   

   
 5

/8
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 K
S5

8

   
   

   
 1

/2
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 K
S1

2

   
   

   
 3

/8
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 K
S3

8

   
   

   
 5

/1
6 

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 K
S5

16

   
   

   
 1

/4
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

   
   

 K
S1

4

KE
Y 

ST
OC

K

A
K

SD

39



AKSD

PART NO. DESCRIPTION QTY

KS14 1/4 X 12" SQUARE ZINC KEYSTOCK 6

KS516 5/16 X 12" SQUARE ZINC KEYSTOCK 6

KS38 3/8 X 12" SQUARE ZINC KEYSTOCK 4

KS12 1/2 X 12" SQUARE ZINC KEYSTOCK 4

KS58 5/8 X 12" SQUARE ZINC KEYSTOCK 2

KS34 3/4 X 12" SQUARE ZINC KEYSTOCK 2

DL6HC 6 HOLE HORIZONTAL DRAWER W/LATCH 1

40



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

M
12

 X
 2

5
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

12
25

M
12

 X
 3

0
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

12
30

M
12

 X
 4

0
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

12
40

M
12

 X
 5

0
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

12
50

M
12

 X
 6

0
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

12
60

M
10

 X
 2

0
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

10
20

M
10

 X
 2

5
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

10
25

M
10

 X
 3

0
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

10
30

M
10

 X
 4

0
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

10
40

M
10

 X
 5

0
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

10
50

M
8 

X 
10

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
81

0

M
8 

X 
20

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
82

0

M
8 

X 
30

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
83

0

M
8 

X 
40

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
84

0

M
8 

X 
50

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
85

0

M
6 

X 
10

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
61

0

M
6 

X 
20

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
62

0

M
6 

X 
25

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
62

5

M
6 

X 
30

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
63

0

M
6 

X 
40

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
64

0

M
ET

RI
C 

FL
AT

 H
D 

SO
CK

ET
 C

AP
 S

CR
EW

M
12

 X
 7

0
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

12
70

M
10

 X
 7

0
FL

AT
 H

D 
SO

C 
C/

S
SF

CS
M

10
70

M
8 

X 
60

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
86

0

M
6 

X 
50

FL
AT

 H
D 

SO
C 

C/
S

SF
CS

M
65

0

A
M

FC
S

41



PART NO. DESCRIPTION QTY

SFCSM610 M6 X 10 FLAT HEAD SOCKET CAP SCREW 10

SFCSM620 M6 X 20 FLAT HEAD SOCKET CAP SCREW 10

SFCSM625 M6 X 25 FLAT HEAD SOCKET CAP SCREW 10

SFCSM630 M6 X 30 FLAT HEAD SOCKET CAP SCREW 10

SFCSM640 M6 X 40 FLAT HEAD SOCKET CAP SCREW 10

SFCSM650 M6 X 50 FLAT HEAD SOCKET CAP SCREW 10

SFCSM810 M8 X 10 FLAT HEAD SOCKET CAP SCREW 10

SFCSM820 M8 X 20 FLAT HEAD SOCKET CAP SCREW 10

SFCSM830 M8 X 30 FLAT HEAD SOCKET CAP SCREW 10

SFCSM840 M8 X 40 FLAT HEAD SOCKET CAP SCREW 10

SFCSM850 M8 X 50 FLAT HEAD SOCKET CAP SCREW 10

SFCSM860 M8 X 60 FLAT HEAD SOCKET CAP SCREW 6

SFCSM1020 M10 X 20 FLAT HEAD SOCKET CAP SCREW 5

SFCSM1025 M10 X 25 FLAT HEAD SOCKET CAP SCREW 5

SFCSM1030 M10 X 30 FLAT HEAD SOCKET CAP SCREW 5

SFCSM1040 M10 X 40 FLAT HEAD SOCKET CAP SCREW 5

SFCSM1050 M10 X 50 FLAT HEAD SOCKET CAP SCREW 5

SFCSM1070 M10 X 70 FLAT HEAD SOCKET CAP SCREW 5

SFCSM1225 M12 X 25 FLAT HEAD SOCKET CAP SCREW 5

SFCSM1230 M12 X 30 FLAT HEAD SOCKET CAP SCREW 5

SFCSM1240 M12 X 40 FLAT HEAD SOCKET CAP SCREW 5

SFCSM1250 M12 X 50 FLAT HEAD SOCKET CAP SCREW 5

SFCSM1260 M12 X 60 FLAT HEAD SOCKET CAP SCREW 5

SFCSM1270 M12 X 70 FLAT HEAD SOCKET CAP SCREW 5

24DRAWER 24 COMPARTMENT DRAWER 1

AMFCS

42



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

M
10

-1
.0

0

90
°

GF
M

10
10

90

M
10

-1
.5

0

90
°

GF
M

10
15

90

M
6-

1.
00

90
°

GF
M

61
09

0

M
8-

1.
00

90
°

GF
M

81
09

0

M
8-

1.
25

90
°

GF
M

81
29

0

M
10

-1
.0

0

45
°

GF
M

10
10

45

M
10

-1
.5

0

45
°

GF
M

10
15

45

M
6-

1.
00

45
°

GF
M

61
04

5

M
8-

1.
00

45
°

GF
M

81
04

5

M
8-

1.
25

45
°

GF
M

81
24

5

M
10

-1
.0

0
ST

RA
IG

HT
GF

M
10

10
S

M
10

-1
.5

0
ST

RA
IG

HT
GF

M
10

15
S

M
6-

1.
00

ST
RA

IG
HT

GF
M

61
0S

M
8-

1.
00

ST
RA

IG
HT

GF
M

81
0S

M
8-

1.
25

ST
RA

IG
HT

GF
M

81
2S

M
ET

RI
C 

GR
EA

SE
 F

IT
TI

NG
S

A
M

G
F

43



AMGF

PART NO. DESCRIPTION QTY

GFM1010S M10 X 1.0 STRAIGHT METRIC GREASE FITTING 10

GFM1015S M10 X 1.5 STRAIGHT METRIC GREASE FITTING 10

GFM610S M6 X 1.0 STRAIGHT METRIC GREASE FTG 10

GFM810S M8 X 1.0 STRAIGHT METRIC GREASE FITTING 10

GFM8125S M8 X 1.25 STRAIGHT METRIC GREASE FITTING 10

GFM101045 M10 X 1.0 45º METRIC GREASE FITTING 10

GFM101545 M10 X 1.5 45º METRIC GREASE FITTING 10

GFM61045 M6 X 1.0 45º METRIC GREASE FITTING 10

GFM81045 M8 X 1.0 45º METRIC GREASE FITTING 10

GFM812545 M8 X 1.25 45º METRIC GREASE FITTING 10

GFM101090 M10 X 1.0 90º METRIC GREASE FITTING 10

GFM101590 M10 X 1.5 90º METRIC GREASE FITTING 10

GFM61090 M6 X 1.0 90DEG METRIC GREASE FITTING 10

GFM81090 M8 X 1.0 90º METRIC GREASE FITTING 10

GFM812590 M8 X 1.25 90º METRIC GREASE FITTING 10

24DRAWER 24 COMPARTMENT DRAWER 1

44



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK 6M

M
 X

 1
0M

M
O-

RI
NG

RO
M

61
0

10
M

M
 X

 1
5M

M
O-

RI
NG

RO
M

10
15

16
M

M
 X

 2
1M

M
O-

RI
NG

RO
M

16
21

20
M

M
 X

 2
6M

M
O-

RI
NG

RO
M

20
26

27
M

M
 X

 3
3M

M
O-

RI
NG

RO
M

27
33

5M
M

 X
 9

M
M

O-
RI

NG
RO

M
59

10
M

M
 X

 1
4M

M
O-

RI
NG

RO
M

10
14

14
M

M
 X

 1
9M

M
O-

RI
NG

RO
M

14
19

19
M

M
 X

 2
5M

M
O-

RI
NG

RO
M

19
25

25
M

M
 X

 3
1M

M
O-

RI
NG

RO
M

25
31

4M
M

 X
 8

M
M

O-
RI

NG
RO

M
48

8M
M

 X
 1

2M
M

O-
RI

NG
RO

M
81

2

12
M

M
 X

 1
7M

M
O-

RI
NG

RO
M

12
17

19
M

M
 X

 2
4M

M
O-

RI
NG

RO
M

19
24

24
M

M
 X

 3
0M

M
O-

RI
NG

RO
M

24
30

3M
M

 X
 7

M
M

O-
RI

NG
RO

M
37

7M
M

 X
 1

1M
M

O-
RI

NG
RO

M
71

1

11
M

M
 X

 1
6M

M
O-

RI
NG

RO
M

11
16

17
M

M
 X

 2
2M

M
O-

RI
NG

RO
M

17
22

22
M

M
 X

 2
8M

M
O-

RI
NG

RO
M

22
28

M
ET

RI
C 

O-
RI

NG
S

A
M

O
R

S

33
M

M
 X

 3
9M

M
O-

RI
NG

RO
M

33
39

32
M

M
 X

 3
8M

M
O-

RI
NG

RO
M

32
38

30
M

M
 X

 3
6M

M
O-

RI
NG

RO
M

30
36

28
M

M
 X

 3
4M

M
O-

RI
NG

RO
M

28
34

45



AMORS

PART NO. DESCRIPTION QTY

ROM37 3MM X 7MM BUNA O RING 16

ROM48 4MM X 8MM BUNA O RING 16

ROM59 5MM X 9MM BUNA O RING 16

ROM610 6MM X 10MM BUNA O RING 16

ROM711 7MM X 11MM BUNA O RING 16

ROM812 8MM X 12MM BUNA O RING 16

ROM1014 10MM X 14MM BUNA O RING 16

ROM1015 10MM X 15MM BUNA O RING 13

ROM1116 11MM X 16MM BUNA O RING 13

ROM1217 12MM X 17MM BUNA O RING 13

ROM1419 14MM X 19MM BUNA O RING 13

ROM1621 16MM X 21MM BUNA O RING 13

ROM1722 17MM X 22MM BUNA O RING 13

ROM1924 19MM X 24MM BUNA O RING 13

ROM1925 19MM X 25MM BUNA O RING 11

ROM2026 20MM X 26MM BUNA O RING 12

ROM2228 22MM X 28MM BUNA O RING 12

ROM2430 24MM X 30MM BUNA O RING 12

ROM2531 25MM X 31MM BUNA O RING 12

ROM2733 27MM X 33MM BUNA O RING 12

ROM2834 28MM X 34MM BUNA O RING 12

ROM3036 30MM X 36MM BUNA O RING 12

ROM3238 32MM X 38MM BUNA O RING 12

ROM3339 33MM X 39MM BUNA O RING 12

24DRAWER 24 COMPARTMENT DRAWER 1

46



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

M
3 

X 
25

PH
 P

AN
 H

D 
M

/S
M

SP
M

32
5

M
4 

X 
30

PH
 P

AN
 H

D 
M

/S
M

SP
M

43
0

M
5 

X 
30

PH
 P

AN
 H

D 
M

/S
M

SP
M

53
0

M
6 

X 
35

PH
 P

AN
 H

D 
M

/S
M

SP
M

63
5

M
8 

X 
35

PH
 P

AN
 H

D 
M

/S
M

SP
M

83
5

M
3 

X 
16

PH
 P

AN
 H

D 
M

/S
M

SP
M

31
6

M
4 

X 
20

PH
 P

AN
 H

D 
M

/S
M

SP
M

42
0

M
5 

X 
20

PH
 P

AN
 H

D 
M

/S
M

SP
M

52
0

M
6 

X 
25

PH
 P

AN
 H

D 
M

/S
M

SP
M

62
5

M
8 

X 
30

PH
 P

AN
 H

D 
M

/S
M

SP
M

83
0

M
3 

X 
12

PH
 P

AN
 H

D 
M

/S
M

SP
M

31
2

M
4 

X 
12

PH
 P

AN
 H

D 
M

/S
M

SP
M

41
2

M
5 

X 
12

PH
 P

AN
 H

D 
M

/S
M

SP
M

51
2

M
6 

X 
16

PH
 P

AN
 H

D 
M

/S
M

SP
M

61
6

M
8 

X 
20

PH
 P

AN
 H

D 
M

/S
M

SP
M

82
0

M
3 

X 
6

PH
 P

AN
 H

D 
M

/S
M

SP
M

36

M
4 

X 
8

PH
 P

AN
 H

D 
M

/S
M

SP
M

48

M
5 

X 
8

PH
 P

AN
 H

D 
M

/S
M

SP
M

58

M
6 

X 
10

PH
 P

AN
 H

D 
M

/S
M

SP
M

61
0

M
3

HE
X 

NU
T

NH
M

3

 M
ET

RI
C 

PH
IL

LI
PS

 P
AN

 H
D 

M
AC

HI
NE

 S
CR

EW
 W

/ N
UT

S

M
8

HE
X 

NU
T

NH
M

8

M
6

HE
X 

NU
T

NH
M

6

M
5

HE
X 

NU
T

NH
M

5

M
4

HE
X 

NU
T

NH
M

4

A
M

P
M

S
 

47



AMPMS

PART NO. DESCRIPTION QTY

MSPM36 M3 X 6 PHILLIPS PAN HEAD MACHINE SCREW 100

MSPM312 M3 X 12 PHILLIPS PAN HEAD MACHINE SCREW 100

MSPM316 M3 X 16 PHILLIPS PAN HEAD MACHINE SCREW 100

MSPM325 M3 X 25 PHILLIPS PAN HEAD MACHINE SCREW 100

MSPM48 M4 X 8 PHILLIPS PAN HEAD MACHINE SCREW 100

MSPM412 M4 X 12 PHILLIPS PAN HEAD MACHINE SCREW 100

MSPM420 M4 X 20 PHILLIPS PAN HEAD MACHINE SCREW 50

MSPM430 M4 X 30 PHILLIPS PAN HEAD MACHINE SCREW 50

MSPM58 M5 X 8 PHILLIPS PAN HEAD MACHINE SCREW 50

MSPM512 M5 X 12 PHILLIPS PAN HEAD MACHINE SCREW 50

MSPM520 M5 X 20 PHILLIPS PAN HEAD MACHINE SCREW 50

MSPM530 M5 X 30 PHILLIPS PAN HEAD MACHINE SCREW 25

MSPM610 M6 X 10 PHILLIPS PAN HEAD MACHINE SCREW 50

MSPM616 M6 X 16 PHILLIPS PAN HEAD MACHINE SCREW 50

MSPM625 M6 X 25 PHILLIPS PAN HEAD MACHINE SCREW 50

MSPM635 M6 X 35 PHILLIPS PAN HEAD MACHINE SCREW 25

MSPM820 M8 X 20 PHILLIPS PAN HEAD MACHINE SCREW 50

MSPM830 M8 X 30 PHILLIPS PAN HEAD MACHINE SCREW 25

MSPM835 M8 X 35 PHILLIPS PAN HEAD MACHINE SCREW 25

NHM3 M3 X 0.5 HEX NUT 100

NHM4 M4 X 0.7 HEX NUT 100

NHM5 M5 X 0.8 HEX NUT 100

NHM6 M6 X 1.0 HEX NUT 100

NHM8 M8 X 1.25 HEX NUT 100

24DRAWER 24 COMPARTMENT DRAWER 1

48



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK 1/

4-
20

 X
 1

/2
PH

 P
AN

 H
D 

M
/S

M
SP

P1
42

01
2

1/
4-

20
 X

 1
PH

 P
AN

 H
D 

M
/S

M
SP

P1
42

01

1/
4-

20
 X

 1
 1

/2
PH

 P
AN

 H
D 

M
/S

M
SP

P1
42

01
12

1/
4-

20
 X

 2
PH

 P
AN

 H
D 

M
/S

M
SP

P1
42

02

1/
4-

20
M

/S
 N

UT
S

NH
M

S1
42

0

#1
0-

24
 X

 1
/2

PH
 P

AN
 H

D 
M

/S
M

SP
P1

02
41

2

#1
0-

24
 X

 1
PH

 P
AN

 H
D 

M
/S

M
SP

P1
02

41

#1
0-

24
 X

 1
 1

/2
PH

 P
AN

 H
D 

M
/S

M
SP

P1
02

41
12

#1
0-

24
 X

 2
PH

 P
AN

 H
D 

M
/S

M
SP

P1
02

42

#1
0-

24
M

/S
 N

UT
S

NH
M

S1
02

4

#8
-3

2 
X 

1/
2

PH
 P

AN
 H

D 
M

/S
M

SP
P8

32
12

#8
-3

2 
X 

3/
4

PH
 P

AN
 H

D 
M

/S
M

SP
P8

32
34

#8
-3

2 
X 

1
PH

 P
AN

 H
D 

M
/S

M
SP

P8
32

1

#8
-3

2 
X 

1 
1/

2
PH

 P
AN

 H
D 

M
/S

M
SP

P8
32

11
2

#8
-3

2
M

/S
 N

UT
S

NH
M

S8
32

#6
-3

2 
X 

1/
2

PH
 P

AN
 H

D 
M

/S
M

SP
P6

32
12

#6
-3

2 
X 

3/
4

PH
 P

AN
 H

D 
M

/S
M

SP
P6

32
34

#6
-3

2 
X 

1
PH

 P
AN

 H
D 

M
/S

M
SP

P6
32

1

#6
-3

2 
X 

1 
1/

2
PH

 P
AN

 H
D 

M
/S

M
SP

P6
32

11
2

#6
-3

2
M

/S
 N

UT
S

NH
M

S6
32

PH
IL

LI
PS

 P
AN

 H
D 

M
/S

 W
/ N

UT
S,

 F
/W

 &
 L

/W

1/
4

F/
W

 &
 L

/W
W

FS
AE

14
 / 

W
L1

4Z

#1
0

F/
W

 &
 L

/W
W

FS
AE

10
 / 

W
L1

0Z

#8
F/

W
 &

 L
/W

W
FS

AE
8 

/ W
L8

Z

#6
F/

W
 &

 L
/W

W
FS

AE
6 

/ W
L6

Z

A
M

SP
P

W
N

FL

49



AMSPPWNFL

PART NO. DESCRIPTION QTY

MSPP63212 6/32 X 1/2 PHILLIPS PAN HD M/S 100

MSPP63234 6/32 X 3/4 PHILLIPS PAN HD M/S 100

MSPP6321 6/32 X 1 PHILLIPS PAN HD M/S 100

MSPP632112 6/32 X 1 1/2 PHILLIPS PAN HD M/S 50

MSPP83212 8/32 X 1/2 PHILLIPS PAN HD M/S 100

MSPP83234 8/32 X 3/4 PHILLIPS PAN HD M/S 100

MSPP8321 8/32 X 1 PHILLIPS PAN HD M/S 100

MSPP832112 8/32 X 1 1/2 PHILLIPS PAN HD M/S 50

MSPP102412 10/24 X 1/2 PHILLIPS PAN HD M/S 100

MSPP10241 10/24 X 1 PHILLIPS PAN HD M/S 100

MSPP1024112 10/24 X 1 1/2 PHILLIPS PAN HD M/S 50

MSPP10242 10/24 X 2 PHILLIPS PAN HD M/S 50

MSPP142012 1/4-20 X 1/2 PHILLIPS PAN HD M/S 50

MSPP14201 1/4-20 X 1 PHILLIPS PAN HD M/S 50

MSPP1420112 1/4-20 X 1 1/2 PHILLIPS PAN HD M/S 50

MSPP14202 1/4-20 X 2 PHILLIPS PAN HD M/S 50

NHMS632 6-32 HEX MACH SCREW NUT ZINC 100

NHMS832 8-32 HEX MACH SCREW NUT ZINC 100

NHMS1024 10-24 HEX MACH SCREW NUT ZINC 100

NFH1420Z 1/4-20 FIN HEX NUT ZINC 100

WFSAE6 #6 SAE FLAT WASHER ZINC 100

WFSAE8 #8 SAE FLAT WASHER ZINC 100

WFSAE10 #10 SAE FLAT WASHER ZINC 100

WFUSS14Z 1/4 USS FLAT WASHER ZINC 100

24DRAWER 24 COMPARTMENT DRAWER 1

50



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

4”

BL
AC

K 
HE

AT
 S

HR
IN

K 
TU

BI
NG

A
N

C
T

B
 

BL
AC

K 
NY

LO
N 

CA
BL

E 
TI

ES

5 
1/

2”

7 
1/

2”

11
”

14
”

14
” 

HE
AV

Y
CT

B1
4H

D

CT
B1

4

CT
B1

1

CT
B7

12

CT
B5

12

CT
B4

51



ANCTB

PART NO. DESCRIPTION QTY

CTB4 4" BLACK NYLON CABLE TIES 200

CTB512 5 1/2 BLACK NYLON CABLE TIES 200

CTB712 7 1/2" 50# BLACK NYLON CABLE TIES 200

CTB11 11" BLACK NYLON CABLE TIES 100

CTB14 14" BLACK NYLON CABLE TIES 50

CTB14HD 14" HD BLACK 120# NYLON CABLE TIES 50

DL6HC 6 HOLE HORIZONTAL DRAWER W/LATCH 1

52



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK 1 

1/
4 

X 
1 

1/
2

#2
18

RO
11

41
12

1 
3/

8 
X 

1 
5/

8
#2

20
RO

13
81

58

1 
1/

2 
X 

1 
3/

4
#2

22
RO

11
21

34

1 
1/

2 
X 

1 
7/

8
#3

25
RO

11
21

78

1 
5/

8 
X 

2
#3

26
RO

15
82

11
/1

6 
X 

7/
8

#1
15

RO
11

16
78

3/
4 

X 
15

/1
6

#1
16

RO
34

15
16

3/
4 

X 
1

#2
10

RO
34

1

13
/1

6 
X 

1 
1/

16
#2

11
RO

13
13

11
16

7/
8 

X 
1 

1/
8

#2
12

RO
78

11
8

3/
8 

X 
1/

2
#0

12
RO

38
12

3/
8 

X 
9/

16
#1

10
RO

38
91

6

7/
16

 X
 5

/8
#1

11
RO

71
65

8

1/
2 

X 
11

/1
6

#1
12

RO
12

11
16

9/
16

 X
 3

/4
#1

13
RO

91
63

4

1/
8 

X 
1/

4
#0

06
RO

18
14

5/
32

 X
 9

/3
2

#0
07

RO
53

29
32

3/
16

 X
 5

/1
6

#0
08

RO
31

65
16

7/
32

 X
 1

1/
32

#0
09

RO
73

21
13

2

1/
4 

X 
3/

8
#0

10
RO

14
38

BU
NA

 O
-R

IN
GS

A
O

R

1 
3/

4 
X 

2 
1/

8
#3

27
RO

13
42

18

1 
X 

1 
1/

4
#2

14
RO

11
14

5/
8 

X 
13

/1
6

#1
14

RO
58

13
16

5/
16

 X
 7

/1
6

#0
11

RO
51

67
16

53



AOR

PART NO. DESCRIPTION QTY

RO1814 1/8 X 1/4 BUNA O-RING (006) 50

RO532932 5/32 X 9/32 BUNA O-RING (007) 50

RO316516 3/16 X 5/16 BUNA O-RING (008) 50

RO7321132 7/32 X 11/32 BUNA O-RING (009) 50

RO1438 1/4 X 3/8 BUNA O-RING (010) 50

RO516716 5/16 X 7/16 BUNA O-RING (011) 50

RO3812 3/8 X 1/2 BUNA O-RING (012) 50

RO38916 3/8 X 9/16 BUNA O-RING (110) 50

RO71658 7/16 X 5/8 BUNA O-RING (111) 25

RO121116 1/2 X 11/16 BUNA O-RING (112) 25

RO91634 9/16 X 3/4 BUNA O-RING (113) 25

RO581316 5/8 X 13/16 BUNA O-RING (114) 25

RO111678 11/16 X 7/8 BUNA O-RING (115) 25

RO341516 3/4 X 15/16 BUNA O-RING (116) 25

RO341 3/4 X 1 BUNA O-RING (210) 10

RO13161116 13/16 X 11/16 BUNA O-RING (211) 10

RO78118 7/8 X 1 1/8 BUNA O-RING (212) 10

RO1114 1 X 1 1/4 BUNA O-RING (214) 10

RO114112 1 1/4 X 1 1/2 BUNA O-RING (218) 10

RO138158 1 3/8 X 1 5/8 BUNA O-RING (220) 10

RO112134 1 1/2 X 1 3/4 BUNA O-RING (222) 5

RO112178 1 1/2 X 1 7/8 BUNA O-RING (325) 5

RO1582 1 5/8 X 2 BUNA O-RING (326) 5

RO134218 1 3/4 X 2 1/8 BUNA O-RING (327) 5

24DRAWER 24 COMPARTMENT DRAWER 1

54



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

A
O

R
L

2 
1/

4 
X 

2 
5/

8

#3
31

RO
21

42
58

2 
3/

4 
X 

3 
1/

8

#3
35

RO
23

43
18

2 
X 

2 
3/

8

#3
29

RO
22

38

2 
5/

8 
X 

3

#3
34

RO
25

83

2 
X 

2 
1/

4

#2
26

RO
22

14

2 
1/

2 
X 

2 
7/

8

#3
33

RO
21

22
78

1 
7/

8 
X 

2 
1/

8

#2
25

RO
17

82
18

2 
3/

8 
X 

2 
3/

4

#3
32

RO
23

82
34

3 
1/

4 
X 

3 
5/

8

#3
39

RO
31

43
58

4 
X 

4 
3/

8

#3
45

RO
44

38

3 
X 

3 
3/

8

#3
37

RO
33

38

3 
3/

4 
X 

4 
1/

8

#3
43

RO
33

44
18

2 
7/

8 
X 

3 
1/

4

#3
36

RO
27

83
14

3 
1/

2 
X 

3 
7/

8

#3
41

RO
31

23
78

BU
NA

 O
-R

IN
GS

 (L
AR

GE
)

55



PART NO. DESCRIPTION QTY

RO178218 1 7/8 X 2 1/8 BUNA O-RING (225) 5

RO2214 2 X 2 1/4 BUNA O-RING (226) 5

RO2238 2 X 2 3/8 BUNA O-RING (329) 5

RO214258 2 1/4 X 2 5/8 BUNA O-RING (331) 5

RO238234 2 3/8 X 2 3/4 BUNA O-RING (332) 5

RO212278 2 1/2 X 2 7/8 BUNA O-RING (333) 5

RO2583 2 5/8 X 3 BUNA O-RING (334) 5

RO234318 2 3/4 X 3 1/8 BUNA O-RING (335) 5

RO278314 2 7/8 X 3 1/4 BUNA O-RING (336) 4

RO3338 3 X 3 3/8 BUNA O-RING (337) 4

RO334418 3 3/4 X 4 1/8 BUNA O-RING (343) 3

RO314358 3 1/4 X 3 5/8 BUNA O-RING (339) 4

RO312378 3 1/2 X 3 7/8 BUNA O-RING (341) 3

RO4438 4 X 4 3/8 BUNA O-RING (345) 3

ADJDRAWER ADJUSTABLE DRAWER 1

AORL

56



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

#6
 X

 3
/4

PH
 P

AN
 S

M
S

SM
SP

P6
34

#8
 X

 3
/4

PH
 P

AN
 S

M
S

SM
SP

P8
34

#1
0 

X 
3/

4
PH

 P
AN

 S
M

S
SM

SP
P1

03
4

#1
0 

X 
2

PH
 P

AN
 S

M
S

SM
SP

P1
02

#1
2 

X 
2

PH
 P

AN
 S

M
S

SM
SP

P1
22

#6
 X

 1
/2

PH
 P

AN
 S

M
S

SM
SP

P6
12

#8
 X

 1
/2

PH
 P

AN
 S

M
S

SM
SP

P8
12

#1
0 

X 
1/

2
PH

 P
AN

 S
M

S
SM

SP
P1

01
2

#1
0 

X 
1 

1/
2

PH
 P

AN
 S

M
S

SM
SP

P1
01

12

#1
2 

X 
1 

1/
2

PH
 P

AN
 S

M
S

SM
SP

P1
21

12

#6
 X

 3
/8

PH
 P

AN
 S

M
S

SM
SP

P6
38

#8
 X

 3
/8

PH
 P

AN
 S

M
S

SM
SP

P8
38

#8
 X

 1
 1

/2
PH

 P
AN

 S
M

S
SM

SP
P8

11
2

#1
0 

X 
1 

1/
4

PH
 P

AN
 S

M
S

SM
SP

P1
01

14

#1
2 

X 
1

PH
 P

AN
 S

M
S

SM
SP

P1
21

#6
 X

 1
/4

PH
 P

AN
 S

M
S

SM
SP

P6
14

#6
 X

 1
PH

 P
AN

 S
M

S
SM

SP
P6

1

#8
 X

 1
PH

 P
AN

 S
M

S
SM

SP
P8

1

#1
0 

X 
1

PH
 P

AN
 S

M
S

SM
SP

P1
01

#1
2 

X 
3/

4
PH

 P
AN

 S
M

S
SM

SP
P1

23
4

PH
IL

LI
PS

 P
AN

 H
D 

SH
EE

T 
M

ET
AL

 S
CR

EW
S

A
P

P
S
M

S
 

#1
4 

X 
1

PH
 P

AN
 S

M
S

SM
SP

P1
41

#1
4 

X 
1 

1/
4

PH
 P

AN
 S

M
S

SM
SP

P1
41

14

#1
4 

X 
1 

1/
2

PH
 P

AN
 S

M
S

SM
SP

P1
41

12

#1
4 

X 
2

PH
 P

AN
 S

M
S

SM
SP

P1
42

57



PART NO. DESCRIPTION QTY

SMSP614 6 X 1/4 PAN HD SMS PHILLIPS 100

SMSP638 6 X 3/8 PAN HD SMS PHILLIPS 100

SMSP612 6 X 1/2 PAN HD SMS PHILLIPS 100

SMSP634 6 X 3/4 PAN HD SMS PHILLIPS 100

SMSP61 6 X 1 PAN HD SMS PHILLIPS 100

SMSP838 8 X 3/8 PAN HD SMS PHILLIPS 100

SMSP812 8 X 1/2 PAN HD SMS PHILLIPS 100

SMSP834 8 X 3/4 PAN HD SMS PHILLIPS 100

SMSP81 8 X 1 PAN HD SMS PHILLIPS 100

SMSP8112 8 X 1 1/2 PAN HD SMS PHILLIPS 100

SMSP1012 10 X 1/2 PAN HD SMS PHILLIPS ZINC 100

SMSP1034 10 X 3/4 PAN HD SMS PHILLIPS 100

SMSP101 10 X 1 PAN HD SMS PHILLIPS 50

SMSP10114 10 X 1 1/4 PAN HD SMS PHILLIPS 50

SMSP10112 10 X 1 1/2 PAN HD SMS PHILLIPS 50

SMSP102 10 X 2 PAN HD SMS PHILLIPS 50

SMSP1234 12 X 3/4 PAN HD SMS PHILLIPS 50

SMSP121 12 X 1 PAN HD SMS PHILLIPS 50

SMSP12112 12 X 1 1/2 PAN HD SMS PHILLIPS 50

SMSP122 12 X 2 PAN HD SMS PHILLIPS 50

SMSP141 14 X 1 PAN HD SMS PHILLIPS 50

SMSP14114 14 X 1 1/4 PAN HD SMS PHILLIPS ZINC 50

SMSP14112 14 X 1 1/2 PAN HD SMS PHILLIPS 50

SMSP142 14 X 2 PAN HD SMS PHILLIPS 50

24DRAWER 24 COMPARTMENT DRAWER 1

APPSMS

58



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

AL
UM

 / 
ST

EE
L 

PO
P 

RI
VE

T

1/
8 

X 
3/

8
S/

S 
PO

P 
RI

VE
T

RP
AS

18
38

A
P

R
A

S

1/
8 

X 
1/

4
S/

S 
PO

P 
RI

VE
T

RP
AS

18
14

1/
8 

X 
1/

8
S/

S 
PO

P 
RI

VE
T

RP
AS

18
18

1/
8 

X 
1/

2
S/

S 
PO

P 
RI

VE
T

RP
AS

18
12

5/
32

 X
 1

/4
S/

S 
PO

P 
RI

VE
T

RP
AS

53
21

4

5/
32

 X
 1

/2
S/

S 
PO

P 
RI

VE
T

RP
AS

53
21

2

3/
16

 X
 1

/8
S/

S 
PO

P 
RI

VE
T

RP
AS

31
61

8

3/
16

 X
 1

/4
S/

S 
PO

P 
RI

VE
T

RP
AS

31
61

4

3/
16

 X
 3

/8
S/

S 
PO

P 
RI

VE
T

RP
AS

31
63

8
3/

16
 X

 3
/4

S/
S 

PO
P 

RI
VE

T
RP

AS
31

63
4

3/
16

 X
 1

/2
S/

S 
PO

P 
RI

VE
T

RP
AS

31
61

2

59



PART NO. DESCRIPTION QTY

RPAS1818 1/8 X 1/8 ALUM/STEEL POP RIVET 100

RPAS1814 1/8 X 1/4 ALUM/STEEL POP RIVET 100

RPAS1838 1/8 X 3/8 ALUM/STEEL POP RIVET 100

RPAS1812 1/8 X 1/2 ALUM/STEEL POP RIVET 100

RPAS53214 5/32 X 1/4 ALUM/STEEL POP RIVET 100

RPAS53212 5/32 X 1/2 ALUM/STEEL POP RIVET 100

RPAS31618 3/16 X 1/8 ALUM/STEEL POP RIVET 100

RPAS31614 3/16 X 1/4 ALUM/STEEL POP RIVET 100

RPAS31638 3/16 X 3/8 ALUM/STEEL POP RIVET 100

RPAS31612 3/16 X 1/2 ALUM/STEEL POP RIVET 100

RPAS31634 3/16 X 3/4 ALUM/STEEL POP RIVET 100

ADJDRAWER ADJUSTABLE DRAWER 1

APRAS

60



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

#6
-3

2 
X 

1
PH

 R
ND

 H
D

M
SR

P6
32

1

#8
-3

2 
X 

1
PH

 R
ND

 H
D

M
SR

P8
32

1

#1
0-

24
 X

 1
 1

/2
PH

 R
ND

 H
D

M
SR

P1
02

41
12

1/
4-

20
 X

 1
/2

PH
 R

ND
 H

D
M

SR
P1

42
01

2

1/
4-

20
 X

 1
 1

/2
PH

 R
ND

 H
D

M
SR

P1
42

01
12

#6
-3

2 
X 

3/
4

PH
 R

ND
 H

D
M

SR
P6

32
34

#8
-3

2 
X 

3/
4

PH
 R

ND
 H

D
M

SR
P8

32
34

#1
0-

24
 X

 1
PH

 R
ND

 H
D

M
SR

P1
02

41

#1
2-

24
 X

 1
 1

/2
PH

 R
ND

 H
D

M
SR

P1
22

41
12

1/
4-

20
 X

 1
PH

 R
ND

 H
D

M
SR

P1
42

01

#6
-3

2 
X 

1/
2

PH
 R

ND
 H

D
M

SR
P6

32
12

#8
-3

2 
X 

1/
2

PH
 R

ND
 H

D
M

SR
P8

32
12

#1
0-

24
 X

 3
/4

PH
 R

ND
 H

D
M

SR
P1

02
43

4

#1
2-

24
 X

 1
PH

 R
ND

 H
D

M
SR

P1
22

41

1/
4-

20
 X

 3
/4

PH
 R

ND
 H

D
M

SR
P1

42
03

4

#6
-3

2 
X 

3/
8

PH
 R

ND
 H

D
M

SR
P6

32
38

#8
-3

2 
X 

3/
8

PH
 R

ND
 H

D
M

SR
P8

32
38

#1
0-

24
 X

 1
/2

PH
 R

ND
 H

D
M

SR
P1

02
41

2

#1
2-

24
 X

 3
/4

PH
 R

ND
 H

D
M

SR
P1

22
43

4

#6
-3

2
HE

X 
NU

T
NH

M
S6

32

PH
IL

LI
PS

 R
OU

ND
 H

D 
M

AC
HI

NE
 S

CR
EW

 W
/ N

UT
S

#8
-3

2
HE

X 
NU

T
NH

M
S8

32

#1
0-

24
HE

X 
NU

T
NH

M
S1

02
4

#1
2-

24
HE

X 
NU

T
NH

M
S1

22
4

1/
4-

20
HE

X 
NU

T
NH

M
S1

42
0

A
P

R
M

S

61



APRMS
PART NO. DESCRIPTION QTY

MSRP63238 6/32 X 3/8 PHILLIPS ROUND HD M/S 100

MSRP63212 6/32 X 1/2 PHILLIPS ROUND HD M/S 100

MSRP63234 6/32 X 3/4 PHILLIPS ROUND HD M/S * 100

MSRP6321 6/32 X 1 PHILLIPS ROUND HD M/S 50

MSRP83238 8/32 X 3/8 PHILLIPS ROUND HD M/S 100

MSRP83212 8/32 X 1/2 PHILLIPS ROUND HD M/S 100

MSRP83234 8/32 X 3/4 PHILLIPS ROUND HD M/S 50

MSRP8321 8/32 X 1 PHILLIPS ROUND HD M/S 50

MSRP102412 10/24 X 1/2 PHILLIPS ROUND HD M/S 100

MSRP102434 10/24 X 3/4 PHILLIPS ROUND HD M/S 100

MSRP10241 10/24 X 1 PHILLIPS ROUND HD M/S 100

MSRP1024112 10/24 X 1 1/2 PHILLIPS ROUND HD M/S 50

MSRP122434 12/24 X 3/4 PHILLIPS ROUND HD M/S 50

MSRP12241 12/24 X 1 PHILLIPS ROUND HD M/S 50

MSRP1224112 12/24 X 1 1/2 PHILLIPS ROUND HD M/S * 50

MSRP142012 1/4-20 X 1/2 PHILLIPS ROUND HD M/S 50

MSRP142034 1/4-20 X 3/4 PHILLIPS ROUND HD M/S 50

MSRP14201 1/4-20 X 1 PHILLIPS ROUND HD M/S 50

MSRP1420112 1/4-20 X 1 1/2 PHILLIPS ROUND HD M/S 50

NHMS632 6-32 HEX MACH SCREW NUT ZINC 100

NHMS832 8-32 HEX MACH SCREW NUT ZINC 100

NHMS1024 10-24 HEX MACH SCREW NUT ZINC 100

NHMS1224 12-24 HEX MACH SCREW NUT ZINC 100

NFH1420Z 1/4-20 FIN HEX NUT ZINC 100

24DRAWER 24 COMPARTMENT DRAWER 1

62



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

#6
-3

2 
X 

1
RO

UN
D 

SL
 M

/S
M

SR
63

21

#8
-3

2 
X 

1
RO

UN
D 

SL
 M

/S
M

SR
83

21

#1
0-

24
 X

 1
 1

/2
RO

UN
D 

SL
 M

/S
M

SR
10

24
11

2

#1
0-

32
 X

 1
 1

/2
RO

UN
D 

SL
 M

/S
M

SR
10

32
11

2

1/
4-

20
 X

 3
/4

RO
UN

D 
SL

 M
/S

M
SR

14
20

34

#6
-3

2 
X 

3/
4

RO
UN

D 
SL

 M
/S

M
SR

63
23

4

#8
-3

2 
X 

3/
4

RO
UN

D 
SL

 M
/S

M
SR

83
23

4

#1
0-

24
 X

 1
RO

UN
D 

SL
 M

/S
M

SR
10

24
1

#1
0-

32
 X

 1
RO

UN
D 

SL
 M

/S
M

SR
10

32
1

#1
2-

24
 X

 1
 1

/2
RO

UN
D 

SL
 M

/S
M

SR
12

24
11

2

#6
-3

2 
X 

1/
2

RO
UN

D 
SL

 M
/S

M
SR

63
21

2

#8
-3

2 
X 

1/
2

RO
UN

D 
SL

 M
/S

M
SR

83
21

2

#1
0-

24
 X

 3
/4

RO
UN

D 
SL

 M
/S

M
SR

10
24

34

#1
0-

32
 X

 3
/4

RO
UN

D 
SL

 M
/S

M
SR

10
32

34

#1
2-

24
 X

 1
RO

UN
D 

SL
 M

/S
M

SR
12

24
1

#6
-3

2 
X 

3/
8

RO
UN

D 
SL

 M
/S

M
SR

63
23

8

#8
-3

2 
X 

3/
8

RO
UN

D 
SL

 M
/S

M
SR

83
23

8

#1
0-

24
 X

 1
/2

RO
UN

D 
SL

 M
/S

M
SR

10
24

12

#1
0-

32
 X

 1
/2

RO
UN

D 
SL

 M
/S

M
SR

10
32

12

#1
2-

24
 X

 3
/4

RO
UN

D 
SL

 M
/S

M
SR

12
24

34

SL
OT

TE
D 

RO
UN

D 
HE

AD
 M

AC
HI

NE
 S

CR
EW

S

A
R

M
S

1/
4-

20
 X

 1
RO

UN
D 

SL
 M

/S
M

SR
14

20
1

1/
4-

20
 X

 1
 1

/4
RO

UN
D 

SL
 M

/S
M

SR
14

20
11

4

1/
4-

20
 X

 1
 1

/2
RO

UN
D 

SL
 M

/S
M

SR
14

20
11

2

1/
4-

20
 X

 2
RO

UN
D 

SL
 M

/S
M

SR
14

20
2

63



ARMS
PART NO. DESCRIPTION QTY

MSR63238 6/32 X 3/8 SLOT ROUND HD MACHINE SCREW 100

MSR63212 6/32 X 1/2 SLOT ROUND HD MACHINE SCREW 100

MSR63234 6/32 X 3/4 SLOT ROUND HD MACHINE SCREW 100

MSR6321 6/32 X 1 SLOT ROUND HD MACHINE SCREW 100

MSR83238 8/32 X 3/8 SLOT ROUND HD MACHINE SCREW 100

MSR83212 8/32 X 1/2 SLOT ROUND HD M/S ZINC 100

MSR83234 8/32 X 3/4 SLOT ROUND HD MACHINE SCREW 100

MSR8321 8/32 X 1 SLOT ROUND HD MACHINE SCREW 100

MSR102412 10/24 X 1/2 SLOT ROUND HD MACHINE SCREW 100

MSR102434 10/24 X 3/4 SLOT ROUND HD MACHINE SCREW 100

MSR10241 10/24 X 1 SLOT ROUND HD MACHINE SCREW 100

MSR1024112 10/24 X 1 1/2 SLOT ROUND HD MACHINE SCREW 100

MSR103212 10/32 X 1/2 SLOT ROUND HD MACHINE SCREW 100

MSR103234 10/32 X 3/4 SLOT ROUND HD MACHINE SCREW 100

MSR10321 10/32 X 1 SLOT ROUND HD MACHINE SCREW 100

MSR1032112 10/32 X 1 1/2 SLOT ROUND HD MACHINE SCREW 100

MSR122434 12/24 X 3/4 SLOT ROUND HD MACHINE SCREW 50

MSR12241 12/24 X 1 SLOT ROUND HD MACHINE SCREW 50

MSR1224112 12/24 X 1 1/2 SLOT ROUND HD MACHINE SCREW 50

MSR142034 1/4-20 X 3/4 SLOT ROUND HD MACHINE SCREW 50

MSR14201 1/4-20 X 1 SLOT ROUND HD MACHINE SCREW 50

MSR1420114 1/4-20 X 1 1/4 SLOT ROUND HD MACHINE SCREW 50

MSR1420112 1/4-20 X 1 1/2 SLOT ROUND HD MACHINE SCREW 50

MSR14202 1/4-20 X 2 SLOT ROUND HD MACHINE SCREW 50

24DRAWER 24 COMPARTMENT DRAWER 1

64



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK 5/

16
 X

 1
 1

/2
RO

LL
 P

IN
PR

51
61

12

5/
16

 X
 2

RO
LL

 P
IN

PR
51

62

3/
8 

X 
1 

1/
2

RO
LL

 P
IN

PR
38

11
2

3/
8 

X 
2

RO
LL

 P
IN

PR
38

2

1/
2 

X 
1 

1/
2

RO
LL

 P
IN

PR
12

11
2

1/
4 

X 
3/

4
RO

LL
 P

IN
PR

14
34

1/
4 

X 
1

RO
LL

 P
IN

PR
14

1

1/
4 

X 
1 

1/
4

RO
LL

 P
IN

PR
14

11
4

1/
4 

X 
1 

1/
2

RO
LL

 P
IN

PR
14

11
2

1/
4 

X 
2

RO
LL

 P
IN

PR
14

2

3/
16

 X
 1

/2
RO

LL
 P

IN
PR

31
61

2

3/
16

 X
 3

/4
RO

LL
 P

IN
PR

31
63

4

3/
16

 X
 1

RO
LL

 P
IN

PR
31

61

3/
16

 X
 1

 1
/4

RO
LL

 P
IN

PR
31

61
14

3/
16

 X
 1

 1
/2

RO
LL

 P
IN

PR
31

61
12

1/
8 

X 
3/

8
RO

LL
 P

IN
PR

18
38

1/
8 

X 
1/

2
RO

LL
 P

IN
PR

18
12

1/
8 

X 
3/

4
RO

LL
 P

IN
PR

18
34

1/
8 

X 
1

RO
LL

 P
IN

PR
18

1

1/
8 

X 
1 

1/
4

RO
LL

 P
IN

PR
18

11
4

RO
LL

 P
IN

S

1/
2 

X 
2

RO
LL

 P
IN

PR
12

2

1/
4 

X 
2 

1/
2

RO
LL

 P
IN

PR
14

21
2

3/
16

 X
 2

RO
LL

 P
IN

PR
31

62

1/
8 

X 
1 

1/
2

RO
LL

 P
IN

PR
18

11
2

A
R

P

65



PART NO. DESCRIPTION QTY

PR1838 1/8 X 3/8 ROLL PIN 50

PR1812 1/8 X 1/2 ROLL PIN 50

PR1834 1/8 X 3/4 ROLL PIN 50

PR181 1/8 X 1 ROLL PIN 50

PR18114 1/8 X 1 1/4 ROLL PIN 25

PR18112 1/8 X 1 1/2 ROLL PIN 25

PR31612 3/16 X 1/2 ROLL PIN 50

PR31634 3/16 X 3/4 ROLL PIN 50

PR3161 3/16 X 1 ROLL PIN 50

PR316114 3/16 X 1 1/4 ROLL PIN 25

PR316112 3/16 X 1 1/2 ROLL PIN 25

PR3162 3/16 X 2 ROLL PIN 25

PR1434 1/4 X 3/4 ROLL PIN 25

PR141 1/4 X 1 ROLL PIN 25

PR14114 1/4 X 1 1/4 ROLL PIN 10

PR14112 1/4 X 1 1/2 ROLL PIN 10

PR142 1/4 X 2 ROLL PIN 10

PR14212 1/4 X 2 1/2 ROLL PIN 10

PR516112 5/16 X 1 1/2 ROLL PIN 10

PR5162 5/16 X 2 ROLL PIN 10

PR38112 3/8 X 1 1/2 ROLL PIN 5

PR382 3/8 X 2 ROLL PIN 5

PR12112 1/2 X 1 1/2 ROLL PIN 5

PR122 1/2 X 2 ROLL PIN 5

24DRAWER 24 COMPARTMENT DRAWER 1

ARP

66



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

ST
AI

NL
ES

S 
ST

EE
L 

PO
P 

RI
VE

T

1/
8 

X 
1/

8
S/

S 
PO

P 
RI

VE
T

RP
SS

SS
18

18

A
R

P
SS

S

1/
8 

X 
1/

4
S/

S 
PO

P 
RI

VE
T

RP
SS

SS
18

14

1/
8 

X 
3/

8
S/

S 
PO

P 
RI

VE
T

RP
SS

SS
18

38

1/
8 

X 
1/

2
S/

S 
PO

P 
RI

VE
T

RP
SS

SS
18

12

5/
32

 X
 1

/4
S/

S 
PO

P 
RI

VE
T

RP
SS

SS
53

21
4

5/
32

 X
 1

/2
S/

S 
PO

P 
RI

VE
T

RP
SS

SS
53

21
2

3/
16

 X
 1

/8
S/

S 
PO

P 
RI

VE
T

RP
SS

SS
31

61
8

3/
16

 X
 1

/4
S/

S 
PO

P 
RI

VE
T

RP
SS

SS
31

61
4

3/
16

 X
 3

/8
S/

S 
PO

P 
RI

VE
T

RP
SS

SS
31

63
8

3/
16

 X
 3

/4
S/

S 
PO

P 
RI

VE
T

RP
SS

SS
31

63
4

3/
16

 X
 1

/2
S/

S 
PO

P 
RI

VE
T

RP
SS

SS
31

61
2

67



ARPSSSS

PART NO. DESCRIPTION QTY

RPSSSS1818 1/8 X 1/8 STAINLESS POP RIVET 100

RPSSSS1814 1/8 X 1/4 STAINLESS POP RIVET 100

RPSSSS1838 1/8 X 3/8 STAINLESS POP  RIVET 100

RPSSSS1812 1/8 X 1/2 STAINLESS POP  RIVET 100

RPSSSS53214 5/32 X 1/4 STAINLESS POP RIVET 100

RPSSSS53212 5/32 X 1/2 STAINLESS POP RIVET 100

RPSSSS31618 3/16 X 1/8 STAINLESS POP RIVET 100

RPSSSS31614 3/16 X 1/4 STAINLESS POP RIVET 100

RPSSSS31638 3/16 X 3/8 STAINLESS POP RIVET 100

RPSSSS31612 3/16 X 1/2 STAINLESS POP RIVET 100

RPSSSS31634 3/16 X 3/4 STAINLESS POP RIVET 100

ADJDRAWER ADJUSTABLE DRAWER 1

68



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

#8
 X

 1
/2

HW
H 

SD
S

SD
SH

W
81

2

#8
 X

 1
 1

/2
HW

H 
SD

S
SD

SH
W

81
12

#1
0 

X 
1 

1/
4

HW
H 

SD
S

SD
SH

W
10

11
4

#1
2 

X 
1 

1/
4

HW
H 

SD
S

SD
SH

W
12

11
4

#1
4 

X 
1

HW
H 

SD
S

SD
SH

W
14

1

#6
 X

 3
/4

HW
H 

SD
S

SD
SH

W
63

4

#8
 X

 1
 1

/4
HW

H 
SD

S
SD

SH
W

81
14

#1
0 

X 
1

HW
H 

SD
S

SD
SH

W
10

1

#1
2 

X 
1

HW
H 

SD
S

SD
SH

W
12

1

#1
4 

X 
3/

4
HW

H 
SD

S
SD

SH
W

14
34

#6
 X

 1
/2

HW
H 

SD
S

SD
SH

W
61

2

#8
 X

 1
HW

H 
SD

S
SD

SH
W

81

#1
0 

X 
3/

4
HW

H 
SD

S
SD

SH
W

10
34

#1
2 

X 
3/

4
HW

H 
SD

S
SD

SH
W

12
34

#1
2 

X 
2

HW
H 

SD
S

SD
SH

W
12

2

#6
 X

 3
/8

HW
H 

SD
S

SD
SH

W
63

8

#8
 X

 3
/4

HW
H 

SD
S

SD
SH

W
83

4

#1
0 

X 
1/

2
HW

H 
SD

S
SD

SH
W

10
12

#1
0 

X 
1 

1/
2

HW
H 

SD
S

SD
SH

W
10

11
2

#1
2 

X 
1 

1/
2

HW
H 

SD
S

SD
SH

W
12

11
2

HE
X 

W
AS

HE
R 

HD
 S

EL
F 

DR
IL

LI
NG

 S
CR

EW
A

SD
S

#1
4 

X 
2 

1/
2

HW
H 

SD
S

SD
SH

W
14

21
2

#1
4 

X 
2

HW
H 

SD
S

SD
SH

W
14

2

#1
4 

X 
1 

1/
2

HW
H 

SD
S

SD
SH

W
14

11
2

#1
4 

X 
1 

1/
4

HW
H 

SD
S

SD
SH

W
14

11
4

69



ASDS
PART NO. DESCRIPTION QTY

SDSHW638 6 X 3/8 HWH SELF DRILL SCREW #2 PT 100

SDSHW612 6 X 1/2 HWH SELF DRILL SCREW #2 PT 100

SDSHW634 6 X 3/4 HWH SELF DRILL SCREW #2 PT 100

SDSHW812 8 X 1/2 HWH SELF DRILL SCREW #2 PT 50

SDSHW834 8 X 3/4 HWH SELF DRILL SCREW #2 PT 100

SDSHW81 8 X 1 HWH SELF DRILL SCREW #2 PT 100

SDSHW8114 8 X 1 1/4 HWH SELF DRILL SCREW #2 PT 50

SDSHW8112 8 X 1 1/2 HWH SELF DRILL SCREW #2 PT 50

SDSHW1012 10 X 1/2 HWH SELF DRILL SCREW #3 PT 100

SDSHW1034 10 X 3/4 HWH SELF DRILL SCREW #3 PT 100

SDSHW101 10 X 1 HWH SELF DRILL SCREW #3 PT 100

SDSHW10114 10 X 1 1/4 HWH SELF DRILL SCREW #3 PT 50

SDSHW10112 10 X 1 1/2 HWH SELF DRILL SCREW #3 PT 50

SDSHW1234 12 X 3/4 HWH SELF DRILL SCREW #3 PT 100

SDSHW121 12 X 1 HWH SELF DRILL SCREW #3 PT 100

SDSHW12114 12 X 1 1/4 HWH SELF DRILL SCREW #3 PT 50

SDSHW12112 12 X 1 1/2 HWH SELF DRILL SCREW #3 PT 50

SDSHW122 12 X 2 HWH SELF DRILL SCREW #3 PT 50

SDSHW1434 14 X 3/4 HWH SELF DRILL SCREW #3 PT 100

SDSHW141 14 X 1 HWH SELF DRILL SCREW #3 PT 100

SDSHW14114 14 X 1 1/4 HWH SELF DRILL SCREW #3 PT 50

SDSHW14112 14 X 1 1/2 HWH SELF DRILL SCREW #3 PT 50

SDSHW142 14 X 2 HWH SELF DRILL SCREW #3 PT 50

SDSHW14212 14 X 2 1/2 HWH SELF DRILL SCREW #3 PT 50

24DRAWER 24 COMPARTMENT DRAWER 1

70



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK 1/

4-
20

 X
 1

/4
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
01

4

1/
4-

20
 X

 1
/2

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

42
01

2

1/
4-

20
 X

 3
/4

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

42
03

4

1/
4-

20
 X

 1
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
01

1/
4-

20
 X

 1
 1

/4
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
01

14

#1
0-

24
 X

 1
 1

/4
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

02
41

14

#1
0-

32
 X

 1
/4

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

03
21

4

#1
0-

32
 X

 1
/2

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

03
21

2

#1
0-

32
 X

 3
/4

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

03
23

4

#1
0-

32
 X

 1
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

03
21

#8
-3

2 
X 

3/
4

CU
P 

PT
 S

ET
 S

CR
EW

SS
C8

32
34

#8
-3

2 
X 

1
CU

P 
PT

 S
ET

 S
CR

EW

SS
C8

32
1

#1
0-

24
 X

 1
/4

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

02
41

4

#1
0-

24
 X

 1
/2

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

02
41

2

#1
0-

24
 X

 3
/4

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

02
43

4

#6
-3

2 
X 

1/
4

CU
P 

PT
 S

ET
 S

CR
EW

SS
C8

32
14

#6
-3

2 
X 

1/
2

CU
P 

PT
 S

ET
 S

CR
EW

SS
C8

32
12

#6
-3

2 
X 

3/
4

CU
P 

PT
 S

ET
 S

CR
EW

SS
C8

32
34

#6
-3

2 
X 

1
CU

P 
PT

 S
ET

 S
CR

EW

SS
C8

32
1

#8
-3

2 
X 

1/
4

CU
P 

PT
 S

ET
 S

CR
EW

SS
C8

32
14

CU
P 

PT
 S

OC
KE

T 
SE

T 
SC

RE
W

S

1/
4-

20
 X

 1
 1

/2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
01

12

1/
4-

20
 X

 3
/8

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

42
03

8

#1
0-

24
 X

 1
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

02
41

#8
-3

2 
X 

1/
2

CU
P 

PT
 S

ET
 S

CR
EW

SS
C8

32
12

AS
SC

63
21

42
0 

71



ASSC6321420
PART NO. DESCRIPTION QTY

SSC63214 6/32 X 1/4 CUP POINT SOCKET SET 100

SSC63212 6/32 X 1/2 CUP POINT SOCKET SET 100

SSC63234 6/32 X 3/4 CUP POINT SOCKET SET 100

SSC6321 6/32 X 1 CUP POINT SOCKET SET 100

SSC83214 8/32 X 1/4 CUP POINT SOCKET SET 100

SSC83212 8/32 X 1/2 CUP POINT SOCKET SET 100

SSC83234 8/32 X 3/4 CUP POINT SOCKET SET 100

SSC8321 8/32 X 1 CUP POINT SOCKET SET 100

SSC102414 10/24 X 1/4 CUP POINT SOCKET SET 100

SSC102412 10/24 X 1/2 CUP POINT SOCKET SET 100

SSC102434 10/24 X 3/4 CUP POINT SOCKET SET 100

SSC10241 10/24 X 1 CUP POINT SOCKET SET 50

SSC1024114 10/24 X 1 1/4 CUP POINT SOCKET SET 50

SSC103214 10/32 X 1/4 CUP POINT SOCKET SET 100

SSC103212 10/32 X 1/2 CUP POINT SOCKET SET 100

SSC103234 10/32 X 3/4 CUP POINT SOCKET SET 100

SSC10321 10/32 X 1 CUP POINT SOCKET SET 50

SSC142038 1/4-20 X 3/8 CUP POINT SOCKET SET 50

SSC142014 1/4-20 X 1/4 CUP POINT SOCKET SET 50

SSC142012 1/4-20 X 1/2 CUP POINT SOCKET SET 50

SSC142034 1/4-20 X 3/4 CUP POINT SOCKET SET 50

SSC14201 1/4-20 X 1 CUP POINT SOCKET SET 50

SSC1420114 1/4-20 X 1 1/4 CUP POINT SOCKET SET 50

SSC1420112 1/4-20 X 1 1/2 CUP POINT SOCKET SET 50

24DRAWER 24 COMPARTMENT DRAWER 1

72



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

M
4 

X 
16

SO
C 

SE
T 

SC
RE

W
SS

CM
41

6

M
6 

X 
12

SO
C 

SE
T 

SC
RE

W
SS

CM
61

2

M
8 

X 
16

SO
C 

SE
T 

SC
RE

W
SS

CM
81

6

M
10

 X
 1

6
SO

C 
SE

T 
SC

RE
W

SS
CM

10
16

M
12

 X
 1

6
SO

C 
SE

T 
SC

RE
W

SS
CM

12
16

M
4 

X 
8

SO
C 

SE
T 

SC
RE

W
SS

CM
48

M
6 

X 
8

SO
C 

SE
T 

SC
RE

W
SS

CM
68

M
8 

X 
12

SO
C 

SE
T 

SC
RE

W
SS

CM
81

2

M
10

 X
 1

2
SO

C 
SE

T 
SC

RE
W

SS
CM

10
12

M
10

 X
 4

0
SO

C 
SE

T 
SC

RE
W

SS
CM

10
40

M
3 

X 
12

SO
C 

SE
T 

SC
RE

W
SS

CM
31

2

M
5 

X 
20

SO
C 

SE
T 

SC
RE

W
SS

CM
52

0

M
6 

X 
30

SO
C 

SE
T 

SC
RE

W
SS

CM
63

0

M
8 

X 
30

SO
C 

SE
T 

SC
RE

W
SS

CM
83

0

M
10

 X
 3

0
SO

C 
SE

T 
SC

RE
W

SS
CM

10
30

M
3 

X 
6

SO
C 

SE
T 

SC
RE

W
SS

CM
36

M
5 

X 
10

SO
C 

SE
T 

SC
RE

W
SS

CM
51

0

M
6 

X 
20

SO
C 

SE
T 

SC
RE

W
SS

CM
62

0

M
8 

X 
20

SO
C 

SE
T 

SC
RE

W
SS

CM
82

0

M
10

 X
 2

0
SO

C 
SE

T 
SC

RE
W

SS
CM

10
20

M
ET

RI
C 

SO
CK

ET
 S

ET
 S

CR
EW

A
SS

C
M

M
12

 X
 2

0
SO

C 
SE

T 
SC

RE
W

SS
CM

12
20

M
12

 X
 3

0
SO

C 
SE

T 
SC

RE
W

SS
CM

12
30

M
12

 X
 4

0
SO

C 
SE

T 
SC

RE
W

SS
CM

12
40

M
12

 X
 5

0
SO

C 
SE

T 
SC

RE
W

SS
CM

12
50

73



ASSCM
PART NO. DESCRIPTION QTY

SSCM36 M3 X 6 SOCKET SET CUP POINT SCREW 15

SSCM312 M3 X 12 SOCKET SET CUP POINT SCREW 15

SSCM48 M4 X 8 SOCKET SET CUP POINT SCREW 15

SSCM416 M4 X 16 SOCKET SET CUP POINT SCREW 15

SSCM510 M5 X 10 SOCKET SET CUP POINT SCREW 15

SSCM520 M5 X 20 SOCKET SET CUP POINT SCREW 15

SSCM68 M6 X 8 SOCKET SET CUP POINT SCREW 15

SSCM612 M6 X 12 SOCKET SET CUP POINT SCREW 15

SSCM620 M6 X 20 SOCKET SET CUP POINT SCREW 10

SSCM630 M6 X 30 SOCKET SET CUP POINT SCREW 10

SSCM812 M8 X 12 SOCKET SET CUP POINT SCREW 10

SSCM816 M8 X 16 SOCKET SET CUP POINT SCREW 10

SSCM820 M8 X 20 SOCKET SET CUP POINT SCREW 10

SSCM830 M8 X 30 SOCKET SET CUP POINT SCREW 10

SSCM1012 M10 X 12 SOCKET SET CUP POINT SCREW 10

SSCM1016 M10 X 16 SOCKET SET CUP POINT SCREW 10

SSCM1020 M10 X 20 SOCKET SET CUP POINT SCREW 10

SSCM1030 M10 X 30 SOCKET SET CUP POINT SCREW 10

SSCM1040 M10 X 40 SOCKET SET CUP POINT SCREW 10

SSCM1216 M12 X 16 SOCKET SET CUP POINT SCREW 5

SSCM1220 M12 X 20 SOCKET SET CUP POINT SCREW 5

SSCM1230 M12 X 30 SOCKET SET CUP POINT SCREW 5

SSCM1240 M12 X 40 SOCKET SET CUP POINT SCREW 5

SSCM1250 M12 X 50 SOCKET SET CUP POINT SCREW 5

24DRAWER 24 COMPARTMENT DRAWER 1

74



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK 7/

16
-1

4 
X 

1/
2

SO
C 

SE
T 

SC
RE

W
SS

C7
16

14
12

7/
16

-1
4 

X 
1

SO
C 

SE
T 

SC
RE

W
SS

C7
16

14
1

1/
2-

13
 X

 1
/2

SO
C 

SE
T 

SC
RE

W
SS

C1
21

31
2

1/
2-

13
 X

 3
/4

SO
C 

SE
T 

SC
RE

W
SS

C1
21

33
4

1/
2-

13
 X

 1
SO

C 
SE

T 
SC

RE
W

SS
C1

21
31

3/
8-

16
 X

 1
/4

SO
C 

SE
T 

SC
RE

W

SS
C3

81
61

4

3/
8-

16
 X

 3
/8

SO
C 

SE
T 

SC
RE

W

SS
C3

81
63

8

3/
8-

16
 X

 1
/2

SO
C 

SE
T 

SC
RE

W

SS
C3

81
61

2

3/
8-

16
 X

 5
/8

SO
C 

SE
T 

SC
RE

W

SS
C3

81
65

8

3/
8-

16
 X

 3
/4

SO
C 

SE
T 

SC
RE

W

SS
C3

81
63

4

5/
16

-1
8 

X 
1/

4

SO
C 

SE
T 

SC
RE

W

SS
C5

16
18

14

5/
16

-1
8 

X 
5/

16

SO
C 

SE
T 

SC
RE

W

SS
C5

16
18

51
6

5/
16

-1
8 

X 
3/

8

SO
C 

SE
T 

SC
RE

W

SS
C5

16
18

38

5/
16

-1
8 

X 
1/

2

SO
C 

SE
T 

SC
RE

W

SS
C5

16
18

12

5/
16

-1
8 

X 
3/

4

SO
C 

SE
T 

SC
RE

W

SS
C5

16
18

34

1/
4-

20
 X

 1
/4

SO
C 

SE
T 

SC
RE

W
SS

C1
42

01
4

1/
4-

20
 X

 5
/1

6
SO

C 
SE

T 
SC

RE
W

SS
C1

42
05

16

1/
4-

20
 X

 3
/8

SO
C 

SE
T 

SC
RE

W
SS

C1
42

03
8

1/
4-

20
 X

 1
/2

SO
C 

SE
T 

SC
RE

W
SS

C1
42

01
2

1/
4-

20
 X

 3
/4

SO
C 

SE
T 

SC
RE

W
SS

C1
42

03
4

SO
CK

ET
 S

ET
 S

CR
EW

 C
UP

 P
OI

NT

A
SS

SC

1/
4-

20
 X

 1
SO

C 
SE

T 
SC

RE
W

SS
C1

42
01

5/
16

-1
8 

X 
1

SO
C 

SE
T 

SC
RE

W
SS

C5
16

18
1

3/
8-

16
 X

 1
SO

C 
SE

T 
SC

RE
W

SS
C3

81
61

1/
2-

13
 X

 1
 1

/2
SO

C 
SE

T 
SC

RE
W

SS
C1

21
31

12

75



ASSSC
PART NO. DESCRIPTION QTY

SSC142014 1/4-20 X 1/4 CUP POINT SOCKET SET 25

SSC1420516 1/4-20 X 5/16 CUP POINT SOCKET SET 25

SSC142038 1/4-20 X 3/8 CUP POINT SOCKET SET 25

SSC142012 1/4-20 X 1/2 CUP POINT SOCKET SET 25

SSC142034 1/4-20 X 3/4 CUP POINT SOCKET SET 25

SSC14201 1/4-20 X 1 CUP POINT SOCKET SET 25

SSC5161814 5/16-18 X 1/4 CUP POINT SOCKET SET 25

SSC51618516 5/16-18 X 5/16 CUP POINT SOCKET SET 25

SSC5161838 5/16-18 X 3/8 CUP POINT SOCKET SET 25

SSC5161812 5/16-18 X 1/2 CUP POINT SOCKET SET 25

SSC5161834 5/16-18 X 3/4 CUP POINT SOCKET SET 25

SSC516181 5/16-18 X 1 CUP POINT SOCKET SET 25

SSC381614 3/8-16 X 1/4 CUP POINT SOCKET SET 25

SSC381638 3/8-16 X 3/8 CUP POINT SOCKET SET 25

SSC381612 3/8-16 X 1/2 CUP POINT SOCKET SET 25

SSC381658 3/8-16 X 5/8 CUP POINT SOCKET SET 25

SSC381634 3/8-16 X 3/4 CUP POINT SOCKET SET 25

SSC38161 3/8-16 X 1 CUP POINT SOCKET SET 25

SSC7161412 7/16-14 X 1/2 CUP POINT SOCKET SET 20

SSC716141 7/16-14 X 1 CUP POINT SOCKET SET 15

SSC121312 1/2-13 X 1/2 CUP POINT SOCKET SET 15

SSC121334 1/2-13 X 3/4 CUP POINT SOCKET SET 10

SSC12131 1/2-13 X 1 CUP POINT SOCKET SET 10

SSC1213112 1/2-13 X 1 1/2 CUP POINT SOCKET SET 10

24DRAWER 24 COMPARTMENT DRAWER 1

76



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

HE
AV

Y 
DU

TY
 T

UB
IN

G 
CL

AM
PS

3/
8

HD
 T

UB
IN

G 
CL

AM
P

CS
TH

D3
/8

5/
16

HD
 T

UB
IN

G 
CL

AM
P

CS
TH

D5
16

1/
4

HD
 T

UB
IN

G 
CL

AM
P

CS
TH

D1
4

1
HD

 T
UB

IN
G 

CL
AM

P

CS
TH

D1

1 
1/

4
HD

 T
UB

IN
G 

CL
AM

P

CS
TH

D1
14

1 
1/

2
HD

 T
UB

IN
G 

CL
AM

P

CS
TH

D1
12

1/
2

HD
 T

UB
IN

G 
CL

AM
P

CS
TH

D1
2

5/
8

HD
 T

UB
IN

G 
CL

AM
P

CS
TH

D5
8

3/
4

HD
 T

UB
IN

G 
CL

AM
P

CS
TH

D3
4

HE
AV

Y 
DU

TY
 T

UB
IN

G 
CL

AM
PS

A
T
C

H
D

 

77



ATCHD

PART NO. DESCRIPTION QTY

CSTHD14 1/4" H.D.STEEL TUBING CLAMP 25

CSTHD516 5/16" H.D. STEEL   TUBING CLAMP 25

CSTHD38 3/8" H.D.STEEL TUBING CLAMP 25

CSTHD12 1/2" H.D. STEEL TUBING CLAMP 25

CSTHD58 5/8" H.D.  TUBING CLAMP 25

CSTHD34 3/4" H.D. STEEL TUBING CLAMP 25

CSTHD1 1"H.D. STEEL TUBING CLAMP 10

CSTHD114 1 1/4" H.D. STEEL  TUBING CLAMP 10

CSTHD112 1 1/2" H. D. STEEL  TUBING CLAMP 5

ADJDRAWER ADJUSTABLE DRAWER 1

78



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

S

YE
LL

OW
W

IN
G 

W
IR

E 
NU

T
W

NW
TY

GR
AY

W
IN

G 
W

IR
E 

NU
T

W
NW

TG

RE
D

W
IN

G 
W

IR
E 

NU
T

W
NW

TR

BL
UE

W
IR

E 
W

IN
G 

NU
T

W
NW

TB

W
IR

E 
NU

TS

A
W

N

OR
AN

GE
W

IR
E 

NU
T

W
NO

BL
UE

W
IR

E 
NU

T
W

NO

SM
AL

L 
GR

AY
W

IR
E 

NU
T

W
NS

G

RE
D

W
IR

E 
NU

T
W

NR

YE
LL

OW
W

IR
E 

NU
T

W
NY

W
IR

E 
NU

TS

79



AWN

PART NO. DESCRIPTION QTY

WNSG SMALL GRAY WIRE NUT 100

WNB BLUE WIRE NUT 100

WNO ORANGE WIRE NUT 100

WNY YELLOW WIRE NUT 50

WNR RED WIRE NUT 50

WNWTY YELLOW WING TYPE WIRE NUT 50

WNWTR RED WING TYPE WIRE NUT 50

WNWTG GRAY WING TYPE WIRE NUT 25

WNWTB BLUE WING TYPE WIRE NUT 25

ADJDRAWER ADJUSTABLE DRAWER 1

80



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK

#6
-3

2 
X 

1
S/

S 
PH

 P
AN

 M
/S

M
SP

PS
S6

32
1

1/
4-

20
S/

S 
HE

X 
NU

T
NH

M
SS

S1
42

0

1/
4-

20
 X

 1
/2

S/
S 

PH
 P

AN
 M

/S
M

SP
PS

S1
42

01
2

1/
4-

20
 X

 3
/4

S/
S 

PH
 P

AN
 M

/S
M

SP
PS

S1
42

03
4

1/
4-

20
 X

 1
S/

S 
PH

 P
AN

 M
/S

M
SP

PS
S1

42
01

#6
-3

2 
X 

3/
4

S/
S 

PH
 P

AN
 M

/S
M

SP
PS

S6
32

34

#1
0-

32
S/

S 
HE

X 
NU

T
NH

M
SS

S1
03

2

#1
0-

32
 X

 1
/2

S/
S 

PH
 P

AN
 M

/S
M

SP
PS

S1
03

21
2

#1
0-

32
 X

 3
/4

S/
S 

PH
 P

AN
 M

/S
M

SP
PS

S1
03

23
4

#1
0-

32
 X

 1
S/

S 
PH

 P
AN

 M
/S

M
SP

PS
S1

03
21

#6
-3

2 
X 

1/
2

S/
S 

PH
 P

AN
 M

/S
M

SP
PS

S6
32

12

#1
0-

24
S/

S 
HE

X 
NU

T
NH

M
SS

S1
02

4

#1
0-

24
 X

 1
/2

S/
S 

PH
 P

AN
 M

/S
M

SP
PS

S1
02

41
2

#1
0-

24
 X

 3
/4

S/
S 

PH
 P

AN
 M

/S
M

SP
PS

S1
02

43
4

#1
0-

24
 X

 1
S/

S 
PH

 P
AN

 M
/S

M
SP

PS
S1

02
41

#6
-3

2
S/

S 
HE

X 
NU

T
NH

M
SS

S6
32

#8
-3

2
S/

S 
HE

X 
NU

T
NH

M
SS

S8
32

#8
-3

2 
X 

1/
2

S/
S 

PH
 P

AN
 M

/S
M

SP
PS

S8
32

12

#8
-3

2 
X 

3/
4

S/
S 

PH
 P

AN
 M

/S
M

SP
PS

S8
32

34

#8
-3

2 
X 

1
S/

S 
PH

 P
AN

 M
/S

M
SP

PS
S8

32
1

S/
S 

PH
 P

AN
 H

D 
M

/S
 W

/ N
UT

N
SA

M
SP

P
SS

6
1

4

1/
4-

20
 X

 1
 1

/2
S/

S 
PH

 P
AN

 M
/S

M
SP

PS
S1

42
01

12

#1
0-

32
 X

 1
 1

/2
S/

S 
PH

 P
AN

 M
/S

M
SP

PS
S1

03
21

12

#1
0-

24
 X

 1
 1

2
S/

S 
PH

 P
AN

 M
/S

M
SP

PS
S1

02
41

12

#8
-3

2 
X 

1 
1/

2
S/

S 
PH

 P
AN

 M
/S

M
SP

PS
S8

32
11

2

81



NSAMSPPSS614
PART NO. DESCRIPTION QTY

MSPPSS63212 6/32 X 1/2 S/S PHILLIPS PAN HD M/S 100

MSPPSS63234 6/32 X 3/4 S/S PHILLIPS PAN HD M/S 100

MSPPSS6321 6/32 X 1 S/S PHILLIPS PAN HD M/S 100

MSPPSS83212 8/32 X 1/2 S/S PHILLIPS PAN HD M/S 100

MSPPSS83234 8/32 X 3/4 S/S PHILLIPS PAN HD M/S 100

MSPPSS8321 8/32 X 1 S/S PHILLIPS PAN HD M/S 100

MSPPSS832112 8/32 X 1 1/2 S/S PHILLIPS PAN HD M/S 50

MSPPSS102412 10/24 X 1/2 S/S PHILLIPS PAN HD M/S 100

MSPPSS102434 10/24 X 3/4 S/S PHILLIPS PAN HD M/S 100

MSPPSS10241 10/24 X 1 S/S PHILLIPS PAN HD M/S 100

MSPPSS1024112 10/24 X 1 1/2 S/S PHILLIPS PAN HD M/S 50

MSPPSS103212 10/32 X 1/2 S/S PHILLIPS PAN HD M/S 100

MSPPSS103234 10/32 X 3/4 S/S PHILLIPS PAN HD M/S 100

MSPPSS10321 10/32 X 1 S/S PHILLIPS PAN HD M/S 100

MSPPSS1032112 10/32 X 1 1/2 S/S PHILLIPS PAN HD M/S 50

MSPPSS142012 1/4-20 X 1/2 S/S PHILLIPS PAN HD M/S 50

MSPPSS142034 1/4-20 X 3/4 S/S PHILLIPS PAN HD M/S 50

MSPPSS14201 1/4-20 X 1 S/S PHILLIPS PAN HD M/S 50

MSPPSS1420112 1/4-20 X 1 1/2 S/S PHILLIPS PAN HD M/S 50

NHMSSS632 6-32 STAINLESS HEX M/S NUT 200

NHMSSS832 8-32 STAINLESS HEX M/S NUT 200

NHMSSS1024 10-24 STAINLESS HEX M/S NUT 200

NHMSSS1032 10-32 STAINLESS HEX M/S NUT 200

NFHSS1420 1/4-20 STAINLESS FIN HEX NUT 100

24DRAWER 24 COMPARTMENT DRAWER 1

82



w
w

w
.jl

fa
st

en
er

s.
co

m
sa

le
s@

jlf
as

te
ne

rs
.c

om

J&
L 

FA
ST

EN
ER

S
AN

D 
GE

NE
RA

L 
M

AI
NT

EN
AN

CE
 S

UP
PL

IE
S,

 IN
C

FR
ON

T

BA
CK 1/

2-
13

 X
 1

/2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

21
31

2

1/
2-

13
 X

 1
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

21
31

1/
2-

13
 X

 1
 1

/2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

21
31

12

1/
2-

13
 X

 2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

21
32

1/
2-

13
 X

 2
 1

/2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

21
32

12

3/
8-

16
 X

 1
/2

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

42
01

2

3/
8-

16
 X

 1
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
01

3/
8-

16
 X

 1
 1

/2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
01

12

3/
8-

16
 X

 2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
02

3/
8-

16
 X

 2
 1

/2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
02

12

5/
16

-1
8 

X 
1/

2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
01

2

5/
16

-1
8 

X 
1

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

42
01

5/
16

-1
8 

X 
1 

1/
2

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

42
01

12

5/
16

-1
8 

X 
2

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

42
02

5/
16

-1
8 

X 
2 

1/
2

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

42
02

12

1/
4-

20
 X

 1
/2

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

42
01

2

1/
4-

20
 X

 1
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
01

1/
4-

20
 X

 1
 1

/2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
01

12

1/
4-

20
 X

 2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
02

1/
4-

20
 X

 2
 1

/2
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
02

12

CU
P 

PT
 S

OC
KE

T 
SE

T 
SC

RE
W

S

1/
2-

13
 X

 3
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

21
33

3/
8-

16
 X

 3
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
03

5/
16

-1
8 

X 
3

CU
P 

PT
 S

ET
 S

CR
EW

SS
C1

42
03

1/
4-

20
 X

 3
CU

P 
PT

 S
ET

 S
CR

EW

SS
C1

42
03

NS
AS

SC
14

20
12

13
 

83



NSASSC14201213

PART NO. DESCRIPTION QTY

SSC142012 1/4-20 X 1/2 CUP POINT SOCKET SET 100

SSC14201 1/4-20 X 1 CUP POINT SOCKET SET 50

SSC1420112 1/4-20 X 1 1/2 CUP POINT SOCKET SET 25

SSC14202 1/4-20 X 2 CUP POINT SOCKET SET 20

SSC1420212 1/4-20 X 2 1/2 CUP POINT SOCKET SET 10

SSC14203 1/4-20 X 3 CUP POINT SOCKET SET 5

SSC5161812 5/16-18 X 1/2 CUP POINT SOCKET SET 50

SSC516181 5/16-18 X 1 CUP POINT SOCKET SET 50

SSC51618112 5/16-18 X 1 1/2 CUP POINT SOCKET SET 25

SSC516182 5/16-18 X 2 CUP POINT SOCKET SET 10

SSC51618212 5/16-18 X 2 1/2 CUP POINT SOCKET SET 5

SSC516183 5/16-18 X 3 CUP POINT SOCKET SET 5

SSC381612 3/8-16 X 1/2 CUP POINT SOCKET SET 25

SSC38161 3/8-16 X 1 CUP POINT SOCKET SET 25

SSC3816112 3/8-16 X 1 1/2 CUP POINT SOCKET SET 25

SSC38162 3/8-16 X 2 CUP POINT SOCKET SET 10

SSC3816212 3/8-16 X 2 1/2 CUP POINT SOCKET SET 10

SSC38163 3/8-16 X 3 CUP POINT SOCKET SET 10

SSC121312 1/2-13 X 1/2 CUP POINT SOCKET SET 10

SSC12131 1/2-13 X 1 CUP POINT SOCKET SET 10

SSC1213112 1/2-13 X 1 1/2 CUP POINT SOCKET SET 10

SSC12132 1/2-13 X 2 CUP POINT SOCKET SET 10

SSC1213212 1/2-13 X 2 1/2 CUP POINT SOCKET SET 10

SSC12133 1/2-13 X 3 CUP POINT SOCKET SET 10

24DRAWER 24 COMPARTMENT DRAWER 1

84



ABCF
PART NO. DESCRIPTION QTY

60A-4 1/4 COMPRESSION SLEEVE 50

60A-5 5/16 COMPRESSION SLEEVE 50

60A-6 3/8 COMPRESSION SLEEVE * 50

60A-8 1/2 COMPRESSION SLEEVE 25

61A-4 1/4 COMPRESSION NUT 20

61A-5 5/16 COMPRESSION NUT 20

61A-6 3/8 COMPRESSION NUT * 20

61A-8 1/2 COMPRESSION NUT 10

68A-4A 1/4 X 1/8 MPT COMPRESSION CONNECTOR 10

68A-4B 1/4 X 1/4 MPT COMPRESSION CONNECTOR 10

68A-5A 5/16 X 1/8 MPT COMPRESSION CONNECTOR 10

68A-5B 5/16 X 1/4 MPT COMPRESSION CONNECTOR 10

68A-6B 3/8 X 1/4 MPT COMPRESSION CONNECTOR 10

68A-6C 3/8 X 3/8 MPT COMPRESSION CONNECTOR 10

68A-8C 1/2 X 3/8 MPT COMPRESSION CONNECTOR 8

68A-8D 1/2 X 1/2 MPT COMPRESSION CONNECTOR 8

69A-4B 1/4 X 1/4 MPT 90 COMPRESSION CONNECTOR 6

69A-5A 5/16 X 1/8 MPT 90 COMPRESSION CONNECTOR 6

69A-6B 3/8 X 1/4 MPT 90 COMP. CONNECTOR 6

69A-8C 1/2 X 3/8 MPT 90 COMPRESSION CONNECTOR * 4

62A-44 1/4 COMPRESSION UNION 10

62A-55 5/16 COMPRESSION UNION 6

62A-66 3/8 COMPRESSION UNION 10

62A-88 1/2 COMPRESSION UNION 6

24DRAWER 24 COMPARTMENT DRAWER 1

85



PART NO. DESCRIPTION QTY

61NAB-10 5/8 NTA NUT 4

61NAB-8 1/2 NTA NUT 5

61NAB-6 3/8 NTA NUT 8

61NAB-4 1/4 NTA NUT 10

60NAB-10 5/8 NTA SLEEVE 10

60NAB-8 1/2 NTA SLEEVE 15

60NAB-6 3/8 NTA SLEEVE 20

60NAB-4 1/4 NTA SLEEVE 25

62NAB-10 5/8 NTA UNION 2

62NAB-8 1/2 NTA UNION 4

62NAB-6 3/8 NTA UNION 6

62NAB-4 1/4 NTA UNION 8

668A 1/8 X 1/8 SUREGRIP MALE CONNECTOR 6

68NAB-10D 5/8 T X 1/2 MPT NTA CONNECTOR 3

68NAB-8C 1/2 T X 3/8 MPT NTA CONNECTOR 4

68NAB-8D 1/2 T X 1/2 MPT NTA CONNECTOR 4

68NAB-6B 3/8 T X 1/4 MPT NTA CONNECTOR 8

68NAB-6C 3/8 T X 3/8 MPT NTA CONNECTOR 6

68NAB-4A 1/4 T X 1/8 MPT NTA CONNECTOR 10

68NAB-4B 1/4 T X 1/4 MPT NTA CONNECTOR 10

69NAB-10D 5/8 T X 1/2 MPT 90 NTA ELBOW 2

69NAB-8C 1/2 T X 3/8 MPT 90 NTA ELBOW 6

69NAB-6B 3/8 T X 1/4 MPT 90 NTA ELBOW 8

69NAB-4B 1/4 T X 1/4 MPT 90 NTA ELBOW 8

24DRAWER 24 COMPARTMENT DRAWER 1

ABNTA

86



ABP1142L
PART NO. DESCRIPTION QTY

PNB114C 1 1/4 X CLOSE STD BLACK  NIPPLE 5

PNB1142 1 1/4 X 2 STD BLACK NIPPLE 5

PNB1143 1 1/4 X 3 STD BLACK  NIPPLE 5

PNB1144 1 1/4 X 4 STD BLACK  NIPPLE 4

PNB1145 1 1/4 X 5 STD BLACK  NIPPLE 4

PNB1146 1 1/4 X 6 STD BLACK  NIPPLE 4

PNB112C 1 1/2 X CLOSE STD BLACK NIPPLE 5

PNB1122 1 1/2 X 2 STD BLACK  NIPPLE 4

PNB1123 1 1/2 X 3 STD BLACK  NIPPLE 4

PNB1124 1 1/2 X 4 STD BLACK  NIPPLE 4

PNB1125 1 1/2 X 5 STD BLACK  NIPPLE 3

PNB1126 1 1/2 X 6 STD BLACK  NIPPLE 3

PNB2C 2 X CLOSE STD BLACK  NIPPLE 5

PNB2212 2 X 2 1/2 STD BLACK  NIPPLE 3

PNB23 2 X 3 STD BLACK NIPPLE 3

PNB24 2 X 4 STD BLACK NIPPLE 3

PNB25 2 X 5 STD BLACK NIPPLE 3

PNB26 2 X 6 STD BLACK NIPPLE 3

PCB114 1 1/4 BLACK STEEL COUPLING, STD MERCHANT 4

PCB112 1 1/2 BLACK STEEL COUPLING, STD MERCHANT 3

PCB2 2 BLACK STEEL COUPLING, STD MERCHANT 2

PSPB114 1 1/4 " BLK CI CORED SQ HD PLUG 4

PSPB112 1 1/2"  BLK CI CORED SQ HD PLUG 3

PSPB2 2" BLK CI CORED SQ HD PLUG 2

PEB11490 1 1/4 BLACK M/I  90 ELBOW 4

PEB11290 1 1/2 BLACK M/I 90 ELBOW 3

PEB290 2 BLACK M/I 90 ELBOW 2

PSEB11490 1 1/4 BLACK M/I  90 STREET ELBOW 4

PSEB11290 1 1/2 BLACK M/I  90 STREET ELBOW 3

PSEB290 2 BLACK M/I 90 STREET ELBOW 2

PTB114 1 1/4 BLACK M/I TEE 4

PTB112 1 1/2 BLACK M/I TEE 3

PTB2 2" BLACK M/I TEE 2

PCPB114 1 1/4 BLACK M/I CAP 4

CONTINUE

87



PCPB112 1 1/2 BLACK M/I CAP 3

PCPB2 2"  BLACK M/I CAP 2

PEB11445 1 1/4 BLACK M/I 45 ELBOW 4

PEB11245 1 1/2 BLACK M/I  45 ELBOW 3

PEB245 2 BLACK M/I 45 ELBOW 2

PUB114 1 1/4 BLACK M/I 150# UNION 2

PUB112 1 1/2 BLACK M/I  150# UNION 2

PUB2 2" BLACK M/I 150# UNION 2

PHBB1141 1 1/4 X 1 BLACK M/I HEX BUSHING 4

PHBB11434 1 1/4 X 3/4 BLACK M/I  HEX BUSHING 4

PHBB11412 1 1/4 X 1/2 BLACK M/I HEX BUSHING 3

PHBB11438 1 1/4 X 3/8 BLACK M/I  HEX BUSHING 3

PHBB11414 1 1/4 X 1/4 BLACK M/I HEX BUSHING 2

PHBB112114 1 1/2 X 1 1/4 BLACK M/I HEX BUSHING 3

PHBB1121 1 1/2 X 1 BLACK M/I HEX BUSHING 2

PHBB11234 1 1/2 X 3/4 BLACK M/I HEX BUSHING 2

PHBB11212 1 1/2 X 1/2 BLACK M/I HEX BUSHING 2

PHBB11238 1 1/2 X 3/8 BLACK M/I HEX BUSHING 2

PHBB11214 1 1/2 X 1/4 BLACK M/I HEX BUSHING 2

PHBB2112 2 X 1 1/2 BLK M/I  HEX BUSHING 3

PHBB2114 2 X 1 1/4 BLACK M/I HEX BUSHING 2

PHBB21 2 X 1 BLACK M/I HEX BUSHING 2

PHBB234 2 X 3/4 BLACK M/I HEX BUSHING 2

PHBB212 2 X 1/2 BLACK M/I HEX BUSHING 2

PHBB238 2 X 3/8 BLACK C/I HEX BUSHING 2

PHBB214 2 X 1/4 BLACK C/I HEX BUSHING 2

PCRB1141 1 1/4 X 1 BLK M/I COUPLER REDUCER 2

PCRB112114 1 1/2 X 1 1/4 BLK M/I COUPLER REDUCER 2

PCRB2112 2 X 1 1/2 BLK M/I COUPLER REDUCER 2

VBI114 1-1/4 600# WOG BRONZE THRD  BALL VALVE 1

VBI112 1-1/2 600# WOG BRONZE BALL VALVE THRD 1

VBI2 2" 600# WOG BRONZE BALL VALVE, THRD, YELLOW HANDLE 1

24BIN 24 OPENING BIN 1

42BIN 42 OPENING BIN 1

ABP1142L

88



ABP141

CONTINUE

PART NO. DESCRIPTION QTY

PNB14C 1/4 X CLOSE STD BLACK NIPPLE 10

PNB14112 1/4 X 1 1/2 STD BLACK NIPPLE 10

PNB142 1/4 X 2 STD BLACK NIPPLE 10

PNB14212 1/4 X 2 1/2 STD BLACK NIPPLE 10

PNB143 1/4 X 3 STD BLACK NIPPLE 10

PNB144 1/4 X 4 STD BLACK NIPPLE 6

PNB145 1/4 X 5 STD BLACK NIPPLE 6

PNB146 1/4 X 6 STD BLACK NIPPLE 6

PNB38C 3/8 X CLOSE STD BLACK NIPPLE 10

PNB38112 3/8 X 1 1/2 STD BLACK NIPPLE 10

PNB382 3/8 X 2 STD BLACK NIPPLE 10

PNB38212 3/8 X 2 1/2 STD BLACK NIPPLE 10

PNB383 3/8 X 3 STD BLACK NIPPLE 10

PNB384 3/8 X 4 STD BLACK NIPPLE 6

PNB385 3/8 X 5 STD BLACK NIPPLE 6

PNB386 3/8 X 6 STD BLACK NIPPLE 6

PNB12C 1/2 X CLOSE STD BLK STL  NIPPLE 10

PNB12112 1/2 X 1 1/2 STD BLACK STEEL  NIPPLE 10

PNB122 1/2 X 2 STD BLACK STEEL  NIPPLE 10

PNB12212 1/2 X 2 1/2 STD BLACK STEEL  NIPPLE 10

PNB123 1/2 X 3 STD BLACK STEEL  NIPPLE 10

PNB124 1/2 X 4 STD BLACK STEEL  NIPPLE 6

PNB125 1/2 X 5 STD BLACK STEEL  NIPPLE 6

PNB126 1/2 X 6 STD BLACK STEEL  NIPPLE 6

PNB34C 3/4 X CLOSE STD BLACK NIPPLE 10

PNB34112 3/4 X 1 1/2 STD BLACK NIPPLE 10

PNB342 3/4 X 2 STD BLACK NIPPLE 10

PNB34212 3/4 X 2 1/2 STD BLACK NIPPLE 10

PNB343 3/4 X 3 STD BLACK NIPPLE 10

PNB344 3/4 X 4 STD BLACK NIPPLE 6

PNB345 3/4 X 5 STD BLACK NIPPLE 6

PNB346 3/4 X 6 STD BLACK NIPPLE 5

PNB1C 1 X CLOSE STD BLACK  NIPPLE 5

PNB12 1 X 2 STD BLACK STEEL  NIPPLE 5

PNB1212 1 X 2 1/2 STD BLACK STEEL  NIPPLE 5

89



ABP141

CONTINUE

PNB13 1 X 3 STD BLACK NIPPLE 5

PNB1312 1 X 3 1/2 STD BLACK  NIPPLE 4

PNB14 1 X 4 STD BLACK NIPPLE 4

PNB15 1 X 5 STD BLACK NIPPLE 4

PNB16 1 X 6 STD BLACK NIPPLE 4

PHBB1418 1/4 X 1/8 BLACK STEEL HEX BUSHING 10

PHBB3814 3/8 X 1/4 BLK STEEL HEX BUSHING 10

PHBB3818 3/8 X 1/8 BLK STEEL HEX BUSHING 10

PHBB1238 1/2 X 3/8 BLACK STEEL HEX BUSHING 10

PHBB1214 1/2 X 1/4 BLACK STEEL HEX BUSHING 10

PHBB1218 1/2 X 1/8 BLACK STEEL HEX BUSHING 5

PHBB3412 3/4 X 1/2 BLK STEEL HEX BUSHING 10

PHBB3438 3/4 X 3/8 BLK STEEL HEX BUSHING 5

PHBB3414 3/4 X 1/4 BLK STEEL HEX BUSHING 5

PHBB3418 3/4 X 1/8 BLK STEEL HEX BUSHING 5

PHBB134 1 X 3/4 BLACK M/I  HEX BUSHING 5

PHBB112 1 X 1/2 BLACK M/I  HEX BUSHING 3

PHBB138 1 X 3/8 BLACK M/I   HEX BUSHING 2

PHBB114 1 X 1/4 BLACK M/I HEX BUSHING 2

TT12 1/2" X 260 INCH TEFLON TAPE 3

TT34 3/4" X 260 INCH TEFLON TAPE 3

PCRB1418 1/4 X 1/8 BLK M/I COUPLER REDUCER 2

PCRB3814 3/8 X 1/4 BLK M/I COUPLER REDUCER 2

PCRB3818 3/8 X 1/8 BLK M/I COUPLER REDUCER 2

PCRB1238 1/2 X 3/8 BLK M/I COUPLER REDUCER 2

PCRB1214 1/2 X 1/4 BLK M/I COUPLER REDUCER 2

PCRB3412 3/4 X 1/2 BLK M/I COUPLER REDUCER 2

PCRB3438 3/4 X 3/8 BLK M/I COUPLER REDUCER 2

PCRB134 1 X 3/4 BLK M/I COUPLER REDUCER 2

PEB1490 1/4 BLACK M/I 90 ELBOW 10

PEB3890 3/8 BLACK M/I 90 ELBOW 10

PEB1290 1/2 BLACK M/I 90 ELBOW 10

PEB3490 3/4 BLACK M/I 90 ELBOW 5

PEB190 1 BLACK M /I 90 ELBOW 5

PCB14 1/4 BLACK STEEL COUPLING, STD MERCHANT 10

PCB38 3/8 BLACK STEEL COUPLING, STD MERCHANT 10

90



ABP141
PCB12 1/2 BLACK STEEL COUPLING, STD MERCHANT 10

PCB34 3/4 BLACK STEEL COUPLING, STD MERCHANT 5

PCB1 1 BLACK STEEL COUPLING, STD MERCHANT 5

PSPB14 1/4 BLK STL SQUARE HD PLUGS 10

PSPB38 3/8 BLK STEEL SQUARE HD PLUGS 10

PSPB12 1/2 BLK STL SQUARE HD PLUGS 10

PSPB34 3/4 BLK STL SOLID SQUARE HD PLUGS 5

PSPB1 1"  BLK CI CORED SQ HD PLUG 5

PTB14 1/4 BLACK M/I TEE 3

PTB38 3/8 BLACK M/I  TEE 3

PTB12 1/2 BLACK M/I TEE 3

PTB34 3/4 BLACK M/I TEE 2

PTB1 1" BLACK M/I TEE 2

PSEB1490 1/4 BLACK M/I 90 STREET ELBOW 5

PSEB3890 3/8 BLACK M/I 90 STREET ELBOW 5

PSEB1290 1/2 BLACK M/I  90 STREET ELBOW 5

PSEB3490 3/4 BLACK M/I  90 STREET ELBOW 5

PSEB190 1 BLACK M/I 90 STREET ELBOW 3

PCPB14 1/4 BLACK STEEL CAP 10

PCPB38 3/8 BLACK STEEL CAP 10

PCPB12 1/2 BLACK M/I CAP 10

PCPB34 3/4 BLACK M/I CAP 5

PCPB1 1" BLACK M/I CAP 4

PEB1445 1/4 BLACK M/I 45 ELBOW 3

PEB3845 3/8 BLACK M/I 45 ELBOW 3

PEB1245 1/2 BLACK M/I 45 ELBOW 3

PEB3445 3/4 BLACK M/I 45 ELBOW 2

PEB145 1 BLACK M/I 45 ELBOW 2

PUB14 1/4 BLACK M/I 150# UNION 2

PUB38 3/8 BLACK M/I 150# UNION 2

PUB12 1/2 BLACK M/I 150# UNION 2

PUB34 3/4 BLACK M/I 150# UNION 2

PUB1 1" BLACK M/I  150# UNION 1

40BIN 40 OPENING BIN 1

72BIN 72 OPENING BIN 1

91



ABP181
PART NO. DESCRIPTION QTY

PNB18C 1/8 X CLOSE STD BLACK NIPPLE 10

PNB18112 1/8 X 1 1/2 STD BLACK NIPPLE 10

PNB182 1/8 X 2 STD BLACK NIPPLE 10

PNB18212 1/8 X 2 1/2 STD BLACK NIPPLE 10

PNB183 1/8 X 3 STD BLACK NIPPLE 10

PNB184 1/8 X 4 STD BLACK NIPPLE 6

PNB185 1/8 X 5 STD BLACK NIPPLE 6

PNB186 1/8 X 6 STD BLACK NIPPLE 6

PNB14C 1/4 X CLOSE STD BLACK NIPPLE 10

PNB14112 1/4 X 1 1/2 STD BLACK NIPPLE 10

PNB142 1/4 X 2 STD BLACK NIPPLE 10

PNB14212 1/4 X 2 1/2 STD BLACK NIPPLE 10

PNB143 1/4 X 3 STD BLACK NIPPLE 10

PNB144 1/4 X 4 STD BLACK NIPPLE 6

PNB145 1/4 X 5 STD BLACK NIPPLE 6

PNB146 1/4 X 6 STD BLACK NIPPLE 6

PNB38C 3/8 X CLOSE STD BLACK NIPPLE 10

PNB38112 3/8 X 1 1/2 STD BLACK NIPPLE 10

PNB382 3/8 X 2 STD BLACK NIPPLE 10

PNB38212 3/8 X 2 1/2 STD BLACK NIPPLE 10

PNB383 3/8 X 3 STD BLACK NIPPLE 10

PNB384 3/8 X 4 STD BLACK NIPPLE 6

PNB385 3/8 X 5 STD BLACK NIPPLE 6

PNB386 3/8 X 6 STD BLACK NIPPLE 6

PNB12C 1/2 X CLOSE STD BLK STL  NIPPLE 10

PNB12112 1/2 X 1 1/2 STD BLACK STEEL  NIPPLE 10

PNB122 1/2 X 2 STD BLACK STEEL  NIPPLE 10

PNB12212 1/2 X 2 1/2 STD BLACK STEEL  NIPPLE 10

PNB123 1/2 X 3 STD BLACK STEEL  NIPPLE 10

PNB124 1/2 X 4 STD BLACK STEEL  NIPPLE 6

PNB125 1/2 X 5 STD BLACK STEEL  NIPPLE 6

PNB126 1/2 X 6 STD BLACK STEEL  NIPPLE 6

PNB34C 3/4 X CLOSE STD BLACK NIPPLE 10

PNB34112 3/4 X 1 1/2 STD BLACK NIPPLE 10

PNB342 3/4 X 2 STD BLACK NIPPLE 10

CONTINUE

92



ABP181
PNB34212 3/4 X 2 1/2 STD BLACK NIPPLE 10

PNB343 3/4 X 3 STD BLACK NIPPLE 6

PNB344 3/4 X 4 STD BLACK NIPPLE 6

PNB345 3/4 X 5 STD BLACK NIPPLE 6

PNB346 3/4 X 6 STD BLACK NIPPLE 5

PNB1C 1 X CLOSE STD BLACK  NIPPLE 5

PNB12 1 X 2 STD BLACK STEEL  NIPPLE 5

PNB1212 1 X 2 1/2 STD BLACK STEEL  NIPPLE 5

PNB13 1 X 3 STD BLACK NIPPLE 5

PNB1312 1 X 3 1/2 STD BLACK  NIPPLE 4

PNB14 1 X 4 STD BLACK NIPPLE 4

PNB15 1 X 5 STD BLACK NIPPLE 4

PNB16 1 X 6 STD BLACK NIPPLE 4

PHBB1418 1/4 X 1/8 BLACK STEEL HEX BUSHING 10

PHBB3814 3/8 X 1/4 BLK STEEL HEX BUSHING 10

PHBB1238 1/2 X 3/8 BLACK STEEL HEX BUSHING 10

PHBB1214 1/2 X 1/4 BLACK STEEL HEX BUSHING 10

PHBB3412 3/4 X 1/2 BLK STEEL HEX BUSHING 10

PHBB3438 3/4 X 3/8 BLK STEEL HEX BUSHING 5

PHBB134 1 X 3/4 BLACK M/I  HEX BUSHING 5

PHBB112 1 X 1/2 BLACK M/I  HEX BUSHING 3

PCRB1418 1/4 X 1/8 BLK M/I COUPLER REDUCER 2

PCRB3814 3/8 X 1/4 BLK M/I COUPLER REDUCER 2

PCRB1238 1/2 X 3/8 BLK M/I COUPLER REDUCER 2

PCRB1214 1/2 X 1/4 BLK M/I COUPLER REDUCER 2

PCRB3412 3/4 X 1/2 BLK M/I COUPLER REDUCER 2

PCRB3438 3/4 X 3/8 BLK M/I COUPLER REDUCER 2

PCRB134 1 X 3/4 BLK M/I COUPLER REDUCER 2

PCRB112 1 X 1/2 BLACK M/I COUPLER REDUCER 2

PEB1890 1/8 BLACK M/I 90 ELBOW 10

PEB1490 1/4 BLACK M/I 90 ELBOW 10

PEB3890 3/8 BLACK M/I 90 ELBOW 10

PEB1290 1/2 BLACK M/I 90 ELBOW 10

PEB3490 3/4 BLACK M/I 90 ELBOW 5

PEB190 1 BLACK M /I 90 ELBOW 5

CONTINUE

93



ABP181
PCB18 1/8 BLACK STEEL COUPLING, STD MERCHANT 10

PCB14 1/4 BLACK STEEL COUPLING, STD MERCHANT 10

PCB38 3/8 BLACK STEEL COUPLING, STD MERCHANT 10

PCB12 1/2 BLACK STEEL COUPLING, STD MERCHANT 10

PCB34 3/4 BLACK STEEL COUPLING, STD MERCHANT 5

PCB1 1 BLACK STEEL COUPLING, STD MERCHANT 5

PSPB18 1/8 BLK STL SQUARE HD PLUGS 10

PSPB14 1/4 BLK STL SQUARE HD PLUGS 10

PSPB38 3/8 BLK STEEL SQUARE HD PLUGS 10

PSPB12 1/2 BLK STL SQUARE HD PLUGS 10

PSPB34 3/4 BLK STL SOLID SQUARE HD PLUGS 5

PSPB1 1"  BLK CI CORED SQ HD PLUG 5

PTB18 1/8 BLACK M/I TEE 3

PTB14 1/4 BLACK M/I TEE 3

PTB38 3/8 BLACK M/I  TEE 3

PTB12 1/2 BLACK M/I TEE 3

PTB34 3/4 BLACK M/I TEE 2

PTB1 1" BLACK M/I TEE 2

PSEB1890 1/8 BLACK M/I 90 STREET ELBOW 5

PSEB1490 1/4 BLACK M/I 90 STREET ELBOW 5

PSEB3890 3/8 BLACK M/I 90 STREET ELBOW 5

PSEB1290 1/2 BLACK M/I  90 STREET ELBOW 5

PSEB3490 3/4 BLACK M/I  90 STREET ELBOW 5

PSEB190 1 BLACK M/I 90 STREET ELBOW 3

PCPB18 1/8 BLACK STEEL CAP 10

PCPB14 1/4 BLACK STEEL CAP 10

PCPB38 3/8 BLACK STEEL CAP 10

PCPB12 1/2 BLACK M/I CAP 10

PCPB34 3/4 BLACK M/I CAP 5

PCPB1 1" BLACK M/I CAP 4

PEB1845 1/8 BLACK M/I 45 ELBOW 3

PEB1445 1/4 BLACK M/I 45 ELBOW 3

PEB3845 3/8 BLACK M/I 45 ELBOW 3

PEB1245 1/2 BLACK M/I 45 ELBOW 3

PEB3445 3/4 BLACK M/I 45 ELBOW 2

PEB145 1 BLACK M/I 45 ELBOW 2

PUB18 1/8 BLACK M/I 150# UNION 2

PUB14 1/4 BLACK M/I 150# UNION 2

PUB38 3/8 BLACK M/I 150# UNION 2

PUB12 1/2 BLACK M/I 150# UNION 2

PUB34 3/4 BLACK M/I 150# UNION 2

PUB1 1" BLACK M/I  150# UNION 1

40BIN 40 OPENING BIN 1

72BIN 72 OPENING BIN 1

94



ABP181 

95 

ABP181

95



ABP24
PART NO. DESCRIPTION QTY

PEB1890 1/8 BLACK M/I 90 ELBOW 6

PEB1490 1/4 BLACK M/I 90 ELBOW 6

PEB3890 3/8 BLACK M/I 90 ELBOW 5

PEB1290 1/2 BLACK M/I 90 ELBOW 3

PCB18 1/8 BLACK STEEL COUPLING, STD MERCHANT 6

PCB14 1/4 BLACK STEEL COUPLING, STD MERCHANT 6

PCB38 3/8 BLACK STEEL COUPLING, STD MERCHANT 5

PCB12 1/2 BLACK STEEL COUPLING, STD MERCHANT 3

PNB18C 1/8 X CLOSE STD BLACK NIPPLE 10

PNB14C 1/4 X CLOSE STD BLACK NIPPLE 10

PNB38C 3/8 X CLOSE STD BLACK NIPPLE 8

PNB12C 1/2 X CLOSE STD BLK STL  NIPPLE 6

PSPB18 1/8 BLK STL SQUARE HD PLUGS 10

PSPB14 1/4 BLK STL SQUARE HD PLUGS 10

PSPB38 3/8 BLK STEEL SQUARE HD PLUGS 8

PSPB12 1/2 BLK STL SQUARE HD PLUGS 6

PHBB1418 1/4 X 1/8 BLACK STEEL HEX BUSHING 10

PHBB3814 3/8 X 1/4 BLK STEEL HEX BUSHING 10

PHBB1238 1/2 X 3/8 BLACK STEEL HEX BUSHING 6

PHBB3412 3/4 X 1/2 BLK STEEL HEX BUSHING 4

PTB18 1/8 BLACK M/I TEE 5

PTB14 1/4 BLACK M/I TEE 5

PTB38 3/8 BLACK M/I  TEE 3

PTB12 1/2 BLACK M/I TEE 2

24DRAWER 24 COMPARTMENT DRAWER 1

96



PART NO. DESCRIPTION QTY

1862X4 1/4" TUBE NTA PUSH CONNECT UNION 2

1862X6 3/8" TUBE NTA PUSH CONNECT UNION 2

1862X8 1/2" TUBE NTA PUSH CONNECT UNION 2

1868X4 1/4" TUBE X 1/8" MPT NTA PUSH CONNECT 2

1868X4X4 1/4" TUBE X 1/4" MPT NTA PUSH CONNECT 2

1868X4X6 1/4" TUBE X 3/8" MPT NTA PUSH CONNECT 2

1868X6X2 3/8" TUBE X 1/8" MPT NTA PUSH CONNECT 2

1868X6 3/8" TUBE X 1/4" MPT NTA PUSH CONNECT 1

1868X6X6 3/8" TUBE X 3/8" MPT NTA PUSH CONNECT 1

1868X6X8 3/8" TUBE X 1/2" MPT NTA PUSH CONNECT 1

1868X8X4 1/2" TUBE X 1/4" MPT NTA PUSH CONNECT 2

1868X8 1/2" TUBE X 3/8" MPT NTA PUSH CONNECT 1

1868X8X8 1/2" TUBE X 1/2" MPT NTA PUSH CONNECT 2

1869X4 1/4" TUBE X 1/8" MPT NTA PUSH CONNECT 90º ELL 2

1869X4X4 1/4" TUBE X 1/4" MPT NTA PUSH CONNECT 90º ELL 1

1869X6X2 3/8" TUBE X 1/8" MPT NTA PUSH CONNECT 90º ELL 2

1869X6 3/8" TUBE X 1/4" MPT NTA PUSH CONNECT 90º ELL 2

1869X6X6 3/8" TUBE X 3/8" MPT NTA PUSH CONNECT 90º ELL 1

1869X8X4 1/2" TUBE X 1/4" MPT NTA PUSH CONNECT 90º ELL 2

1869X8 1/2" TUBE X 3/8" MPT NTA PUSH CONNECT 90º ELL 2

1869X8X8 1/2" TUBE X 1/2" MPT NTA PUSH CONNECT 90º ELL 2

1864X4 1/4" TUBE NTA PUSH CONNECT UNION TEE 1

1864X6 3/8" TUBE NTA PUSH CONNECT UNION TEE 1

1864X8 1/2" TUBE NTA PUSH CONNECT UNION TEE 1

24DRAWER 24 COMPARTMENT DRAWER 1

ABPPDOT

97



ABPXH1142
PART NO. DESCRIPTION QTY

PXNB114C 1 1/4 X CLOSE BLK EX HVY STL NIPPLE 4

PXNB1142 1 1/4 X 2  BLK EX HVY STL NIPPLE 3

PXNB1143 1 1/4 X 3  BLK EX HVY STL NIPPLE 3

PXNB1144 1 1/4 X 4  BLK EX HVY STL NIPPLE 3

PXNB1145 1 1/4 X 5  BLK EX HVY STL NIPPLE 2

PXNB1146 1 1/4 X 6  BLK EX HVY STL NIPPLE 2

PXNB112C 1 1/2 X CLOSE  BLK EX HVY STL NIPPLE 4

PXNB1122 1 1/2 X 2 BLK EX HVY STL NIPPLE 3

PXNB1123 1 1/2 X 3  BLK EX HVY STL NIPPLE 3

PXNB1124 1 1/2 X 4  BLK EX HVY STL NIPPLE 3

PXNB1125 1 1/2 X 5  BLK EX HVY STL NIPPLE 2

PXNB1126 1 1/2 X 6  BLK EX HVY STL NIPPLE 2

PXNB2C 2 X CLOSE BLACK STL  EX HVY NIPPLE 4

PXNB2212 2 X 2 1/2 BLACK STL  EX HVY NIPPLE 3

PXNB23 2 X 3 BLACK EX STL  HVY NIPPLE 3

PXNB24 2 X 4 BLACK EX STL  HVY NIPPLE 3

PXNB25 2 X 5 BLACK EX HVY NIPPLE 2

PXNB26 2 X 6 BLACK EX HVY NIPPLE 2

PXEB11490 1 1/4 90 BLK M/I EX HVY ELBOW 2

PXEB11290 1 1/2 90 BLK M/I EX HVY ELBOW 2

PXEB290 2" 90 BLK M/I EX HVY ELBOW 2

PXCB114 1 1/4  EX HVY BLK STL COUPLING 3

PXCB112 1 1/2 EX HVY BLK STL COUPLING 3

PXCB2 2" EX HVY BLK STL COUPLING 2

PSPFS114 1 1/4" FORGED STL SQ HD PLUG 4

PSPFS112 1 1/2" FORGED STL SQ HD PLUG 3

PSPFS2 2" FORGED STEEL SQ HD PLUG 2

PXSEB11490 1 1/4 90 BLACK M/I  EX HVY STREET ELBOW 2

PXSEB11290 1 1/2 90 BLACK M/I  EX HVY STREET ELBOW 2

PXSEB290 2 " 90 BLACK M/I  EX HVY STREET ELBOW 2

PXTB114 1 1/4 BLACK M/I  EX HVY TEE 2

PXTB112 1 1/2 BLACK M/I  EX HVY TEE 2

PXTB2 2" BLACK M/I  EX HVY TEE 2

PXCPB114 1 1/4 BLK M/I EX HVY CAP 3

PXCPB112 1 1/2 BLK M/I EX HVY CAP 2

PXCPB2 2" BLK M/I EX HVY CAP 2

PXEB11445 1 1/4 45 BLK M/I EX HVY ELBOW 2

PXEB11245 1 1/2 45  BLK M/I EX HVY ELBOW 2

PXEB245 2" 45  BLK M/I EX HVY ELBOW 1

PXUB114 1 1/4 BLACK M/I  EX HVY 250# UNION 2

PXUB112 1 1/2 BLK M/I  EX HVY 250# UNION 2

PXUB2 2"  BLK M/I  EX HVY 250# UNION 1

PHBFS11414 1 1/4 X 1/4 FORGED STEEL HEX BUSHINGS 2

PHBFS11438 1-1/4 X 3/8 FORGED STEEL HEX BUSHING 3

127 

CONTINUE 
98



PHBFS11412 1 1/4 X 1/2 FORGED STEEL HEX BUSHING 2

PHBFS11434 1 1/4 X 3/4 FORGED STEEL HEX BUSHING 4

PHBFS1141 1 1/4 X 1 FORGED STEEL HEX BUSHINGS 4

PHBFS11214 1 1/2 X 1/4 FORGED STEEL HEX BUSHING 2

PHBFS11238 1 1/2 X 3/8 FORGED STEEL HEX BUSHING 2

PHBFS11212 1 1/2 X 1/2 FORGED STEEL HEX BUSHING 2

PHBFS11234 1 1/2 X 3/4 FORGED STEEL HEX BUSHING 2

PHBFS1121 1 1/2 X 1 F/S HEX BUSHING 3

PHBFS112114 1 1/2 X 1 1/4 FORGED STEEL HEX BUSHING 3

PHBFS214 2 X 1/4 FORGED STL HEX BUSHING 2

PHBFS238 2 X 3/8 FORGED STL HEX BUSHING 2

PHBFS212 2 X 1/2 FORGED STL HEX BUSHING 2

PHBFS234 2 X 3/4 FORGED STL HEX BUSHING 2

PHBFS21 2 X 1 FORGED STL HEX BUSHING 2

PHBFS2114 2 X 1 1/4 FORGED STL HEX BUSHING 2

PHBFS2112 2 X 1 1/2 FORGED STL HEX BUSHING 3

PXCRB1141 1 1/4 X 1 BLK M/I EX HVY COUPLER REDUCER 2

PXCRB112114 1 1/2 X 1 1/4 BLK M/I EX HVY COUPLER REDUCER 2

PXCRB2112 2 X 1 1/2 BLK M/I EX HVY COUPLER REDUCER 2

VBI114 1-1/4 600# WOG BRONZE THRD  BALL VALVE 1

VBI112 1-1/2 600# WOG BRONZE BALL VALVE THRD 1

VBI2 2" 600# WOG BRONZE BALL VALVE, THRD, YELLOW HANDLE 1

24BIN 24 OPENING BIN 1

42BIN 42 OPENING BIN 1

ABPXH1142

99



AETLW

PART NO. DESCRIPTION QTY

WETL3 #3 EXTERNAL TOOTH LOCK WASHER 100

WETL4 #4 EXTERNAL TOOTH LOCK WASHER 100

WETL5 #5 EXTERNAL TOOTH LOCK WASHER 100

WETL6 #6 EXTERNAL TOOTH LOCK WASHER 100

WETL8 #8 EXTERNAL TOOTH LOCK WASHER 100

WETL10 #10 EXTERNAL TOOTH LOCK WASHER 100

WETL14 1/4 EXTERNAL TOOTH LOCK WASHER 100

WETL516 5/16 EXTERNAL TOOTH LOCK WASHER 100

WETL38 3/8 EXTERNAL TOOTH LOCK WASHER 100

WETL716 7/16 EXTERNAL TOOTH LOCK WASHER 100

WETL12 1/2 EXTERNAL TOOTH LOCK WASHER 100

WETL916 9/16 EXTERNAL TOOTH LOCK WASHER 25

WETL58 5/8 EXTERNAL TOOTH LOCK WASHER 50

WETL34 3/4 EXTERNAL TOOTH LOCK WASHER 25

WETL78 7/8 EXTERNAL TOOTH LOCK WASHER 15

WETL1 1 EXTERNAL TOOTH LOCK WASHER 15

24DRAWER 24 COMPARTMENT DRAWER 1

100



AFAGC

PART NO. DESCRIPTION QTY

FAGC1 AGC 1 AMP GLASS FUSE 20

FAGC112 AGC 1 1/2 AMP GLASS FUSE 20

FAGC2 AGC 2 AMP GLASS FUSE 20

FAGC212 AGC 2 1/2 AMP GLASS FUSE 20

FAGC3 AGC 3 AMP GLASS FUSE 20

FAGC4 AGC 4 AMP GLASS FUSE 20

FAGC5 AGC 5 AMP GLASS FUSE 20

FAGC6 AGC 6 AMP GLASS FUSE 20

FAGC712 AGC 7 1/2 AMP GLASS FUSE 20

FAGC10 AGC 10 AMP GLASS FUSE 20

FAGC15 AGC 15 AMP GLASS FUSE 20

FAGC20 AGC 20 AMP GLASS FUSE 20

FAGC25 AGC 25 AMP GLASS FUSE 20

FAGC30 AGC 30 AMP GLASS FUSE 20

24DRAWER 24 COMPARTMENT DRAWER 1

101



AFAGCATC
PART NO. DESCRIPTION QTY

FAGC1 AGC 1 AMP GLASS FUSE 10

FAGC112 AGC 1 1/2 AMP GLASS FUSE 10

FAGC2 AGC 2 AMP GLASS FUSE 10

FAGC212 AGC 2 1/2 AMP GLASS FUSE 10

FAGC3 AGC 3 AMP GLASS FUSE 10

FAGC4 AGC 4 AMP GLASS FUSE 10

FAGC5 AGC 5 AMP GLASS FUSE 10

FAGC6 AGC 6 AMP GLASS FUSE 10

FAGC712 AGC 7 1/2 AMP GLASS FUSE 10

FAGC10 AGC 10 AMP GLASS FUSE 10

FAGC15 AGC 15 AMP GLASS FUSE 10

FAGC20 AGC 20 AMP GLASS FUSE 10

FAGC25 AGC 25 AMP GLASS FUSE 10

FAGC30 AGC 30 AMP GLASS FUSE 10

FATC3 ATC 3 AMP PLUG IN FUSE 10

FATC4 ATC 4 AMP PLUG IN FUSE 10

FATC5 ATC 5 AMP PLUG IN FUSE 10

FATC712 ATC 7 1/2 AMP PLUG IN FUSE 10

FATC10 ATC 10 AMP PLUG IN FUSE 10

FATC15 ATC 15 AMP PLUG IN FUSE 10

FATC20 ATC 20 AMP PLUG IN FUSE 10

FATC25 ATC 25 AMP PLUG IN FUSE 10

FATC30 ATC 30 AMP PLUG IN FUSE 10

24DRAWER 24 COMPARTMENT DRAWER 1

102



AFTA

PART NO. DESCRIPTION QTY

ATF316114 3/16 X 1 1/4 FLAT HD TAPPER ANCHOR 100

ATF316134 3/16 X 1 3/4 FLAT HD TAPPER ANCHOR 100

ATF316214 3/16 X 2 1/4 FLAT HD TAPPER ANCHOR 50

ATF316234 3/16 X 2 3/4 FLAT HD TAPPER ANCHOR 50

ATF316314 3/16 X 3 1/4 FLAT HD TAPPER ANCHOR 50

ATF316334 3/16 X 3 3/4 FLAT HD TAPPER ANCHOR 25

ATF14114 1/4 X 1 1/4 FLAT HD TAPPER ANCHOR 100

ATF14134 1/4 X 1 3/4 FLAT HD TAPPER ANCHOR 100

ATF14214 1/4 X 2 1/4 FLAT HD TAPPER ANCHOR 50

ATF14234 1/4 X 2 3/4 FLAT HD TAPPER ANCHOR 50

ATF14314 1/4 X 3 1/4 FLAT HD TAPPER ANCHOR 25

ATF14334 1/4 X 3 3/4 FLAT HD TAPPER ANCHOR 25

ADJDRAWER ADJUSTABLE DRAWER 1

103



PART NO. DESCRIPTION QTY

PNG114C 1 1/4 X CLOSE STD GALV NIPPLE 4

PNG1142 1 1/4 X 2 STD GALV NIPPLE 3

PNG1143 1 1/4 X 3 STD GALV NIPPLE 3

PNG1144 1 1/4 X 4 STD GALV NIPPLE 2

PNG1145 1 1/4 X 5 STD GALV NIPPLE 2

PNG1146 1 1/4 X 6 STD GALV NIPPLE 2

PNG112C 1 1/2 X CLOSE STD GALV NIPPLE 3

PNG1122 1 1/2 X 2 STD GALV NIPPLE 2

PNG1123 1 1/2 X 3 STD GALV NIPPLE 2

PNG1124 1 1/2 X 4 STD GALV NIPPLE 2

PNG1125 1 1/2 X 5 STD GALV NIPPLE 2

PNG1126 1 1/2 X 6 STD GALV NIPPLE 2

PNG2C 2 X CLOSE STD GALV NIPPLE 3

PNG2212 2 X 2 1/2 STD GALV NIPPLE 2

PNG23 2 X 3 STD GALV NIPPLE 2

PNG24 2 X 4 STD GALV NIPPLE 2

PNG25 2 X 5 STD GALV NIPPLE 2

PNG26 2 X 6 STD GALV NIPPLE 2

PHBG1141 1 1/4 X 1 GALV M/I  HEX BUSHING 3

PHBG11434 1 1/4 X 3/4 GALV M/I HEX BUSHING 2

PHBG11412 1 1/4 X 1/2 GALV M/I HEX BUSHING 2

PHBG11438 1 1/4 X 3/8 GALV M/I HEX BUSHING 2

PHBG11414 1 1/4 X 1/4 GALV M/I HEX BUSHING 2

PHBG112114 1 1/2 X 1 1/4 GALV M/I  HEX BUSHING 3

PHBG1121 1 1/2 X 1 GALV M/I HEX BUSHING 2

PHBG11234 1 1/2 X 3/4 GALV M/I HEX BUSHING 2

PHBG11212 1 1/2 X 1/2 GALV M/I HEX BUSHING 2

PHBG11238 1 1/2 X 3/8 GALV M/I HEX BUSHING 1

PHBG11214 1 1/2 X 1/4 GALV M/I HEX BUSHING 1

CONTINUE

AGP1142S

104



AGP1142S
PHBG2112 2 X 1 1/2 GALV M/I   HEX BUSHING 2

PHBG2114 2 X 1 1/4 GALV M/I HEX BUSHING 2

PHBG21 2 X 1 GALV M/I HEX BUSHING 2

PHBG234 2 X 3/4 GALV M/I HEX BUSHING 1

PHBG212 2 X 1/2 GALV M/I HEX BUSHING 1

PHBG238 2 X 3/8 GALV C/I HEX BUSHING 1

PEG11490 1 1/4 GALV M/I   90 ELBOW 2

PEG11290 1 1/2 GALV M/I 90 ELBOW 2

PEG290 2 GALV M/I  90 ELBOW 2

PEG11445 1 1/4 GALV M/I  45 ELBOW 2

PEG11245 1 1/2 GALV M/I 45 ELBOW 2

PEG245 2 GALV M/I 45 ELBOW 1

PSEG11490 1 1/4 GALV M/I  90 STREET ELBOW 2

PSEG11290 1 1/2 GALV M/I  90 STREET ELBOW 2

PSEG290 2 GALV M/I 90 STREET ELBOW 1

PCG114 1 1/4 GALV STEEL COUPLING, STD MERCHANT 3

PCG112 1 1/2 GALV STEEL COUPLING, STD MERCHANT 2

PCG2 2 GALV STEEL COUPLING, STD MERCHANT 2

PSPG114 1 1/4"  GALV CI CORED SQ HD PLUG 3

PSPG112 1 1/2 " GALV CI CORED SQ HD PLUG 2

PSPG2 2"  GALV CI CORED SQ HD PLUG 2

PTG114 1 1/4 GALV M/I TEE 2

PTG112 1 1/2 GALV M/I  TEE 2

PTG2 2 GALV M/I  TEE 1

PCPG114 1 1/4 GALV M/I CAP 2

PCPG112 1 1/2 GALV M/I CAP 2

PCPG2 2" GALV M/I CAP 2

PUG114 1 1/4 GALV M/I 150# UNION 1

PUG112 1 1/2 GALV M/I 150# UNION 1

PUG2 2" GALV M/I 150# UNION 1

24BIN 24 OPENING BIN 1

42BIN 42 OPENING BIN 1

105



AGP141
PART NO. DESCRIPTION QTY

PNG14C 1/4 X CLOSE STD GALV NIPPLE 10

PNG14112 1/4 X 1 1/2 STD GALV NIPPLE 10

PNG142 1/4 X 2 STD GALV NIPPLE 10

PNG14212 1/4 X 2 1/2 STD GALV NIPPLE 10

PNG143 1/4 X 3 STD GALV NIPPLE 10

PNG144 1/4 X 4 STD GALV NIPPLE 6

PNG145 1/4 X 5 STD GALV NIPPLE 6

PNG146 1/4 X 6 STD GALV NIPPLE 6

PNG38C 3/8 X CLOSE STD GALV NIPPLE 10

PNG38112 3/8 X 1 1/2 STD GALV NIPPLE 10

PNG382 3/8 X 2 STD GALV NIPPLE 10

PNG38212 3/8 X 2 1/2 STD GALV NIPPLE 10

PNG383 3/8 X 3 STD GALV NIPPLE 10

PNG384 3/8 X 4 STD GALV NIPPLE 6

PNG385 3/8 X 5 STD GALV NIPPLE 6

PNG386 3/8 X 6 STD GALV NIPPLE 6

PNG12C 1/2 X CLOSE STD GALV NIPPLE 10

PNG12112 1/2 X 1 1/2  STD GALV NIPPLE 10

PNG122 1/2 X 2 STD GALV NIPPLE 10

PNG12212 1/2 X 2 1/2 STD GALV NIPPLE 10

PNG123 1/2 X 3 STD GALV NIPPLE 10

PNG124 1/2 X 4 STD GALV NIPPLE 6

PNG125 1/2 X 5 STD GALV NIPPLE 6

PNG126 1/2 X 6 STD GALV NIPPLE 6

PNG34C 3/4 X CLOSE STD GALV NIPPLE 10

PNG34112 3/4 X 1 1/2 STD GALV NIPPLE 10

PNG342 3/4 X 2 STD GALV NIPPLE 10

PNG34212 3/4 X 2 1/2 STD GALV NIPPLE 10

PNG343 3/4 X 3 STD GALV NIPPLE 10

PNG344 3/4 X 4 STD GALV NIPPLE 6

PNG345 3/4 X 5 STD GALV NIPPLE 6

PNG346 3/4 X 6 STD GALV NIPPLE 5

PNG1C 1 X CLOSE STD GALV NIPPLE 5

PNG12 1 X 2  STD GALV NIPPLE 5

PNG1212 1 X 2 1/2 STD GALV NIPPLE 5

CONTINUE

106



AGP141
PNG13 1 X 3 STD GALV NIPPLE 5

PNG1312 1 X 3 1/2 STD GALV NIPPLE 4

PNG14 1 X 4 STD GALV NIPPLE 4

PNG15 1 X 5  STD GALV NIPPLE 4

PNG16 1 X 6 STD GALV NIPPLE 4

PHBG1418 1/4 X 1/8 GALV  STEEL HEX BUSHING 10

PHBG3814 3/8 X 1/4 GALV STEEL HEX BUSHING 10

PHBG3818 3/8 X 1/8 GALV STEEL HEX BUSHING 10

PHBG1238 1/2 X 3/8 GALV STEEL HEX BUSHING 10

PHBG1214 1/2 X 1/4 GALV STEEL HEX BUSHING 10

PHBG1218 1/2 X 1/8 GALV STEEL HEX BUSHING 5

PHBG3412 3/4 X 1/2 GALV STEEL HEX BUSHING 10

PHBG3438 3/4 X 3/8 GALV STEEL HEX BUSHING 5

PHBG3414 3/4 X 1/4 GALV STEEL HEX BUSHING 5

PHBG3418 3/4 X 1/8 GALV STEEL HEX BUSHING 5

PHBG134 1 X 3/4 GALV M/I  HEX BUSHING 5

PHBG112 1 x 1/2 GALV M/I HEX BUSHING 3

PHBG138 1 X 3/8 GALV M/I   HEX BUSHING 2

PHBG114 1 x 1/4 GALV M/I   HEX BUSHING 2

TT12 1/2" X 260 INCH TEFLON TAPE 3

TT34520 3/4" X 520 INCH TEFLON TAPE 3

PCRG1418 1/4 X 1/8 GALV M/I  COUPLER REDUCER 2

PCRG3814 3/8 X 1/4 GALV M/I  COUPLER REDUCER 2

PCRG3818 3/8 X 1/8 GALV M/I  COUPLER REDUCER 2

PCRG1238 1/2 X 3/8 GALV M/I  COUPLER REDUCER 2

PCRG1214 1/2 X 1/4 GALV M/I COUPLER REDUCER 2

PCRG3412 3/4 X 1/2 GALV M/I  COUPLER REDUCER 2

PCRG3438 3/4 X 3/8 GALV M/I  COUPLER REDUCER 2

PCRG134 1 X 3/4 GALV M/I COUPLER REDUCER 2

PEG1490 1/4 GALV M/I  90 ELBOW 10

PEG3890 3/8 GALV M/I  90 ELBOW 10

PEG1290 1/2 GALV M/I 90 ELBOW 10

PEG3490 3/4 GALV M/I 90 ELBOW 5

PEG190 1 GALV M/I  90 ELBOW 5

PCG14 1/4 GALV STEEL COUPLING, STD MERCHANT 10

CONTINUE

107



AGP141
PCG38 3/8 GALV STEEL COUPLING, STD MERCHANT 10

PCG12 1/2 GALV STEEL COUPLING, STD MERCHANT 10

PCG34 3/4 GALV STEEL COUPLING, STD MERCHANT 5

PCG1 1 COUPLING, STD MERC GALV STEEL 5

PSPG14 1/4 GALV STL SQ HD PLUG 10

PSPG38 3/8 GALV STEEL SQ HD PLUG 10

PSPG12 1/2 GALV STEEL SQ HD PLUGS 10

PSPG34 3/4 GALV  STEEL SQ HD PLUG 5

PSPG1 1"  GALV CI CORED SQ HD PLUG 5

PTG14 1/4 GALV M/I  TEE 3

PTG38 3/8 GALV M/I  TEE 3

PTG12 1/2 GALV M/I  TEE 3

PTG34 3/4 GALV M/I  TEE 2

PTG1 1 GALV M/I TEE 2

PSEG1490 1/4 GALV M/I  90 STREET ELBOW 5

PSEG3890 3/8 GALV M/I  90 STREET ELBOW 5

PSEG1290 1/2 GALV M/I  90 STREET ELBOW 5

PSEG3490 3/4 GALV M/I 90 STREET ELBOW 5

PSEG190 1 GALV M/I 90 STREET ELBOW 3

PCPG14 1/4 GALV STEEL CAPS 10

PCPG38 3/8 GALV STEEL CAPS 10

PCPG12 1/2 GALV M/I CAP 10

PCPG34 3/4 GALV M/I CAP 5

PCPG1 1"  GALV M/I  CAP 4

PEG1445 1/4 GALV M/I 45 ELBOW 3

PEG3845 3/8 GALV M/I 45 ELBOW 3

PEG1245 1/2 GALV M/I 45 ELBOW 3

PEG3445 3/4 GALV M/I 45 ELBOW 2

PEG145 1 GALV M/I  45 ELBOW 2

PUG14 1/4 GALV M/I 150# UNION 2

PUG38 3/8 GALV M/I 150# UNION 2

PUG12 1/2 GALV M/I 150# UNION 2

PUG34 3/4 GALV M/I 150# UNION 2

PUG1 1" GALV M/I 150# UNION 1

40BIN 40 OPENING BIN 1

72BIN 72 OPENING BIN 1

108



AGR5HCS
PART NO. DESCRIPTION QTY

NFH1420Z 1/4-20 FIN HEX NUT ZINC 100

NFH51618Z 5/16-18 FIN HEX NUT ZINC 100

NFH3816Z 3/8-16 FIN HEX NUT ZINC 100

NFH71614Z 7/16-14 FIN HEX NUT ZINC 50

NFH1213Z 1/2-13 FIN HEX NUT ZINC 25

NFH91612Z 9/16-12 FIN HEX NUT ZINC 12

NFH5811Z 5/8-11 FIN HEX NUT ZINC 12

NFH3410Z 3/4-10 FIN HEX NUT ZINC 12

WFUSS14Z 1/4 USS FLAT WASHER ZINC 100

WFUSS516Z 5/16 USS FLAT WASHER ZINC 100

WFUSS38Z 3/8 USS FLAT WASHER ZINC 100

WFUSS716Z 7/16 USS FLAT WASHER ZINC 50

WFUSS12Z 1/2 USS FLAT WASHER ZINC 50

WFUSS916Z 9/16 USS FLAT WASHER ZINC 25

WFUSS58Z 5/8 USS FLAT WASHER ZINC 25

WFUSS34Z 3/4 USS FLAT WASHER ZINC 25

WL14Z 1/4 SPLIT LOCK WASHER ZINC 100

WL516Z 5/16 SPLIT LOCK WASHER ZINC 100

WL38Z 3/8 SPLIT LOCK WASHER ZINC 100

WL716Z 7/16 SPLIT LOCK WASHER ZINC 50

WL12Z 1/2 SPLIT LOCK WASHER ZINC 50

WL916Z 9/16 SPLIT LOCK WASHER ZINC 25

WL58Z 5/8 SPLIT LOCK WASHER ZINC 25

WL34Z 3/4 SPLIT LOCK WASHER ZINC 25

HCS5142012Z 1/4-20 X 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS5142034Z 1/4-20 X 3/4 NC HEX CAPSCREW GR5 ZINC 50

HCS514201Z 1/4-20 X 1 NC HEX CAP SCREW GR5 ZINC 50

HCS51420114Z 1/4-20 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 50

HCS51420112Z 1/4-20 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS514202Z 1/4-20 X 2 NC HEX CAPSCREW GR5 ZINC 25

HCS55161812Z 5/16-18 X 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS55161834Z 5/16-18 X 3/4 NC HEX CAPSCREW GR5 ZINC 50

HCS5516181Z 5/16-18 X 1 NC HEX CAPSCREW GR5 ZINC 50

HCS551618114Z 5/16-18 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 25

HCS551618112Z 5/16-18 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS5516182Z 5/16-18 X 2 NC HEX CAPSCREW GR5 ZINC 25

CONTINUE

109



AGR5HCS
HCS5381634Z 3/8-16 X 3/4 NC HEX CAPSCREW GR5 ZINC 50

HCS538161Z 3/8-16 X 1 NC HEX CAPSCREW GR5 ZINC 50

HCS53816114Z 3/8-16 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 25

HCS53816112Z 3/8-16 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS538162Z 3/8-16 X 2 NC HEX CAPSCREW GR5 ZINC 25

HCS53816212Z 3/8-16 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 20

HCS5716141Z 7/16-14 X 1 NC HEX CAPSCREW GR5 ZINC 25

HCS571614114Z 7/16-14 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 25

HCS571614112Z 7/16-14 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 20

HCS5716142Z 7/16-14 X 2 NC HEX CAPSCREW GR5 ZINC 15

HCS571614212Z 7/16-14 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 10

HCS5716143Z 7/16-14 X 3 NC HEX CAPSCREW GR5 ZINC 10

HCS512131Z 1/2-13 X 1 NC HEX CAPSCREW GR5 ZINC 20

HCS51213112Z 1/2-13 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 15

HCS512132Z 1/2-13 X 2 NC HEX CAPSCREW GR5 ZINC 10

HCS51213212Z 1/2-13 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 10

HCS512133Z 1/2-13 X 3 NC HEX CAPSCREW GR5 ZINC 5

HCS51213312Z 1/2-13 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS591612114Z 9/16-12 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 10

HCS591612112Z 9/16-12 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 10

HCS5916122Z 9/16-12 X 2 NC HEX CAPSCREW GR5 ZINC 10

HCS591612212Z 9/16-12 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS5916123Z 9/16-12 X 3 NC HEX CAPSCREW GR5 ZINC 5

HCS591612312Z 9/16-12 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS55811114Z 5/8-11 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 6

HCS55811112Z 5/8-11 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 6

HCS558112Z 5/8-11 X 2 NC HEX CAPSCREW GR5 ZINC 5

HCS55811212Z 5/8-11 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS558113Z 5/8-11 X 3 NC HEX CAPSCREW GR5 ZINC 5

HCS55811312Z 5/8-11 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS53410112Z 3/4-10 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS534102Z 3/4-10 X 2 NC HEX CAPSCREW GR5 ZINC 5

HCS53410212Z 3/4-10 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS534103Z 3/4-10 X 3 NC HEX CAPSCREW GR5 ZINC 5

HCS53410312Z 3/4-10 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS534104Z 3/4-10 X 4 NC HEX CAPSCREW GR5 ZINC 5

72BIN 72 OPENING BIN 1

110



AGR5HCS78
PART NO. DESCRIPTION QTY

NFH1420Z 1/4-20 FIN HEX NUT ZINC 100

NFH51618Z 5/16-18 FIN HEX NUT ZINC 100

NFH3816Z 3/8-16 FIN HEX NUT ZINC 100

NFH71614Z 7/16-14 FIN HEX NUT ZINC 50

NFH1213Z 1/2-13 FIN HEX NUT ZINC 25

NFH5811Z 5/8-11 FIN HEX NUT ZINC 12

NFH3410Z 3/4-10 FIN HEX NUT ZINC 12

NFH789Z 7/8-9 FIN HEX NUT ZINC 12

WFUSS14Z 1/4 USS FLAT WASHER ZINC 100

WFUSS516Z 5/16 USS FLAT WASHER ZINC 100

WFUSS38Z 3/8 USS FLAT WASHER ZINC 100

WFUSS716Z 7/16 USS FLAT WASHER ZINC 50

WFUSS12Z 1/2 USS FLAT WASHER ZINC 50

WFUSS58Z 5/8 USS FLAT WASHER ZINC 25

WFUSS34Z 3/4 USS FLAT WASHER ZINC 25

WFUSS78Z 7/8 USS FLAT WASHER ZINC 15

WL14Z 1/4 SPLIT LOCK WASHER ZINC 100

WL516Z 5/16 SPLIT LOCK WASHER ZINC 100

WL38Z 3/8 SPLIT LOCK WASHER ZINC 100

WL716Z 7/16 SPLIT LOCK WASHER ZINC 50

WL12Z 1/2 SPLIT LOCK WASHER ZINC 50

WL58Z 5/8 SPLIT LOCK WASHER ZINC 25

WL34Z 3/4 SPLIT LOCK WASHER ZINC 25

WL78Z 7/8 SPLIT LOCK WASHER ZINC 16

HCS5142012Z 1/4-20 X 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS5142034Z 1/4-20 X 3/4 NC HEX CAPSCREW GR5 ZINC 50

HCS514201Z 1/4-20 X 1 NC HEX CAP SCREW GR5 ZINC 50

HCS51420114Z 1/4-20 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 50

HCS51420112Z 1/4-20 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS514202Z 1/4-20 X 2 NC HEX CAPSCREW GR5 ZINC 25

HCS55161812Z 5/16-18 X 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS55161834Z 5/16-18 X 3/4 NC HEX CAPSCREW GR5 ZINC 50

HCS5516181Z 5/16-18 X 1 NC HEX CAPSCREW GR5 ZINC 50

HCS551618114Z 5/16-18 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 25

HCS551618112Z 5/16-18 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS5516182Z 5/16-18 X 2 NC HEX CAPSCREW GR5 ZINC 25

CONTINUE

111



AGR5HCS78
HCS5381634Z 3/8-16 X 3/4 NC HEX CAPSCREW GR5 ZINC 50

HCS538161Z 3/8-16 X 1 NC HEX CAPSCREW GR5 ZINC 50

HCS53816114Z 3/8-16 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 25

HCS53816112Z 3/8-16 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS538162Z 3/8-16 X 2 NC HEX CAPSCREW GR5 ZINC 25

HCS53816212Z 3/8-16 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS5716141Z 7/16-14 X 1 NC HEX CAPSCREW GR5 ZINC 25

HCS571614114Z 7/16-14 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 25

HCS571614112Z 7/16-14 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 20

HCS5716142Z 7/16-14 X 2 NC HEX CAPSCREW GR5 ZINC 15

HCS571614212Z 7/16-14 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 10

HCS5716143Z 7/16-14 X 3 NC HEX CAPSCREW GR5 ZINC 10

HCS512131Z 1/2-13 X 1 NC HEX CAPSCREW GR5 ZINC 20

HCS51213112Z 1/2-13 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 15

HCS512132Z 1/2-13 X 2 NC HEX CAPSCREW GR5 ZINC 10

HCS51213212Z 1/2-13 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 10

HCS512133Z 1/2-13 X 3 NC HEX CAPSCREW GR5 ZINC 5

HCS51213312Z 1/2-13 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS55811114Z 5/8-11 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 6

HCS55811112Z 5/8-11 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 6

HCS558112Z 5/8-11 X 2 NC HEX CAPSCREW GR5 ZINC 5

HCS55811212Z 5/8-11 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS558113Z 5/8-11 X 3 NC HEX CAPSCREW GR5 ZINC 5

HCS55811312Z 5/8-11 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS53410112Z 3/4-10 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS534102Z 3/4-10 X 2 NC HEX CAPSCREW GR5 ZINC 5

HCS53410212Z 3/4-10 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS534103Z 3/4-10 X 3 NC HEX CAPSCREW GR5 ZINC 5

HCS53410312Z 3/4-10 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 5

HCS534104Z 3/4-10 X 4 NC HEX CAPSCREW GR5 ZINC 5

HCS57892Z 7/8-9 X 2 NC HEX CAPSCREW GR5 ZINC 3

HCS5789212Z 7/8-9 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 3

HCS57893Z 7/8-9 X 3 NC HEX CAPSCREW GR5 ZINC 2

HCS5789312Z 7/8-9 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 2

HCS57894Z 7/8-9 X 4 NC HEX CAPSCREW GR5 ZINC 2

HCS57895Z 7/8-9 X 5 NC HEX CAPSCREW GR5 ZINC 2

72BIN 72 OPENING BIN 1

112



AGR5HCSFB

CONTINUE

PART NO. DESCRIPTION QTY

NFH1420Z 1/4-20 FIN HEX NUT ZINC 100

NFH51618Z 5/16-18 FIN HEX NUT ZINC 100

NFH3816Z 3/8-16 FIN HEX NUT ZINC 100

NFH71614Z 7/16-14 FIN HEX NUT ZINC 100

NFH1213Z 1/2-13 FIN HEX NUT ZINC 100

NFH91612Z 9/16-12 FIN HEX NUT ZINC 50

NFH5811Z 5/8-11 FIN HEX NUT ZINC 50

NFH3410Z 3/4-10 FIN HEX NUT ZINC 25

WFUSS14Z 1/4 USS FLAT WASHER ZINC 100

WFUSS516Z 5/16 USS FLAT WASHER ZINC 100

WFUSS38Z 3/8 USS FLAT WASHER ZINC 100

WFUSS716Z 7/16 USS FLAT WASHER ZINC 100

WFUSS12Z 1/2 USS FLAT WASHER ZINC 100

WFUSS916Z 9/16 USS FLAT WASHER ZINC 50

WFUSS58Z 5/8 USS FLAT WASHER ZINC 50

WFUSS34Z 3/4 USS FLAT WASHER ZINC 25

WL14Z 1/4 SPLIT LOCK WASHER ZINC 100

WL516Z 5/16 SPLIT LOCK WASHER ZINC 100

WL38Z 3/8 SPLIT LOCK WASHER ZINC 100

WL716Z 7/16 SPLIT LOCK WASHER ZINC 100

WL12Z 1/2 SPLIT LOCK WASHER ZINC 100

WL916Z 9/16 SPLIT LOCK WASHER ZINC 50

WL58Z 5/8 SPLIT LOCK WASHER ZINC 50

WL34Z 3/4 SPLIT LOCK WASHER ZINC 50

HCS5142012Z 1/4-20 X 1/2 NC HEX CAPSCREW GR5 ZINC 100

HCS5142034Z 1/4-20 X 3/4 NC HEX CAPSCREW GR5 ZINC 100

HCS514201Z 1/4-20 X 1 NC HEX CAP SCREW GR5 ZINC 100

HCS51420114Z 1/4-20 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 100

HCS51420112Z 1/4-20 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 100

HCS514202Z 1/4-20 X 2 NC HEX CAPSCREW GR5 ZINC 100

HCS55161812Z 5/16-18 X 1/2 NC HEX CAPSCREW GR5 ZINC 100

HCS55161834Z 5/16-18 X 3/4 NC HEX CAPSCREW GR5 ZINC 100

HCS5516181Z 5/16-18 X 1 NC HEX CAPSCREW GR5 ZINC 100

HCS551618114Z 5/16-18 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 100

HCS551618112Z 5/16-18 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 100

HCS5516182Z 5/16-18 X 2 NC HEX CAPSCREW GR5 ZINC 100

113



AGR5HCSFB
HCS5381634Z 3/8-16 X 3/4 NC HEX CAPSCREW GR5 ZINC 100

HCS538161Z 3/8-16 X 1 NC HEX CAPSCREW GR5 ZINC 100

HCS53816114Z 3/8-16 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 100

HCS53816112Z 3/8-16 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 100

HCS538162Z 3/8-16 X 2 NC HEX CAPSCREW GR5 ZINC 50

HCS53816212Z 3/8-16 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS5716141Z 7/16-14 X 1 NC HEX CAPSCREW GR5 ZINC 50

HCS571614114Z 7/16-14 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 50

HCS571614112Z 7/16-14 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS5716142Z 7/16-14 X 2 NC HEX CAPSCREW GR5 ZINC 50

HCS571614212Z 7/16-14 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS5716143Z 7/16-14 X 3 NC HEX CAPSCREW GR5 ZINC 25

HCS512131Z 1/2-13 X 1 NC HEX CAPSCREW GR5 ZINC 50

HCS51213112Z 1/2-13 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS512132Z 1/2-13 X 2 NC HEX CAPSCREW GR5 ZINC 25

HCS51213212Z 1/2-13 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS512133Z 1/2-13 X 3 NC HEX CAPSCREW GR5 ZINC 25

HCS51213312Z 1/2-13 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS591612114Z 9/16-12 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 25

HCS591612112Z 9/16-12 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS5916122Z 9/16-12 X 2 NC HEX CAPSCREW GR5 ZINC 25

HCS591612212Z 9/16-12 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS5916123Z 9/16-12 X 3 NC HEX CAPSCREW GR5 ZINC 25

HCS591612312Z 9/16-12 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS55811114Z 5/8-11 X 1 1/4 NC HEX CAPSCREW GR5 ZINC 25

HCS55811112Z 5/8-11 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS558112Z 5/8-11 X 2 NC HEX CAPSCREW GR5 ZINC 25

HCS55811212Z 5/8-11 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS558113Z 5/8-11 X 3 NC HEX CAPSCREW GR5 ZINC 25

HCS55811312Z 5/8-11 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS53410112Z 3/4-10 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS534102Z 3/4-10 X 2 NC HEX CAPSCREW GR5 ZINC 25

HCS53410212Z 3/4-10 X 2 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS534103Z 3/4-10 X 3 NC HEX CAPSCREW GR5 ZINC 25

HCS53410312Z 3/4-10 X 3 1/2 NC HEX CAPSCREW GR5 ZINC 20

HCS534104Z 3/4-10 X 4 NC HEX CAPSCREW GR5 ZINC 20

72BIN 72 OPENING BIN 1

114



PART NO. DESCRIPTION QTY

NFH81420Z 1/4-20 GR8 FIN HEX NUT ZINC YELLOW 100

NFH851618Z 5/16-18 GR8 FIN HEX NUT ZINC YELLOW 100

NFH83816Z 3/8-16 GR8 FIN HEX NUT ZINC YELLOW 50

NFH871614Z 7/16-14 GR8 FIN HEX NUT ZINC YELLOW 50

NFH81213Z 1/2-13 GR8 FIN HEX NUT ZINC YELLOW 25

NFH891612Z 9/16-12 GR8 FIN HEX NUT ZINC YELLOW 12

NFH85811Z 5/8-11 GR8 FIN HEX NUT ZINC YELLOW 12

NFH83410Z 3/4-10 GR8 FIN HEX NUT ZINC YELLOW 12

WFUSS814Z 1/4 GR8 USS FLAT WASHER ZY 100

WFUSS8516Z 5/16 GR8 USS FLAT WASHER ZY 100

WFUSS838Z 3/8 GR8 USS FLAT WASHER ZY 100

WFUSS8716Z 7/16 GR8 USS FLAT WASHER ZY 50

WFUSS812Z 1/2 GR8 USS FLAT WASHER ZY 50

WFUSS8916Z 9/16 GR8 USS FLAT WASHER ZY 25

WFUSS858Z 5/8 GR8 USS FLAT WASHER ZY 25

WFUSS834Z 3/4 GR8 USS FLAT WASHER ZY 25

WL814 1/4 GR8 LOCK WASHER ZY 100

WL8516 5/16 GR8 LOCK WASHER ZY 100

WL838 3/8 GR8 LOCK WASHER ZY 50

WL8716 7/16 GR8 LOCK WASHER ZY 50

WL812 1/2 GR8 LOCK WASHER ZY 50

WL8916 9/16 GR8 LOCK WASHER ZY 25

WL858 5/8 GR8 LOCK WASHER ZY 25

WL834 3/4 GR8 LOCK WASHER ZY 25

HCS8142012Z 1/4-20 X 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 50

HCS8142034Z 1/4-20 X 3/4 NC HEX CAPSCREW GR8 ZINC YELLOW 50

HCS814201Z 1/4-20 X 1 NC HEX CAPSCREW GR8 ZINC YELLOW 50

HCS81420114Z 1/4-20 X 1 1/4 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS81420112Z 1/4-20 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS814202Z 1/4-20 X 2 NC HEX CAP SCREW GR8 ZINC YELLOW 25

HCS85161812Z 5/16-18 X 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 50

HCS85161834Z 5/16-18 X 3/4 NC HEX CAPSCREW GR8 ZINC YELLOW 50

HCS8516181Z 5/16-18 X 1 NC HEX CAPSCREW GR8 ZINC YELLOW 50

HCS851618114Z 5/16-18 X 1 1/4 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS851618112Z 5/16-18 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS8516182Z 5/16-18 X 2 NC HEX CAPSCREW GR8  ZINC YELLOW 25

AGR8HCS

CONTINUE

115



AGR8HCS
HCS8381634Z 3/8-16 X 3/4 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS838161Z 3/8-16 X 1 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS83816114Z 3/8-16 X 1 1/4 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS83816112Z 3/8-16 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS838162Z 3/8-16 X 2 NC HEX CAPSCREW GR8 ZINC YELLOW 20

HCS83816212Z 3/8-16 X 2 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 20

HCS838163Z 3/8-16 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 20

HCS8716141Z 7/16-14 X 1 NC HEX CAPSCREW GR8 ZINC YELLOW 20

HCS871614114Z 7/16-14 X 1 1/4 NC HEX CAPSCREW GR8 ZINC YELLOW 20

HCS871614112Z 7/16-14 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 15

HCS8716142Z 7/16-14 X 2 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS8716143Z 7/16-14 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS812131Z 1/2-13 X 1 NC HEX CAPSCREW GR8 ZINC YELLOW 15

HCS81213112Z 1/2-13 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 15

HCS812132Z 1/2-13 X 2 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS81213212Z 1/2-13 X 2 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS812133Z 1/2-13 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS81213312Z 1/2-13 X 3 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS891612114Z 9/16-12 X 1 1/4 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS891612112Z 9/16-12 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS8916122Z 9/16-12 X 2 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS891612212Z 9/16-12 X 2 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS8916123Z 9/16-12 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS891612312Z 9/16-12 X 3 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS85811114Z 5/8-11 X 1 1/4 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS85811112Z 5/8-11 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS858112Z 5/8-11 X 2 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS85811212Z 5/8-11 X 2 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS858113Z 5/8-11 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS85811312Z 5/8-11 X 3 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS83410112Z 3/4-10 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS834102Z 3/4-10 X 2 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS83410212Z 3/4-10 X 2 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS834103Z 3/4-10 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS83410312Z 3/4-10 X 3 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS834104Z 3/4-10 X 4 NC HEX CAPSCREW GR8 ZINC YELLOW 4

72BIN 72 OPENING BIN 1

116



AGRHCSSAE
PART NO. DESCRIPTION QTY

NFH81428 1/4-28 NF GR8 FIN HEX NUT ZINC YELLOW 100

NFH851624 5/16-24 NF GR8 FIN HEX NUT ZINC YELLOW 100

NFH83824 3/8-24 NF GR8 FIN HEX NUT ZINC YELLOW 50

NFH871620 7/16-20 NF GR8 FIN HEX NUT ZINC YELLOW 50

NFH81220 1/2-20 NF GR8 FIN HEX NUT ZINC YELLOW 25

NFH891618 9/16-18 NF GR8 FIN HEX NUT ZINC YELLOW 12

NFH85818 5/8-18 NF GR8 FIN HEX NUT ZINC YELLOW 12

NFH83416 3/4-16 NF GR8 FIN HEX NUT ZINC YELLOW 12

WFSAE814 1/4 GR8 SAE FLAT WASHER ZY 100

WFSAE8516 5/16 GR8 SAE FLAT WASHER ZY 100

WFSAE838 3/8 GR8 SAE FLAT WASHER ZY 100

WFSAE8716 7/16 GR8 SAE FLAT WASHER ZY 50

WFSAE812 1/2 GR8 SAE FLAT WASHER ZY 50

WFSAE8916 9/16 GR8 SAE FLAT WASHER ZY 25

WFSAE858 5/8 GR8 SAE FLAT WASHER ZY 25

WFSAE834 3/4 GR8 SAE FLAT WASHER ZY 25

WL814 1/4 GR8 LOCK WASHER ZY 100

WL8516 5/16 GR8 LOCK WASHER ZY 100

WL838 3/8 GR8 LOCK WASHER ZY 100

WL8716 7/16 GR8 LOCK WASHER ZY 50

WL812 1/2 GR8 LOCK WASHER ZY 50

WL8916 9/16 GR8 LOCK WASHER ZY 25

WL858 5/8 GR8 LOCK WASHER ZY 25

WL834 3/4 GR8 LOCK WASHER ZY 25

HCS8142812Z 1/4-28 X 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 50

HCS8142834Z 1/4-28 X 3/4 NF HEX CAPSCREW GR8 ZINC YELLOW 50

HCS814281Z 1/4-28 X 1 NF HEX CAPSCREW GR8 ZINC YELLOW 40

HCS81428114Z 1/4-28 X 1 1/4 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS81428112Z 1/4-28 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 20

HCS814282Z 1/4-28 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 20

HCS85162412Z 5/16-24 X 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 50

HCS85162434Z 5/16-24 X 3/4 NF HEX CAPSCREW GR8 ZINC YELLOW 50

HCS8516241Z 5/16-24 X 1 NF HEX CAPSCREW GR8 ZINC YELLOW 40

HCS851624114Z 5/16-24 X 1 1/4 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS851624112Z 5/16-24 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 20

HCS8516242Z 5/16-24 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 20

CONTINUE

117



AGRHCSSAE
HCS8382434Z 3/8-24 X 3/4 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS838241Z 3/8-24 X 1 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS83824114Z 3/8-24 X 1 1/4 NF HEX CAPSCREW GR8 ZINC YELLOW 20

HCS83824112Z 3/8-24 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 20

HCS838242Z 3/8-24 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 15

HCS83824212Z 3/8-24 X 2 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 15

HCS8716201Z 7/16-20 X 1 NF HEX CAPSCREW GR8 ZINC YELLOW 20

HCS871620114Z 7/16-20 X 1 1/4 NF HEX CAPSCREW GR8 ZINC YELLOW 20

HCS871620112Z 7/16-20 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 15

HCS8716202Z 7/16-20 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 10

HCS871620212Z 7/16-20 X 2 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 10

HCS8716203Z 7/16-20 X 3 NF HEX CAPSCREW GR8 ZINC YELLOW 10

HCS812201Z 1/2-20 X 1 NF HEX CAPSCREW GR8 ZINC YELLOW 15

HCS81220112Z 1/2-20 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 15

HCS812202Z 1/2-20 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 10

HCS81220212Z 1/2-20 X 2 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 10

HCS812203Z 1/2-20 X 3 NF HEX CAPSCREW GR8 ZINC YELLOW 5

HCS81220312Z 1/2-20 X 3 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 5

HCS891618114Z 9/16-18 X 1 1/4 NF HEX CAPSCREW GR8 ZINC YELLOW 8

HCS891618112Z 9/16-18 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 8

HCS8916182Z 9/16-18 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 5

HCS891618212Z 9/16-18 X 2 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 5

HCS8916183Z 9/16-18 X 3 NF HEX CAPSCREW GR8 ZINC YELLOW 4

HCS891618312Z 9/16-18 X 3 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 4

HCS85818114Z 5/8-18 X 1 1/4 NF HEX CAPSCREW GR8 ZINC YELLOW 5

HCS85818112Z 5/8-18 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 5

HCS858182Z 5/8-18 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 4

HCS85818212Z 5/8-18 X 2 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 4

HCS858183Z 5/8-18 X 3 NF HEX CAPSCREW GR8 ZINC YELLOW 3

HCS85818312Z 5/8-18 X 3 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 3

HCS83416112Z 3/4-16 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 4

HCS834162Z 3/4-16 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 4

HCS83416212Z 3/4-16 X 2 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 4

HCS834163Z 3/4-16 X 3 NF HEX CAPSCREW GR8 ZINC YELLOW 3

HCS83416312Z 3/4-16 X 3 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 3

HCS834164Z 3/4-16 X 4 NF HEX CAPSCREW GR8 ZINC YELLOW 3

72BIN 72 OPENING BIN 1

118



PART NO. DESCRIPTION QTY

NFH1420Z 1/4-20 FIN HEX NUT ZINC 100

NFH51618Z 5/16-18 FIN HEX NUT ZINC 100

NFH3816Z 3/8-16 FIN HEX NUT ZINC 100

NFH71614Z 7/16-14 FIN HEX NUT ZINC 100

NFH1213Z 1/2-13 FIN HEX NUT ZINC 100

WFUSS14Z 1/4 USS FLAT WASHER ZINC 100

WFUSS516Z 5/16 USS FLAT WASHER ZINC 100

WFUSS38Z 3/8 USS FLAT WASHER ZINC 100

WFUSS716Z 7/16 USS FLAT WASHER ZINC 100

WFUSS12Z 1/2 USS FLAT WASHER ZINC 100

WL14Z 1/4 SPLIT LOCK WASHER ZINC 100

WL516Z 5/16 SPLIT LOCK WASHER ZINC 100

WL38Z 3/8 SPLIT LOCK WASHER ZINC 100

WL716Z 7/16 SPLIT LOCK WASHER ZINC 100

WL12Z 1/2 SPLIT LOCK WASHER ZINC 100

HCS5142012Z 1/4-20 X 1/2 NC HEX CAPSCREW GR5 ZINC 100

HCS514201Z 1/4-20 X 1 NC HEX CAP SCREW GR5 ZINC 100

HCS51420112Z 1/4-20 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS514202Z 1/4-20 X 2 NC HEX CAPSCREW GR5 ZINC 50

HCS514203Z 1/4-20 X 3 NC HEX CAPSCREW GR5 ZINC 25

HCS55161812Z 5/16-18 X 1/2 NC HEX CAPSCREW GR5 ZINC 100

AHCS540

CONTINUE

119



AHCS540

HCS5516181Z 5/16-18 X 1 NC HEX CAPSCREW GR5 ZINC 100

HCS551618112Z 5/16-18 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS5516182Z 5/16-18 X 2 NC HEX CAPSCREW GR5 ZINC 50

HCS5516183Z 5/16-18 X 3 NC HEX CAPSCREW GR5 ZINC 25

HCS538161Z 3/8-16 X 1 NC HEX CAPSCREW GR5 ZINC 100

HCS53816112Z 3/8-16 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 50

HCS538162Z 3/8-16 X 2 NC HEX CAPSCREW GR5 ZINC 50

HCS538163Z 3/8-16 X 3 NC HEX CAPSCREW GR5 ZINC 25

HCS538164Z 3/8-16 X 4 NC HEX CAPSCREW GR5 ZINC 10

HCS5716141Z 7/16-14 X 1 NC HEX CAPSCREW GR5 ZINC 25

HCS571614112Z 7/16-14 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS5716142Z 7/16-14 X 2 NC HEX CAPSCREW GR5 ZINC 25

HCS5716143Z 7/16-14 X 3 NC HEX CAPSCREW GR5 ZINC 10

HCS5716144Z 7/16-14 X 4 NC HEX CAPSCREW GR5 ZINC 10

HCS512131Z 1/2-13 X 1 NC HEX CAPSCREW GR5 ZINC 25

HCS51213112Z 1/2-13 X 1 1/2 NC HEX CAPSCREW GR5 ZINC 25

HCS512132Z 1/2-13 X 2 NC HEX CAPSCREW GR5 ZINC 25

HCS512133Z 1/2-13 X 3 NC HEX CAPSCREW GR5 ZINC 10

HCS512134Z 1/2-13 X 4 NC HEX CAPSCREW GR5 ZINC 10

40BIN 40 OPENING BIN 1

120



PART NO. DESCRIPTION QTY

NFH81420Z 1/4-20 GR8 FIN HEX NUT ZINC YELLOW 100

NFH851618Z 5/16-18 GR8 FIN HEX NUT ZINC YELLOW 100

NFH83816Z 3/8-16 GR8 FIN HEX NUT ZINC YELLOW 100

NFH871614Z 7/16-14 GR8 FIN HEX NUT ZINC YELLOW 100

NFH81213Z 1/2-13 GR8 FIN HEX NUT ZINC YELLOW 100

WFSAE814 1/4 GR8 SAE FLAT WASHER ZY 100

WFSAE8516 5/16 GR8 SAE FLAT WASHER ZY 100

WFSAE838 3/8 GR8 SAE FLAT WASHER ZY 100

WFSAE8716 7/16 GR8 SAE FLAT WASHER ZY 100

WFSAE812 1/2 GR8 SAE FLAT WASHER ZY 100

WL814 1/4 GR8 LOCK WASHER ZY 100

WL8516 5/16 GR8 LOCK WASHER ZY 100

WL838 3/8 GR8 LOCK WASHER ZY 100

WL8716 7/16 GR8 LOCK WASHER ZY 100

WL812 1/2 GR8 LOCK WASHER ZY 100

HCS8142012Z 1/4-20 X 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 100

HCS814201Z 1/4-20 X 1 NC HEX CAPSCREW GR8 ZINC YELLOW 100

HCS81420112Z 1/4-20 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 50

HCS814202Z 1/4-20 X 2 NC HEX CAP SCREW GR8 ZINC YELLOW 50

HCS814203Z 1/4-20 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS85161812Z 5/16-18 X 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 100

AHCS840

CONTINUE

121



AHCS840

HCS8516181Z 5/16-18 X 1 NC HEX CAPSCREW GR8 ZINC YELLOW 100

HCS851618112Z 5/16-18 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 50

HCS8516182Z 5/16-18 X 2 NC HEX CAPSCREW GR8  ZINC YELLOW 50

HCS8516183Z 5/16-18 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS838161Z 3/8-16 X 1 NC HEX CAPSCREW GR8 ZINC YELLOW 100

HCS83816112Z 3/8-16 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 50

HCS838162Z 3/8-16 X 2 NC HEX CAPSCREW GR8 ZINC YELLOW 50

HCS838163Z 3/8-16 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS838164Z 3/8-16 X 4 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS8716141Z 7/16-14 X 1 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS871614112Z 7/16-14 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS8716142Z 7/16-14 X 2 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS8716143Z 7/16-14 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS8716144Z 7/16-14 X 4 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS812131Z 1/2-13 X 1 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS81213112Z 1/2-13 X 1 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS812132Z 1/2-13 X 2 NC HEX CAPSCREW GR8 ZINC YELLOW 25

HCS812133Z 1/2-13 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS812134Z 1/2-13 X 4 NC HEX CAPSCREW GR8 ZINC YELLOW 10

40BIN 40 OPENING BIN 1

122



AHCS8L
PART NO. DESCRIPTION QTY

HCS81420212Z 1/4-20 X 2 1/2 NC HEX CAP SCREW GR8 ZINC YELLOW 20

HCS814203Z 1/4-20 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 20

HCS814204Z 1/4-20 X 4 NC HEX CAPSCREW GR8 ZINC YELLOW 15

HCS814205Z 1/4-20 X 5 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS814206Z 1/4-20 X 6 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS851618212Z 5/16-18 X 2 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 20

HCS8516183Z 5/16-18 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 20

HCS8516184Z 5/16-18 X 4 NC HEX CAPSCREW GR8 ZINC YELLOW 15

HCS8516185Z 5/16-18 X 5 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS8516186Z 5/16-18 X 6 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS838163Z 3/8-16 X 3 NC HEX CAPSCREW GR8 ZINC YELLOW 20

HCS83816312Z 3/8-16 X 3 1/2 NC HEX CAPSCREW GR8  ZINC YELLOW 20

HCS838164Z 3/8-16 X 4 NC HEX CAPSCREW GR8 ZINC YELLOW 15

HCS838165Z 3/8-16 X 5 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS838166Z 3/8-16 X 6 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS871614312Z 7/16-14 X 3 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS8716144Z 7/16-14 X 4 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS871614412Z 7/16-14 X 4 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 10

HCS8716145Z 7/16-14 X 5 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS8716146Z 7/16-14 X 6 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS812134Z 1/2-13 X 4 NC HEX CAPSCREW GR8 ZINC YELLOW 5

CONTINUE

123



HCS81213412Z 1/2-13 X 4 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS812135Z 1/2-13 X 5 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS81213512Z 1/2-13 X 5 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS812136Z 1/2-13 X 6 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS8916124Z 9/16-12 X 4 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS891612412Z 9/16-12 X 4 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS8916125Z 9/16-12 X 5 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS891612512Z 9/16-12 X 5 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 5

HCS8916126Z 9/16-12 X 6 NC HEX CAPSCREW GR 8 ZINC YELLOW 5

HCS858114Z 5/8-11 X 4 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS85811412Z 5/8-11 X 4 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS858115Z 5/8-11 X 5 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS85811512Z 5/8-11 X 5 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS858116Z 5/8-11 X 6 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS83410412Z 3/4-10 X 4 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS834105Z 3/4-10 X 5 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS83410512Z 3/4-10 X 5 1/2 NC HEX CAPSCREW GR8 ZINC YELLOW 4

HCS834106Z 3/4-10 X 6 NC HEX CAPSCREW GR8 ZINC YELLOW 4

40BIN 40 OPENING BIN 1

AHCS8L

124



AHCS8NF40
PART NO. DESCRIPTION QTY

NFH81428 1/4-28 NF GR8 FIN HEX NUT ZINC YELLOW 100

NFH851624 5/16-24 NF GR8 FIN HEX NUT ZINC YELLOW 100

NFH83824 3/8-24 NF GR8 FIN HEX NUT ZINC YELLOW 100

NFH871620 7/16-20 NF GR8 FIN HEX NUT ZINC YELLOW 100

NFH81220 1/2-20 NF GR8 FIN HEX NUT ZINC YELLOW 100

WFSAE814 1/4 GR8 SAE FLAT WASHER ZY 100

WFSAE8516 5/16 GR8 SAE FLAT WASHER ZY 100

WFSAE838 3/8 GR8 SAE FLAT WASHER ZY 100

WFSAE8716 7/16 GR8 SAE FLAT WASHER ZY 100

WFSAE812 1/2 GR8 SAE FLAT WASHER ZY 100

WL814 1/4 GR8 LOCK WASHER ZY 100

WL8516 5/16 GR8 LOCK WASHER ZY 100

WL838 3/8 GR8 LOCK WASHER ZY 100

WL8716 7/16 GR8 LOCK WASHER ZY 100

WL812 1/2 GR8 LOCK WASHER ZY 100

HCS8142812Z 1/4-28 X 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 100

HCS814281Z 1/4-28 X 1 NF HEX CAPSCREW GR8 ZINC YELLOW 100

HCS81428112Z 1/4-28 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 50

HCS814282Z 1/4-28 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 50

HCS814283Z 1/4-28 X 3 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS85162412Z 5/16-24 X 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 100

CONTINUE

125



AHCS8NF40

HCS8516241Z 5/16-24 X 1 NF HEX CAPSCREW GR8 ZINC YELLOW 100

HCS851624112Z 5/16-24 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 50

HCS8516242Z 5/16-24 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 50

HCS8516243Z 5/16-24 X 3 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS838241Z 3/8-24 X 1 NF HEX CAPSCREW GR8 ZINC YELLOW 100

HCS83824112Z 3/8-24 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 50

HCS838242Z 3/8-24 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 50

HCS838243Z 3/8-24 X 3 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS838244Z 3/8-24 X 4 NF HEX CAPSCREW GR8 ZINC YELLOW 10

HCS8716201Z 7/16-20 X 1 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS871620112Z 7/16-20 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS8716202Z 7/16-20 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS8716203Z 7/16-20 X 3 NF HEX CAPSCREW GR8 ZINC YELLOW 10

HCS8716204Z 7/16-20 X 4 NF HEX CAPSCREW GR8 ZINC YELLOW 10

HCS812201Z 1/2-20 X 1 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS81220112Z 1/2-20 X 1 1/2 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS812202Z 1/2-20 X 2 NF HEX CAPSCREW GR8 ZINC YELLOW 25

HCS812203Z 1/2-20 X 3 NF HEX CAPSCREW GR8 ZINC YELLOW 10

HCS812204Z 1/2-20 X 4 NF HEX CAPSCREW GR8 ZINC YELLOW 10

40BIN 40 OPENING BIN 1

126



AHDEL

PART NO. DESCRIPTION QTY

ELB8 #8 RED HEAVY DUTY BUTT CONNECTOR 10

ELB6 #6 BLUE HEAVY DUTY BUTT CONNECTOR 10

ELB4 #4 GREY HEAVY DUTY BUTT CONNECTOR 10

ELB2 #2 BROWN HEAVY DUTY BUTT CONNECTOR 10

ELB1 #1 GREEN HEAVY DUTY BUTT CONNECTOR 10

ELB10 1/0 PINK HEAVY DUTY BUTT CONNECTOR 10

ELB20 2/0 BLACK HEAVY DUTY BUTT CONNECTORS 10

ELR810 #8 X 10 HEAVY DUTY RED ELECTRICAL LUG 10

ELR814 #8 X 1/4 HEAVY DUTY  ELECTRICAL LUG 10

ELB614 #6 X 1/4 HEAVY DUTY BLUE ELECTRICAL LUG 10

ELB638 #6 X 3/8 HEAVY DUTY ELECTRICAL LUG 10

ELG414 #4 X 1/4 HEAVY DUTY GREY ELECTRICAL LUG 10

ELG438 #4 X 3/8 HEAVY DUTY GREY ELECTRICAL LUG 10

ELB214 #2 X 1/4 HEAVY DUTY BROWN ELECTRICAL LUG 10

ELB238 #2 X 3/8 HEAVY DUTY ELECTRICAL LUG 10

ELG114 #1 X 1/4 HEAVY DUTY GREEN ELECTRICAL LUG 10

ELG138 #1 X 3/8 HEAVY DUTY GREEN ELECTRICAL LUG 10

ELG112 #1 X 1/2 HEAVY DUTY GREEN ELECTRICAL LUG 10

ELP1014 1/0 X 1/4" HEAVY DUTY PINK ELECTRICAL LUG 10

ELP1038 1/0 X 3/8 HEAVY DUTY PINK ELECTRICAL LUG 10

ELP1012 1/0 X 1/2 HEAVY DUTY PINK ELECTRICAL LUG 10

ELB2014 2/0 X 1/4 HEAVY DUTY BLACK ELECTRICAL LUG 10

ELB2038 2/0 X 3/8 HEAVY DUTY BLACK ELECTRICAL LUG 10

ELB2012 2/0 X 1/2 HEAVY DUTY BLACK ELECTRICAL LUG 10

24DRAWER 24 COMPARTMENT DRAWER 1

127



AHPC
PART NO. DESCRIPTION QTY

WW231 .028 X .600 HAIR PIN CLIP 50

WW221 .047 X 19/32 HAIR PIN CLIP 50

WW237 .054 X 7/8 HAIR PIN CLIP 50

WW222 .062 X 1 5/16 HAIR PIN CLIP 25

WW239 .072 X 1 7/8 HAIR PIN CLIP 25

WW217 .080 X 1 9/16 HAIR PIN CLIP 25

WW203 .093 X 1 5/8 HAIR PIN CLIP 25

WW207 .093 X 2 5/16 HAIR PIN CLIP 20

WW228 .093 X 2 HAIR PIN CLIP 15

WW230 .105 X 1 1/4 HAIR PIN CLIP 15

WW216 .125 X 1 15/16 HAIR PIN CLIP 15

WW211 .125 X 2 9/16 HAIR PIN CLIP 10

WW227 .125 X 2 1/2 HAIR PIN CLIP 10

WW215 .125 X 1 9/16 HAIR PIN CLIP 10

WW202 .125 X 3 1/8 HAIR PIN CLIP 10

WW209 .148 X 3 5/16 HAIR PIN CLIP 10

WW210 .148 X 2 15/16 HAIR PIN CLIP 10

WW204 .162 X 3 HAIR PIN CLIP 10

WW205 .162 X 2 3/16 HAIR PIN CLIP 10

WW206 .177 X 3 1/4 HAIR PIN CLIP 5

WW229 .177 X 3 1/2 HAIR PIN CLIP 5

WW219 .243 X 4 HAIR PIN CLIP 4

WW220 .310 X 4 1/16 HAIR PIN CLIP 4

24DRAWER 24 COMPARTMENT DRAWER 1

128



AHWHSMS

PART NO. DESCRIPTION QTY

SMSHW614 6 X 1/4 HWH SMS SLOTTED 100

SMSHW638 6 X 3/8 HWH SMS SLOTTED 100

SMSHW612 6 X 1/2 HWH SMS SLOTTED 100

SMSHW634 6 X 3/4 HWH SMS SLOTTED 100

SMSHW61 6 X 1 HWH SMS SLOTTED 100

SMSHW838 8 X 3/8 HWH SMS SLOTTED 100

SMSHW812 8 X 1/2 HWH SMS SLOTTED 100

SMSHW834 8 X 3/4 HWH SMS SLOTTED 100

SMSHW81 8 X 1 HWH SMS SLOTTED 100

SMSHW8112 8 X 1 1/2 HWH SMS SLOTTED 100

SMSHW1012 10 X 1/2 HWH SMS SLOTTED 100

SMSHW1034 10 X 3/4 HWH SMS SLOTTED 100

SMSHW101 10 X 1 HWH SMS SLOTTED 50

SMSHW10114 10 X 1 1/4 HWH SMS SLOTTED 50

SMSHW10112 10 X 1 1/2 HWH SMS SLOTTED 50

SMSHW102 10 X 2 HWH SMS SLOTTED 50

SMSHW1234 12 X 3/4 HWH SMS SLOTTED 50

SMSHW121 12 X 1 HWH SMS SLOTTED 50

SMSHW12112 12 X 1 1/2 HWH SMS SLOTTED 50

SMSHW122 12 X 2 HWH SMS SLOTTED 50

SMSHW141 14 X 1 HWH SMS SLOTTED 50

SMSHW14114 14 X 1 1/4 HWH SMS SLOTTED 50

SMSHW14112 14 X 1 1/2 HWH SMS SLOTTED 50

SMSHW142 14 X 2 HWH SMS SLOTTED 50

24DRAWER 24 COMPARTMENT DRAWER 1

129



AIERR
PART NO. DESCRIPTION QTY

RER18 1/8 EXTERNAL RETAINING RING 15

RER14 1/4 EXTERNAL RETAINING RING 15

RER516 5/16 EXTERNAL RETAINING RING 15

RER38 3/8 EXTERNAL RETAINING RING 15

RER716 7/16 EXTERNAL RETAINING  RING 10

RER12 1/2 EXTERNAL RETAINING RING 10

RER916 9/16 EXTERNAL RETAINING  RING 10

RER58 5/8 EXTERNAL RETAINING RING 10

RER1116 11/16 EXTERNAL RETAINING RING 10

RER34 3/4 EXTERNAL RETAINING RING 10

RER78 7/8 EXTERNAL RETAINING RING 10

RER1 1 EXTERNAL RETAINING RING 10

RER114 1 1/4 EXTERNAL RETAINING RING 5

RER112 1 1/2 EXTERNAL RETAINING RING 5

RIR716 7/16 INTERNAL RETAINING  RING 15

RIR12 1/2 INTERNAL RETAINING RING 15

RIR916 9/16 INTERNAL RETAINING RING 10

RIR58 5/8 INTERNAL RETAINING RING 10

RIR34 3/4 INTERNAL RETAINING RING 10

RIR78 7/8 INTERNAL RETAINING RING 10

RIR1 1 INTERNAL RETAINING RING 10

RIR118 1 1/8 INTERNAL RETAINING RING 5

RIR114 1 1/4 INTERNAL RETAINING RING 5

RIR112 1 1/2 INTERNAL RETAINING RING 5

24DRAWER 24 COMPARTMENT DRAWER 1

130



AIETLW
PART NO. DESCRIPTION QTY

WITL6 #6 INTERNAL TOOTH LOCK WASHER ZINC 100

WITL8 #8 INTERNAL TOOTH LOCK WASHER ZINC 100

WITL10 #10 INTERNAL TOOTH LOCK WASHER 100

WITL#12 #12 INTERNAL TOOTH LOCK WASHER 100

WITL14 1/4 INTERNAL TOOTH LOCK WASHER 100

WITL516 5/16 INTERNAL TOOTH LOCK WASHER 50

WITL38 3/8 INTERNAL TOOTH LOCK WASHER ZINC 50

WITL716 7/16 INTERNAL TOOTH LOCK WASHER 50

WITL12 1/2 INTERNAL TOOTH LOCK WASHER 50

WITL916 9/16 INTERNAL TOOTH LOCK WASHER 25

WITL58 5/8 INTERNAL TOOTH LOCK WASHER 25

WITL34 3/4 INTERNAL TOOTH LOCK WASHER 25

WETL6 #6 EXTERNAL TOOTH LOCK WASHER 100

WETL8 #8 EXTERNAL TOOTH LOCK WASHER 100

WETL10 #10 EXTERNAL TOOTH LOCK WASHER 100

WETL#12 #12 EXTERNAL TOOTH LOCK WASHER 100

WETL14 1/4 EXTERNAL TOOTH LOCK WASHER 100

WETL516 5/16 EXTERNAL TOOTH LOCK WASHER 50

WETL38 3/8 EXTERNAL TOOTH LOCK WASHER 50

WETL716 7/16 EXTERNAL TOOTH LOCK WASHER 50

WETL12 1/2 EXTERNAL TOOTH LOCK WASHER 50

WETL916 9/16 EXTERNAL TOOTH LOCK WASHER 25

WETL58 5/8 EXTERNAL TOOTH LOCK WASHER 25

WETL34 3/4 EXTERNAL TOOTH LOCK WASHER 25

24DRAWER 24 COMPARTMENT DRAWER 1

131



AIRR
PART NO. DESCRIPTION QTY

RIR14 1/4 INTERNAL RETAINING RING 10

RIR516 5/16 INTERNAL RETAINING  RING 10

RIR38 3/8 INTERNAL RETAINING RING 10

RIR716 7/16 INTERNAL RETAINING  RING 10

RIR12 1/2 INTERNAL RETAINING RING 10

RIR916 9/16 INTERNAL RETAINING RING 10

RIR58 5/8 INTERNAL RETAINING RING 10

RIR1116 11/16 INTERNAL RETAINING RING 10

RIR34 3/4 INTERNAL RETAINING RING 10

RIR1316 13/16 INTERNAL RETAINING RING 10

RIR78 7/8 INTERNAL RETAINING RING 6

RIR1516 15/16 INTERNAL RETAINING RING 6

RIR1 1 INTERNAL RETAINING RING 6

RIR10116 1 1/16 INTERNAL RETAINING RING 6

RIR118 1 1/8 INTERNAL RETAINING RING 6

RIR10316 1 3/16 INTERNAL RETAINING RING 6

RIR114 1 1/4 INTERNAL RETAINING RING 6

RIR10516 1 5/16 INTERNAL RETAINING RING 4

RIR138 1 3/8 INTERNAL RETAINING RING 4

RIR112 1 1/2 INTERNAL RETAINING RING 3

RIR158 1 5/8 INTERNAL RETAINING RING 3

RIR134 1 3/4 INTERNAL RETAINING RING 3

RIR178 1 7/8 INTERNAL RETAINING RING 3

RIR2 2 INTERNAL RETAINING RING 3

24DRAWER 24 COMPARTMENT DRAWER 1

132



AITLW

PART NO. DESCRIPTION QTY

WITL2 #2 INTERNAL TOOTH LOCK WASHER 100

WITL3 #3 INTERNAL TOOTH LOCK WASHER 100

WITL4 #4 INTERNAL TOOTH LOCK WASHER 100

WITL5 #5 INTERNAL TOOTH LOCK WASHER 100

WITL6 #6 INTERNAL TOOTH LOCK WASHER ZINC 100

WITL8 #8 INTERNAL TOOTH LOCK WASHER ZINC 100

WITL10 #10 INTERNAL TOOTH LOCK WASHER 100

WITL14 1/4 INTERNAL TOOTH LOCK WASHER 100

WITL516 5/16 INTERNAL TOOTH LOCK WASHER 100

WITL38 3/8 INTERNAL TOOTH LOCK WASHER ZINC 100

WITL716 7/16 INTERNAL TOOTH LOCK WASHER 50

WITL12 1/2 INTERNAL TOOTH LOCK WASHER 50

WITL916 9/16 INTERNAL TOOTH LOCK WASHER 25

WITL58 5/8 INTERNAL TOOTH LOCK WASHER 25

WITL34 3/4 INTERNAL TOOTH LOCK WASHER 25

WITL78 7/8 INTERNAL TOOTH LOCK WASHER 10

WITL1 1 INTERNAL TOOTH LOCK WASHER 10

WITL114 1 1/4 INTERNAL TOOTH LOCKWASHER 5

24DRAWER 24 COMPARTMENT DRAWER 1

133



AKS

PART NO. DESCRIPTION QTY

KS18 1/8 X 12" SQUARE ZINC KEYSTOCK 3

KS14 1/4 X 12" SQUARE ZINC KEYSTOCK 3

KS516 5/16 X 12" SQUARE ZINC KEYSTOCK 2

KS38 3/8 X 12" SQUARE ZINC KEYSTOCK 2

KS716 7/16 X 12" SQUARE ZINC KEYSTOCK 2

KS12 1/2 X 12" SQUARE ZINC KEYSTOCK 2

KS58 5/8 X 12" SQUARE ZINC KEYSTOCK 2

KS34 3/4 X 12" SQUARE ZINC KEYSTOCK 2

KS78 7/8 X 12" SQUARE ZINC KEYSTOCK 1

KS1 1 X 12" SQUARE ZINC KEYSTOCK 1

DKSR DURHAM KEYSTOCK RACK 1

134



ALNASCF

PART NO. DESCRIPTION QTY

LNAS1420 1/4-20 GR C ALL STEEL LOCK NUT 50

LNAS51618 5/16-18 GR C ALL STEEL LOCK NUT 50

LNAS3816 3/8-16 GR C ALL STEEL LOCK NUT 50

LNAS71614 7/16-14 GR C ALL STEEL LOCK NUT 25

LNAS1213 1/2-13 GR C ALL STEEL LOCK NUT 25

LNAS91612 9/16-12 GR C ALL STEEL LOCK NUT 25

LNAS5811 5/8-11 GR C ALL STEEL LOCK NUT 10

LNAS3410 3/4-10 GR C ALL STEEL LOCK NUT 10

LNAS1428 1/4-28 NF GR C ALL STEEL LOCK NUT 50

LNAS51624 5/16-24 NF GR C ALL STEEL LOCK NUT 50

LNAS3824 3/8-24 NF GR C ALL STEEL LOCK NUT 50

LNAS71620 7/16-20 NF GR C ALL STEELLOCK NUT 25

LNAS1220 1/2-20 NF GR C ALL STEEL LOCK NUT 25

LNAS91618 9/16-18 NF GR C ALL STEEL LOCK NUT 25

LNAS5818 5/8-18 NF GR C ALL STEEL LOCK NUT 10

LNAS3416 3/4-16 NF GR C ALL STEEL LOCK NUT 10

ADJDRAWER ADJUSTABLE DRAWER 1

135



ALNNI8C

PART NO. DESCRIPTION QTY

LNNI81420 1/4-20 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 50

LNNI851618 5/16-18 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 50

LNNI83816 3/8-16 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 50

LNNI871614 7/16-14 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 50

LNNI81213 1/2-13 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 25

LNNI891612 9/16-12 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 25

LNNI85811 5/8-11 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 10

LNNI83410 3/4-10 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 10

ADJDRAWER ADJUSTABLE DRAWER 1

136



ALNNI8F

PART NO. DESCRIPTION QTY

LNNI81428 1/4-28 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 50

LNNI851624 5/16-24 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 50

LNNI83824 3/8-24 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 50

LNNI871620 7/16-20 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 50

LNNI81220 1/2-20 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 25

LNNI891618 9/16-18 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 25

LNNI85818 5/8-18 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 10

LNNI83416 3/4-16 G/8 NYLON INSERT LOCKNUT ZINC YELLOW 10

ADJDRAWER ADJUSTABLE DRAWER 1

137



AMHCS109
PART NO. DESCRIPTION QTY

NHM106 M6 X 1 GR/10 HEX NUT DIN 934-10 50

NHM108 M8 X 1.25 GR/10 HEX NUT DIN 934-10 50

NHM1010 M10 X 1.5 GR/10 HEX NUT DIN 934-10 40

NHM1012 M12 X 1.75  GR/10 HEX NUT DIN 934-10 30

NHM1016 M16 X 2 GR/10 HEX NUT DIN 934-10 20

NHM1020 M20 X 2.5  GR/10 HEX NUT DIN 934-10 12

WFM106 M6 HARDENED FLAT WASHER PLAIN 50

WFM108 M8 HARDENED FLAT WASHER PLAIN 50

WFM1010 M10 HARDENED FLAT WASHER PLAIN 40

WFM1012 M12 HARDENED FLAT WASHER PLAIN 30

WFM1016 M16 HARDENED FLAT WASHER PLAIN 20

WFM1020 M20 HARDENED FLAT WASHER PLAIN 12

WLM6 M6 SPLIT LOCK WASHER 50

WLM8 M8 SPLIT LOCK WASHER 50

WLM10 M10 SPLIT LOCK WASHER 50

WLM12 M12 SPLIT LOCK WASHER 30

WLM16 M16 SPLIT LOCK WASHER 20

WLM20 M20 SPLIT LOCK WASHER 12

HCSM109616 M6 X 16 GR/10.9 HEX HD CAP SCREW 25

HCSM109620 M6 X 20 GR/10.9 HEX HD CAP SCREW 25

HCSM109625 M6 X 25 GR/10.9 HEX HD CAP SCREW 25

HCSM109630 M6 X 30 GR/10.9 HEX HD CAP SCREW 25

HCSM109635 M6 X 35 GR/10.9 HEX HD CAP SCREW 25

HCSM109640 M6 X 40 GR/10.9 HEX HD CAP SCREW 25

HCSM109650 M6 X 50 GR/10.9 HEX HD CAP SCREW 25

HCSM109660 M6 X 60 GR/10.9 HEX HD CAP SCREW 25

HCSM109816 M8 X 16 GR/10.9 HEX HD CAP SCREW 25

HCSM109820 M8 X 20 GR/10.9 HEX HD CAP SCREW 25

HCSM109825 M8 X 25 GR/10.9 HEX HD CAP SCREW 25

HCSM109830 M8 X 30 GR/10.9 HEX HD CAP SCREW 25

HCSM109840 M8 X 40 GR/10.9 HEX HD CAP SCREW 20

HCSM109850 M8 X 50 GR/10.9 HEX HD CAP SCREW 20

HCSM109860 M8 X 60 GR/10.9 HEX HD CAP SCREW 20

HCSM109870 M8 X 70 GR/10.9 HEX HD CAP SCREW 15

HCSM1091020 M10 X 20 GR/10.9 HEX HD CAP SCREW 20

HCSM1091025 M10 X 25 GR/10.9 HEX HD CAP SCREW 20

CONTINUE

138



HCSM1091030 M10 X 30 GR/10.9 HEX HD CAP SCREW 20

HCSM1091040 M10 X 40 GR/10.9 HEX HD CAP SCREW 20

HCSM1091050 M10 X 50 GR/10.9 HEX HD CAP SCREW 15

HCSM1091060 M10 X 60 GR/10.9 HEX HD CAP SCREW 15

HCSM1091070 M10 X 70 GR/10.9 HEX HD CAP SCREW 10

HCSM1091080 M10 X 80 GR/10.9 HEX HD CAP SCREW 10

HCSM1091090 M10 X 90 GR/10.9 HEX HD CAP SCREW 8

HCSM10910100 M10 X 100 GR/10.9 HEX HD CAP SCREW 8

HCSM1091225 M12 X 25 GR/10.9 HEX HD CAP SCREW 15

HCSM1091230 M12 X 30 GR/10.9 HEX HD CAP SCREW 15

HCSM1091240 M12 X 40 GR/10.9 HEX HD CAP SCREW 10

HCSM1091250 M12 X 50 GR/10.9 HEX HD CAP SCREW 10

HCSM1091260 M12 X 60 GR/10.9 HEX HD CAP SCREW 8

HCSM1091270 M12 X 70 GR/10.9 HEX HD CAP SCREW 8

HCSM1091280 M12 X 80 GR/10.9 HEX HD CAP SCREW 6

HCSM1091290 M12 X 90 GR/10.9 HEX HD CAP SCREW 6

HCSM10912100 M12 X 100 GR/10.9 HEX HD CAP SCREW 6

HCSM1091640 M16 X 40 GR/10.9 HEX HD CAP SCREW 6

HCSM1091650 M16 X 50 GR/10.9 HEX HD CAP SCREW 6

HCSM1091660 M16 X 60 GR/10.9 HEX HD CAP SCREW 6

HCSM1091670 M16 X 70 GR/10.9 HEX HD CAP SCREW 4

HCSM1091680 M16 X 80 GR/10.9 HEX HD CAP SCREW 4

HCSM1091690 M16 X 90 GR/10.9 HEX HD CAP SCREW 4

HCSM10916100 M16 X 100 GR/10.9 HEX HD CAP SCREW 4

HCSM10916110 M16 X 110 GR/10.9 HEX HD CAP SCREW 3

HCSM10916120 M16 X 120 GR/10.9 HEX HD CAP SCREW 3

HCSM10916140 M16 X 140 GR/10.9 HEX HD CAP SCREW 3

HCSM1092040 M20 X 40 GR/10.9 HEX HD CAP SCREW 3

HCSM1092050 M20 X 50 GR/10.9 HEX HD CAP SCREW 3

HCSM1092060 M20 X 60 GR/10.9 HEX HD CAP SCREW 3

HCSM1092070 M20 X 70 GR/10.9 HEX HD CAP SCREW 2

HCSM1092080 M20 X 80 GR/10.9 HEX HD CAP SCREW 2

HCSM1092090 M20 X 90 GR/10.9 HEX HD CAP SCREW 2

HCSM10920100 M20 X 100 GR/10.9 HEX HD CAP SCREW 2

HCSM10920120 M20 X 120 GR/10.9 HEX HD CAP SCREW 2

HCSM10920150 M20 X 150 GR/10.9 HEX HD CAP SCREW 2

72BIN 72 OPENING BIN 1

AMHCS109

139



AMHCS10940

PART NO. DESCRIPTION QTY

NHM106 M6 X 1 GR/10 HEX NUT DIN 934-10 50

NHM108 M8 X 1.25 CLASS 10 HEX NUT DIN 934-10 50

NHM1010 M10 X 1.5 GR/10 HEX NUT DIN 934-10 50

NHM1012 M12 X 1.75  GR/10 HEX NUT DIN 934-10 30

NHM1016 M16 X 2 GR/10 HEX NUT DIN 934-10 20

WFM6 M6 FLAT WASHER 100

WFM8 M8 FLAT WASHER 100

WFM10 M10 FLAT WASHER 100

WFM12 M12 FLAT WASHER 50

WFM16 M16 FLAT WASHER 50

WLM6 M6 SPLIT LOCK WASHER 100

WLM8 M8 SPLIT LOCK WASHER 100

WLM10 M10 SPLIT LOCK WASHER 50

WLM12 M12 SPLIT LOCK WASHER 50

WLM16 M16 SPLIT LOCK WASHER 25

HCSM109616 M6 X 16 GR/10.9 HEX HD CAP SCREW 50

HCSM109620 M6 X 20 GR/10.9 HEX HD CAP SCREW 50

HCSM109630 M6 X 30 GR/10.9 HEX HD CAP SCREW 25

HCSM109640 M6 X 40 GR/10.9 HEX HD CAP SCREW 25

HCSM109650 M6 X 50 GR/10.9 HEX HD CAP SCREW 25

CONTINUE

140



AMHCS10940
HCSM109816 M8 X 16 GR/10.9 HEX HD CAP SCREW 25

HCSM109820 M8 X 20 GR/10.9 HEX HD CAP SCREW 25

HCSM109830 M8 X 30 GR/10.9 HEX HD CAP SCREW 25

HCSM109840 M8 X 40 GR/10.9 HEX HD CAP SCREW 25

HCSM109850 M8 X 50 GR/10.9 HEX HD CAP SCREW 20

HCSM1091020 M10 X 20 GR/10.9 HEX HD CAP SCREW 25

HCSM1091030 M10 X 30 GR/10.9 HEX HD CAP SCREW 20

HCSM1091040 M10 X 40 GR/10.9 HEX HD CAP SCREW 20

HCSM1091050 M10 X 50 GR/10.9 HEX HD CAP SCREW 15

HCSM1091060 M10 X 60 GR/10.9 HEX HD CAP SCREW 15

HCSM1091220 M12 X 20 GR/10.9 HEX HD CAP SCREW 15

HCSM1091230 M12 X 30 GR/10.9 HEX HD CAP SCREW 15

HCSM1091240 M12 X 40 GR/10.9 HEX HD CAP SCREW 10

HCSM1091250 M12 X 50 GR/10.9 HEX HD CAP SCREW 10

HCSM1091260 M12 X 60 GR/10.9 HEX HD CAP SCREW 6

HCSM1091630 M16 X 30 GR/10.9 HEX HD CAP SCREW 5

HCSM1091640 M16 X 40 GR/10.9 HEX HD CAP SCREW 5

HCSM1091650 M16 X 50 GR/10.9 HEX HD CAP SCREW 4

HCSM1091660 M16 X 60 GR/10.9 HEX HD CAP SCREW 4

HCSM1091680 M16 X 80 GR/10.9 HEX HD CAP SCREW 3

40BIN 40 OPENING BIN 1

141



AMHCS10972
PART NO. DESCRIPTION QTY

NHM106 M6 X 1 GR/10 HEX NUT DIN 934-10 50

NHM108 M8 X 1.25 GR/10 HEX NUT DIN 934-10 50

NHM1010 M10 X 1.5 GR/10 HEX NUT DIN 934-10 50

NHM1012 M12 X 1.75  GR/10 HEX NUT DIN 934-10 25

NHM1016 M16 X 2 GR/10 HEX NUT DIN 934-10 25

NHM1020 M20 X 2.5  GR/10 HEX NUT DIN 934-10 25

NHM1024 M24 X 3 GR/10 HEX NUT DIN 934-10 10

WFM6 M6 FLAT WASHER 100

WFM8 M8 FLAT WASHER 100

WFM10 M10 FLAT WASHER 100

WFM12 M12 FLAT WASHER 50

WFM16 M16 FLAT WASHER 50

WFM20 M20 FLAT WASHER 25

WFM24 M24 FLAT WASHER 25

WLM6 M6 SPLIT LOCK WASHER 100

WLM8 M8 SPLIT LOCK WASHER 100

WLM10 M10 SPLIT LOCK WASHER 100

WLM12 M12 SPLIT LOCK WASHER 50

WLM16 M16 SPLIT LOCK WASHER 50

WLM20 M20 SPLIT LOCK WASHER 25

WLM24 M24 SPLIT LOCK WASHER 25

HCSM109616 M6 X 16 GR/10.9 HEX HD CAP SCREW 50

HCSM109620 M6 X 20 GR/10.9 HEX HD CAP SCREW 50

HCSM109625 M6 X 25 GR/10.9 HEX HD CAP SCREW 50

HCSM109630 M6 X 30 GR/10.9 HEX HD CAP SCREW 25

HCSM109640 M6 X 40 GR/10.9 HEX HD CAP SCREW 25

HCSM109650 M6 X 50 GR/10.9 HEX HD CAP SCREW 25

HCSM109660 M6 X 60 GR/10.9 HEX HD CAP SCREW 25

HCSM109816 M8 X 16 GR/10.9 HEX HD CAP SCREW 50

HCSM109820 M8 X 20 GR/10.9 HEX HD CAP SCREW 50

HCSM109825 M8 X 25 GR/10.9 HEX HD CAP SCREW 25

HCSM109830 M8 X 30 GR/10.9 HEX HD CAP SCREW 25

HCSM109840 M8 X 40 GR/10.9 HEX HD CAP SCREW 25

HCSM109850 M8 X 50 GR/10.9 HEX HD CAP SCREW 25

HCSM109860 M8 X 60 GR/10.9 HEX HD CAP SCREW 25

HCSM109870 M8 X 70 GR/10.9 HEX HD CAP SCREW 25

CONTINUE

142



AMHCS10972
HCSM1091020 M10 X 20 GR/10.9 HEX HD CAP SCREW 25

HCSM1091025 M10 X 25 GR/10.9 HEX HD CAP SCREW 25

HCSM1091030 M10 X 30 GR/10.9 HEX HD CAP SCREW 25

HCSM1091040 M10 X 40 GR/10.9 HEX HD CAP SCREW 25

HCSM1091050 M10 X 50 GR/10.9 HEX HD CAP SCREW 25

HCSM1091060 M10 X 60 GR/10.9 HEX HD CAP SCREW 20

HCSM1091080 M10 X 80 GR/10.9 HEX HD CAP SCREW 20

HCSM10910100 M10 X 100 GR/10.9 HEX HD CAP SCREW 15

HCSM1091220 M12 X 20 GR/10.9 HEX HD CAP SCREW 25

HCSM1091225 M12 X 25 GR/10.9 HEX HD CAP SCREW 25

HCSM1091230 M12 X 30 GR/10.9 HEX HD CAP SCREW 25

HCSM1091240 M12 X 40 GR/10.9 HEX HD CAP SCREW 20

HCSM1091250 M12 X 50 GR/10.9 HEX HD CAP SCREW 15

HCSM1091260 M12 X 60 GR/10.9 HEX HD CAP SCREW 15

HCSM1091270 M12 X 70 GR/10.9 HEX HD CAP SCREW 10

HCSM1091280 M12 X 80 GR/10.9 HEX HD CAP SCREW 10

HCSM10912100 M12 X 100 GR/10.9 HEX HD CAP SCREW 10

HCSM1091630 M16 X 30 GR/10.9 HEX HD CAP SCREW 10

HCSM1091640 M16 X 40 GR/10.9 HEX HD CAP SCREW 10

HCSM1091650 M16 X 50 GR/10.9 HEX HD CAP SCREW 8

HCSM1091660 M16 X 60 GR/10.9 HEX HD CAP SCREW 6

HCSM1091680 M16 X 80 GR/10.9 HEX HD CAP SCREW 6

HCSM10916100 M16 X 100 GR/10.9 HEX HD CAP SCREW 4

HCSM10916120 M16 X 120 GR/10.9 HEX HD CAP SCREW 4

HCSM1092040 M20 X 40 GR/10.9 HEX HD CAP SCREW 6

HCSM1092060 M20 X 60 GR/10.9 HEX HD CAP SCREW 6

HCSM1092080 M20 X 80 GR/10.9 HEX HD CAP SCREW 4

HCSM10920100 M20 X 100 GR/10.9 HEX HD CAP SCREW 4

HCSM10920120 M20 X 120 GR/10.9 HEX HD CAP SCREW 4

HCSM10920140 M20 X 140 GR/10.9 HEX HD CAP SCREW 3

HCSM1092440 M24 X 40 GR/10.9 HEX HD CAP SCREW 3

HCSM1092460 M24 X 60 GR/10.9 HEX HD CAP SCREW 3

HCSM1092480 M24 X 80 GR/10.9 HEX HD CAP SCREW 3

HCSM10924100 M24 X 100 GR/10.9 HEX HD CAP SCREW 2

HCSM10924120 M24 X 120 GR/10.9 HEX HD CAP SCREW 2

HCSM10924140 M24 X 140 GR/10.9 HEX HD CAP SCREW 2

72BIN 72 OPENING BIN 1

143



AMHCS24
PART NO. DESCRIPTION QTY

NHM6 M6 X 1.0 HEX NUT 50

NHM8 M8 X 1.25 HEX NUT 50

NHM10 M10 X 1.5 HEX NUT 25

NHM12 M12 X 1.75 HEX NUT 25

WFM6 M6 FLAT WASHER 50

WFM8 M8 FLAT WASHER 50

WFM10 M10 FLAT WASHER 25

WFM12 M12 FLAT WASHER 25

HCSM610 M6 X 10 8.8 HEX HD C/S 25

HCSM620 M6 X 20 8.8 HEX HD C/S 25

HCSM630 M6 X 30 8.8 HEX HD C/S 25

HCSM640 M6 X 40 8.8 HEX HD C/S 25

HCSM816 M8 X 16 8.8 HEX HD C/S 20

HCSM830 M8 X 30 8.8 HEX HD C/S 20

HCSM840 M8 X 40 8.8 HEX HD C/S 10

HCSM860 M8 X 60 8.8 HEX HD C/S 10

HCSM1020 M10 X 20 8.8 HEX HD C/S 10

HCSM1025 M10 X 25 8.8 HEX HD C/S 10

HCSM1040 M10 X 40 8.8 HEX HD C/S 10

HCSM1060 M10 X 60 8.8 HEX HD C/S 10

HCSM1225 M12 X 25 8.8 HEX HD C/S 6

HCSM1230 M12 X 30 8.8 HEX HD C/S 6

HCSM1250 M12 X 50 8.8 HEX HD C/S 5

HCSM1275 M12 X 75 8.8 HEX HD C/S 5

24DRAWER 24 COMPARTMENT DRAWER 1

144



AMHCS24109
PART NO. DESCRIPTION QTY

NHM106 M6 X 1 GR/10 HEX NUT DIN 934-10 50

NHM108 M8 X 1.25 GR/10 HEX NUT DIN 934-10 50

NHM1010 M10 X 1.5 GR/10 HEX NUT DIN 934-10 25

NHM1012 M12 X 1.75  GR/10 HEX NUT DIN 934-10 25

WFM6 M6 FLAT WASHER 50

WFM8 M8 FLAT WASHER 50

WFM10 M10 FLAT WASHER 25

WFM12 M12 FLAT WASHER 25

HCSM109616 M6 X 16 GR/10.9 HEX HD CAP SCREW 25

HCSM109620 M6 X 20 GR/10.9 HEX HD CAP SCREW 25

HCSM109630 M6 X 30 GR/10.9 HEX HD CAP SCREW 25

HCSM109640 M6 X 40 GR/10.9 HEX HD CAP SCREW 25

HCSM109816 M8 X 16 GR/10.9 HEX HD CAP SCREW 20

HCSM109830 M8 X 30 GR/10.9 HEX HD CAP SCREW 20

HCSM109840 M8 X 40 GR/10.9 HEX HD CAP SCREW 10

HCSM109860 M8 X 60 GR/10.9 HEX HD CAP SCREW 10

HCSM1091020 M10 X 20 GR/10.9 HEX HD CAP SCREW 10

HCSM1091025 M10 X 25 GR/10.9 HEX HD CAP SCREW 10

HCSM1091040 M10 X 40 GR/10.9 HEX HD CAP SCREW 10

HCSM1091060 M10 X 60 GR/10.9 HEX HD CAP SCREW 10

HCSM1091225 M12 X 25 GR/10.9 HEX HD CAP SCREW 6

HCSM1091230 M12 X 30 GR/10.9 HEX HD CAP SCREW 6

HCSM1091250 M12 X 50 GR/10.9 HEX HD CAP SCREW 5

HCSM1091270 M12 X 70 GR/10.9 HEX HD CAP SCREW 5

24DRAWER 24 COMPARTMENT DRAWER 1

145



AMHCS40
PART NO. DESCRIPTION QTY

NHM6 M6 X 1.0 HEX NUT 100

NHM8 M8 X 1.25 HEX NUT 100

NHM10 M10 X 1.5 HEX NUT 50

NHM12 M12 X 1.75 HEX NUT 50

NHM16 M16 X 2.0 HEX NUT 25

WFM6 M6 FLAT WASHER 100

WFM8 M8 FLAT WASHER 100

WFM10 M10 FLAT WASHER 50

WFM12 M12 FLAT WASHER 50

WFM16 M16 FLAT WASHER 25

WLM6 M6 SPLIT LOCK WASHER 100

WLM8 M8 SPLIT LOCK WASHER 100

WLM10 M10 SPLIT LOCK WASHER 50

WLM12 M12 SPLIT LOCK WASHER 50

WLM16 M16 SPLIT LOCK WASHER 25

HCSM612 M6 X 12 8.8 HEX HD C/S 50

HCSM620 M6 X 20 8.8 HEX HD C/S 50

HCSM630 M6 X 30 8.8 HEX HD C/S 50

HCSM640 M6 X 40 8.8 HEX HD C/S 25

HCSM650 M6 X 50 8.8 HEX HD C/S 25

CONTINUE

146



AMHCS40
HCSM812 M8 X 12 8.8 HEX HD C/S 25

HCSM820 M8 X 20 8.8 HEX HD C/S 25

HCSM830 M8 X 30 8.8 HEX HD C/S 25

HCSM840 M8 X 40 8.8 HEX HD C/S 25

HCSM850 M8 X 50 8.8 HEX HD C/S 20

HCSM1020 M10 X 20 8.8 HEX HD C/S 20

HCSM1030 M10 X 30 8.8 HEX HD C/S 20

HCSM1040 M10 X 40 8.8 HEX HD C/S 15

HCSM1050 M10 X 50 8.8 HEX HD C/S 15

HCSM1060 M10 X 60 8.8 HEX HD C/S 10

HCSM1220 M12 X 20 8.8 HEX HD C/S 15

HCSM1230 M12 X 30 8.8 HEX HD C/S 15

HCSM1240 M12 X 40 8.8 HEX HD C/S 15

HCSM1250 M12 X 50 8.8 HEX HD C/S 10

HCSM1270 M12 X 70 8.8 HEX HD C/S 10

HCSM1630 M16 X 30 8.8 HEX HD C/S 10

HCSM1640 M16 X 40  8.8 HEX HD C/S 10

HCSM1650 M16 X 50 8.8 HEX HD C/S 10

HCSM1660 M16 X 60 8.8 HEX HD C/S 8

HCSM1680 M16 X 80  8.8 HEX HD C/S 6

40BIN 40 OPENING BIN 1

147



AMHCSL
PART NO. DESCRIPTION QTY

NHM6 M6 X 1.0 HEX NUT 100

NHM8 M8 X 1.25 HEX NUT 100

NHM10 M10 X 1.5 HEX NUT 50

NHM12 M12 X 1.75 HEX NUT 50

NHM14 M14 X 2.0 HEX NUT 25

NHM16 M16 X 2.0 HEX NUT 25

NHM18 M18 X 2.5 HEX NUT 10

NHM20 M20 X 2.5 HEX NUT 10

WFM6 M6 FLAT WASHER 100

WFM8 M8 FLAT WASHER 100

WFM10 M10 FLAT WASHER 100

WFM12 M12 FLAT WASHER 50

WFM14 M14 FLAT WASHER 25

WFM16 M16 FLAT WASHER 25

WFM18 M18 FLAT WASHER 20

WFM20 M20 FLAT WASHER 20

WLM6 M6 SPLIT LOCK WASHER 100

WLM8 M8 SPLIT LOCK WASHER 100

WLM10 M10 SPLIT LOCK WASHER 100

WLM12 M12 SPLIT LOCK WASHER 50

WLM14 M14 SPLIT LOCK WASHER 25

WLM16 M16 SPLIT LOCK WASHER 25

WLM18 M18 SPLIT LOCK WASHER 20

WLM20 M20 SPLIT LOCK WASHER 20

HCSM612 M6 X 12 8.8 HEX HD C/S 50

HCSM620 M6 X 20 8.8 HEX HD C/S 50

HCSM625 M6 X 25 8.8 HEX HD C/S 50

HCSM630 M6 X 30 8.8 HEX HD C/S 50

HCSM640 M6 X 40 8.8 HEX HD C/S 25

HCSM650 M6 X 50 8.8 HEX HD C/S 25

HCSM812 M8 X 12 8.8 HEX HD C/S 25

HCSM820 M8 X 20 8.8 HEX HD C/S 25

HCSM825 M8 X 25 8.8 HEX HD C/S 25

HCSM830 M8 X 30 8.8 HEX HD C/S 25

HCSM840 M8 X 40 8.8 HEX HD C/S 25

HCSM850 M8 X 50 8.8 HEX HD C/S 20

HCSM1020 M10 X 20 8.8 HEX HD C/S 20

CONTINUE

148



AMHCSL
HCSM1030 M10 X 30 8.8 HEX HD C/S 20

HCSM1040 M10 X 40 8.8 HEX HD C/S 15

HCSM1050 M10 X 50 8.8 HEX HD C/S 15

HCSM1060 M10 X 60 8.8 HEX HD C/S 10

HCSM1070 M10 X 70  8.8 HEX HD C/S 10

HCSM1220 M12 X 20 8.8 HEX HD C/S 15

HCSM1230 M12 X 30 8.8 HEX HD C/S 15

HCSM1240 M12 X 40 8.8 HEX HD C/S 15

HCSM1250 M12 X 50 8.8 HEX HD C/S 10

HCSM1260 M12 X 60 8.8 HEX HD C/S 10

HCSM1270 M12 X 70 8.8 HEX HD C/S 6

HCSM1420 M14 X 20 8.8 HEX HD C/S 10

HCSM1430 M14 X 30 8.8 HEX HD C/S 10

HCSM1440 M14 X 40 8.8 HEX HD C/S 10

HCSM1450 M14 X 50 8.8 HEX HD C/S 8

HCSM1460 M14 X 60 8.8 HEX HD C/S 8

HCSM1480 M14 X 80 8.8 HEX HD C/S 4

HCSM1630 M16 X 30 8.8 HEX HD C/S 10

HCSM1640 M16 X 40  8.8 HEX HD C/S 10

HCSM1650 M16 X 50 8.8 HEX HD C/S 8

HCSM1660 M16 X 60 8.8 HEX HD C/S 8

HCSM1680 M16 X 80  8.8 HEX HD C/S 6

HCSM16100 M16 X 100  8.8 HEX HD C/S 4

HCSM1830 M18 X 30 8.8 HEX HD C/S 4

HCSM1840 M18 X 40  8.8 HEX HD C/S 4

HCSM1850 M18 X 50 8.8 HEX HD C/S 4

HCSM1860 M18 X 60 8.8 HEX HD C/S 4

HCSM1880 M18 X 80  8.8 HEX HD C/S 2

HCSM18100 M18 X 100  8.8 HEX HD C/S 2

HCSM2040 M20 X 40 8.8 HEX HD C/S 6

HCSM2050 M20 X 50  8.8 HEX HD C/S 6

HCSM2060 M20 X 60  8.8 HEX HD C/S 6

HCSM2080 M20 X 80 8.8 HEX HD C/S 4

HCSM20100 M20 X 100  8.8 HEX HD C/S 4

HCSM20120 M20 X 120  8.8 HEX HD C/S 4

72BIN 72 OPENING BIN 1

149



AMHCSS
PART NO. DESCRIPTION QTY

NHM6 M6 X 1.0 HEX NUT 100

NHM8 M8 X 1.25 HEX NUT 50

NHM10 M10 X 1.5 HEX NUT 50

NHM12 M12 X 1.75 HEX NUT 25

NHM14 M14 X 2.0 HEX NUT 20

NHM16 M16 X 2.0 HEX NUT 20

NHM18 M18 X 2.5 HEX NUT 10

NHM20 M20 X 2.5 HEX NUT 10

WFM6 M6 FLAT WASHER 100

WFM8 M8 FLAT WASHER 100

WFM10 M10 FLAT WASHER 50

WFM12 M12 FLAT WASHER 25

WFM14 M14 FLAT WASHER 20

WFM16 M16 FLAT WASHER 20

WFM18 M18 FLAT WASHER 10

WFM20 M20 FLAT WASHER 10

WLM6 M6 SPLIT LOCK WASHER 100

WLM8 M8 SPLIT LOCK WASHER 100

WLM10 M10 SPLIT LOCK WASHER 50

WLM12 M12 SPLIT LOCK WASHER 25

WLM14 M14 SPLIT LOCK WASHER 20

WLM16 M16 SPLIT LOCK WASHER 20

WLM18 M18 SPLIT LOCK WASHER 10

WLM20 M20 SPLIT LOCK WASHER 10

HCSM612 M6 X 12 8.8 HEX HD C/S 25

HCSM620 M6 X 20 8.8 HEX HD C/S 25

HCSM625 M6 X 25 8.8 HEX HD C/S 25

HCSM630 M6 X 30 8.8 HEX HD C/S 15

HCSM640 M6 X 40 8.8 HEX HD C/S 15

HCSM650 M6 X 50 8.8 HEX HD C/S 10

HCSM812 M8 X 12 8.8 HEX HD C/S 15

HCSM820 M8 X 20 8.8 HEX HD C/S 15

HCSM825 M8 X 25 8.8 HEX HD C/S 15

HCSM830 M8 X 30 8.8 HEX HD C/S 15

HCSM840 M8 X 40 8.8 HEX HD C/S 10

HCSM850 M8 X 50 8.8 HEX HD C/S 10

CONTINUE

150



AMHCSS
HCSM1020 M10 X 20 8.8 HEX HD C/S 10

HCSM1030 M10 X 30 8.8 HEX HD C/S 10

HCSM1040 M10 X 40 8.8 HEX HD C/S 10

HCSM1050 M10 X 50 8.8 HEX HD C/S 10

HCSM1060 M10 X 60 8.8 HEX HD C/S 6

HCSM1070 M10 X 70  8.8 HEX HD C/S 6

HCSM1220 M12 X 20 8.8 HEX HD C/S 10

HCSM1230 M12 X 30 8.8 HEX HD C/S 10

HCSM1240 M12 X 40 8.8 HEX HD C/S 10

HCSM1250 M12 X 50 8.8 HEX HD C/S 6

HCSM1260 M12 X 60 8.8 HEX HD C/S 6

HCSM1270 M12 X 70 8.8 HEX HD C/S 4

HCSM1420 M14 X 20 8.8 HEX HD C/S 6

HCSM1430 M14 X 30 8.8 HEX HD C/S 6

HCSM1440 M14 X 40 8.8 HEX HD C/S 6

HCSM1450 M14 X 50 8.8 HEX HD C/S 4

HCSM1460 M14 X 60 8.8 HEX HD C/S 4

HCSM1480 M14 X 80 8.8 HEX HD C/S 2

HCSM1630 M16 X 30 8.8 HEX HD C/S 6

HCSM1640 M16 X 40  8.8 HEX HD C/S 6

HCSM1650 M16 X 50 8.8 HEX HD C/S 6

HCSM1660 M16 X 60 8.8 HEX HD C/S 4

HCSM1680 M16 X 80  8.8 HEX HD C/S 4

HCSM16100 M16 X 100  8.8 HEX HD C/S 2

HCSM1830 M18 X 30 8.8 HEX HD C/S 2

HCSM1840 M18 X 40  8.8 HEX HD C/S 2

HCSM1850 M18 X 50 8.8 HEX HD C/S 2

HCSM1860 M18 X 60 8.8 HEX HD C/S 2

HCSM1880 M18 X 80  8.8 HEX HD C/S 2

HCSM18100 M18 X 100  8.8 HEX HD C/S 2

HCSM2040 M20 X 40 8.8 HEX HD C/S 4

HCSM2050 M20 X 50  8.8 HEX HD C/S 4

HCSM2060 M20 X 60  8.8 HEX HD C/S 4

HCSM2080 M20 X 80 8.8 HEX HD C/S 2

HCSM20100 M20 X 100  8.8 HEX HD C/S 2

HCSM20120 M20 X 120  8.8 HEX HD C/S 2

72BIN 72 OPENING BIN 1

151



PART NO. DESCRIPTION QTY

LNASM6 M6 X 1.0 ALL STEEL LOCK NUT DIN 980-V 50

LNASM8 M8 X 1.25 ALL STEEL LOCK NUT DIN 980-V 50

LNASM10 M10 X 1.5 ALL STEEL LOCK NUT DIN 980-V 50

LNASM12 M12 X 1.75 ALL STEEL LOCK NUT DIN 980-V 25

LNASM16 M16 X 2 ALL STEEL LOCK NUT DIN 980-V 15

LNASM20 M20 X 2.5 ALL STEEL LOCK NUT DIN 980-V 10

LNASM24 M24 X 3 ALL STEEL LOCK NUT DIN 980-V 6

ADJDRAWER ADJUSTABLE DRAWER 1

AMLNAS

152



AMSHCS12940
PART NO. DESCRIPTION QTY

NHM6 M6 X 1.0 HEX NUT 100

NHM8 M8 X 1.25 HEX NUT 100

NHM10 M10 X 1.5 HEX NUT 50

NHM12 M12 X 1.75 HEX NUT 50

NHM14 M14 X 2.0 HEX NUT 25

NHM16 M16 X 2.0 HEX NUT 25

NHM20 M20 X 2.5 HEX NUT 20

NHM24 M24 X 3.0 HEX NUT 10

WFM6 M6 FLAT WASHER 100

WFM8 M8 FLAT WASHER 100

WFM10 M10 FLAT WASHER 100

WFM12 M12 FLAT WASHER 50

WFM14 M14 FLAT WASHER 25

WFM16 M16 FLAT WASHER 25

WFM20 M20 FLAT WASHER 25

WFM24 M24 FLAT WASHER 10

SHCSM620 M6 X 20 12.9 SOCKET HD C/S 50

SHCSM630 M6 X 30 12.9 SOCKET HD C/S 50

SHCSM640 M6 X 40 12.9 SOCKET HD C/S 25

SHCSM825 M8 X 25 12.9 SOCKET HD C/S 25

CONTINUE

153



AMSHCS12940
SHCSM840 M8 X 40 12.9 SOCKET HD C/S 25

SHCSM850 M8 X 50 12.9 SOCKET HD C/S 25

SHCSM1030 M10 X 30 12.9 SOCKET HD C/S 25

SHCSM1040 M10 X 40 12.9 SOCKET HD C/S 25

SHCSM1060 M10 X 60 12.9 SOCKET HD C/S 20

SHCSM1240 M12 X 40 12.9 SOCKET HD C/S 15

SHCSM1260 M12 X 60 12.9 SOCKET HD C/S 10

SHCSM1280 M12 X 80 12.9 SOCKET HD C/S 8

SHCSM1440 M14 X 40 12.9 SOCKET HD C/S 10

SHCSM1460 M14 X 60 12.9  SOCKET HD C/S 6

SHCSM1480 M14 X 80 12.9 SOCKET HD C/S 4

SHCSM1640 M16 X 40 12.9 SOCKET HD C/S 10

SHCSM1660 M16 X 60 12.9 SOCKET HD C/S 6

SHCSM1680 M16 X 80 12.9 SOCKET HD C/S 4

SHCSM2050 M20 X 50 12.9 SOCKET HD C/S 4

SHCSM2080 M20 X 80 12.9 SOCKET HD C/S 4

SHCSM20100 M20 X 100 12.9 SOCKET HD C/S 3

SHCSM2460 M24 X 60 12.9 SOCKET HD C/S 2

SHCSM2480 M24 X 80 12.9 SOCKET HD C/S 2

SHCSM24100 M24 X 100 12.9 SOCKET HD C/S 2

40BIN 40 OPENING BIN 1

154



AMSHCS12972
PART NO. DESCRIPTION QTY

NHM6 M6 X 1.0 HEX NUT 100

NHM8 M8 X 1.25 HEX NUT 100

NHM10 M10 X 1.5 HEX NUT 50

NHM12 M12 X 1.75 HEX NUT 50

NHM14 M14 X 2.0 HEX NUT 25

NHM16 M16 X 2.0 HEX NUT 25

NHM20 M20 X 2.5 HEX NUT 20

NHM24 M24 X 3.0 HEX NUT 10

WFM6 M6 FLAT WASHER 100

WFM8 M8 FLAT WASHER 100

WFM10 M10 FLAT WASHER 100

WFM12 M12 FLAT WASHER 50

WFM14 M14 FLAT WASHER 25

WFM16 M16 FLAT WASHER 25

WFM20 M20 FLAT WASHER 25

WFM24 M24 FLAT WASHER 10

WHCLM6 M6 HIGH COLLAR LOCK WASHER DIN 7980 100

WHCLM8 M8 HIGH COLLAR LOCK WASHER DIN 7980 100

WHCLM10 M10 HIGH COLLAR LOCK WASHER DIN 7980 100

WHCLM12 M12 HIGH COLLAR LOCK WASHER DIN 7980 50

WHCLM14 M14 HIGH COLLAR LOCK WASHER DIN 7980 25

WHCLM16 M16 HIGH COLLAR LOCK WASHER DIN 7980 25

WHCLM20 M20 HIGH COLLAR LOCK WASHER DIN 7980 25

WHCLM24 M24 HIGH COLLAR LOCK WASHER DIN 7980 10

SHCSM612 M6 X 12 12.9 SOCKET HD C/S 50

SHCSM620 M6 X 20 12.9 SOCKET HD C/S 50

SHCSM630 M6 X 30 12.9 SOCKET HD C/S 50

SHCSM640 M6 X 40 12.9 SOCKET HD C/S 25

SHCSM650 M6 X 50 12.9 SOCKET HD C/S 25

SHCSM660 M6 X 60 12.9 SOCKET HD C/S 20

SHCSM816 M8 X 16 12.9 SOCKET HD C/S 50

SHCSM825 M8 X 25 12.9 SOCKET HD C/S 25

SHCSM830 M8 X 30 12.9 SOCKET HD C/S 25

SHCSM840 M8 X 40 12.9 SOCKET HD C/S 25

SHCSM850 M8 X 50 12.9 SOCKET HD C/S 25

SHCSM860 M8 X 60 12.9 SOCKET HD C/S 20

SHCSM1020 M10 X 20 12.9 SOCKET HD C/S 25

CONTINUE

155



AMSHCS12972
SHCSM1030 M10 X 30 12.9 SOCKET HD C/S 25

SHCSM1040 M10 X 40 12.9 SOCKET HD C/S 20

SHCSM1050 M10 X 50 12.9 SOCKET HD C/S 20

SHCSM1060 M10 X 60 12.9 SOCKET HD C/S 20

SHCSM1080 M10 X 80 12.9 SOCKET HD C/S 10

SHCSM1220 M12 X 20 12.9 SOCKET HD C/S 20

SHCSM1230 M12 X 30 12.9 SOCKET HD C/S 20

SHCSM1240 M12 X 40 12.9 SOCKET HD C/S 15

SHCSM1260 M12 X 60 12.9 SOCKET HD C/S 10

SHCSM1280 M12 X 80 12.9 SOCKET HD C/S 8

SHCSM12100 M12 X 100 12.9 SOCKET HD C/S 8

SHCSM1430 M14 X 30 12.9 SOCKET HD C/S 10

SHCSM1440 M14 X 40 12.9 SOCKET HD C/S 10

SHCSM1450 M14 X 50 12.9 SOCKET HD C/S 8

SHCSM1460 M14 X 60 12.9  SOCKET HD C/S 6

SHCSM1480 M14 X 80 12.9 SOCKET HD C/S 4

SHCSM14100 M14 X 100 12.9 SOCKET HD C/S 4

SHCSM1630 M16 X 30 12.9 SOCKET HD C/S 10

SHCSM1640 M16 X 40 12.9 SOCKET HD C/S 10

SHCSM1650 M16 X 50 12.9 SOCKET HD C/S 8

SHCSM1660 M16 X 60 12.9 SOCKET HD C/S 6

SHCSM1680 M16 X 80 12.9 SOCKET HD C/S 4

SHCSM16100 M16 X 100 12.9 SOCKET HD C/S 4

SHCSM2040 M20 X 40 12.9 SOCKET HD C/S 4

SHCSM2050 M20 X 50 12.9 SOCKET HD C/S 4

SHCSM2060 M20 X 60 12.9 SOCKET HD C/S 4

SHCSM2080 M20 X 80 12.9 SOCKET HD C/S 4

SHCSM20100 M20 X 100 12.9 SOCKET HD C/S 3

SHCSM20120 M20 X 120 12.9 SOCKET HD C/S 3

SHCSM2450 M24 X 50 12.9 SOCKET HD C/S 2

SHCSM2460 M24 X 60 12.9 SOCKET HD C/S 2

SHCSM2480 M24 X 80 12.9 SOCKET HD C/S 2

SHCSM24100 M24 X 100 12.9 SOCKET HD C/S 2

SHCSM24120 M24 X 120 12.9 SOCKET HD C/S 2

SHCSM24140 M24 X 140 12.9 SOCKET HD C/S 2

72BIN 72 OPENING BIN 1

156



PART NO. DESCRIPTION QTY

NHM6 M6 X 1.0 HEX NUT 50

NHM8 M8 X 1.25 HEX NUT 50

NHM10 M10 X 1.5 HEX NUT 25

NHM12 M12 X 1.75 HEX NUT 25

WFM6 M6 FLAT WASHER 50

WFM8 M8 FLAT WASHER 50

WFM10 M10 FLAT WASHER 25

WFM12 M12 FLAT WASHER 25

SHCSM610 M6 X 10 12.9 SOCKET HD C/S 25

SHCSM620 M6 X 20 12.9 SOCKET HD C/S 25

SHCSM630 M6 X 30 12.9 SOCKET HD C/S 15

SHCSM640 M6 X 40 12.9 SOCKET HD C/S 15

SHCSM816 M8 X 16 12.9 SOCKET HD C/S 15

SHCSM830 M8 X 30 12.9 SOCKET HD C/S 15

SHCSM840 M8 X 40 12.9 SOCKET HD C/S 10

SHCSM860 M8 X 60 12.9 SOCKET HD C/S 10

SHCSM1020 M10 X 20 12.9 SOCKET HD C/S 10

SHCSM1025 M10 X 25 12.9 SOCKET HD C/S 10

SHCSM1040 M10 X 40 12.9 SOCKET HD C/S 10

SHCSM1060 M10 X 60 12.9 SOCKET HD C/S 10

SHCSM1225 M12 X 25 12.9 SOCKET HD C/S 6

SHCSM1230 M12 X 30 12.9 SOCKET HD C/S 6

SHCSM1250 M12 X 50 12.9 SOCKET HD C/S 5

SHCSM1275 M12 X 75 12.9 SOCKET HD C/S 5

24DRAWER 24 COMPARTMENT DRAWER 1

AMSHCS24

157



PART NO. DESCRIPTION QTY

CTN4 4" NATURAL NYLON CABLE TIES 200

CTN512 5 1/2" NATURAL NYLON CABLE TIES 200

CTN712 7 1/2 50# NATURAL NYLON CABLE TIES 200

CTN11 11" NATURAL NYLON CABLE TIES 100

CTN14 14" NATURAL NYLON CABLE TIES 50

CTN14HD 14" HD NATURAL NYLON CABLE TIES 50

DL6HC 6 HOLE HORIZONTAL DRAWER W/LATCH 1

ANCTN

158



PART NO. DESCRIPTION QTY

PXNB18C 1/8 X CLOSE BLACK STL  EX HVY NIPPLE 5

PXNB18112 1/8 X 1 1/2 BLACK STL  EX HVY NIPPLE 5

PXNB182 1/8 X 2 BLACK STL  EX HVY NIPPLE 5

PXNB18212 1/8 X 2 1/2 BLK STL  EX HVY NIPPLE 5

PXNB183 1/8 X 3 BLACK STL EX HVY NIPPLE 3

PXNB184 1/8 X 4 BLACK STL  EX HVY NIPPLE 3

PXNB185 1/8 X 5 BLACK STL  EX HVY NIPPLE 3

PXNB186 1/8 X 6 BLACK STL  EX HVY NIPPLE 3

PXNB14C 1/4 X CLOSE BLACK STL  EX HVY NIPPLE 5

PXNB14112 1/4 X 1 1/2 BLACK STL  EX HVY NIPPLE 5

PXNB142 1/4 X 2 BLACK STL  EX HVY NIPPLE 5

PXNB14212 1/4 X 2 1/2 BLACK STL  EX HVY NIPPLE 5

PXNB143 1/4 X 3 BLACK STL  EX HVY NIPPLE 3

PXNB144 1/4 X 4 BLACK STL  EX HVY NIPPLE 3

PXNB145 1/4 X 5 BLACK STL  EX HVY NIPPLE 3

PXNB146 1/4 X 6 BLACK STL  EX HVY NIPPLE 3

PXNB38C 3/8 X CLOSE BLACK EX HVY NIPPLE 5

PXNB38112 3/8 X 1 1/2 BLACK EX HVY NIPPLE 5

PXNB382 3/8 X 2 EX HVY BLK STL NIPPLE 5

PXNB38212 3/8 X 2 1/2 BLACK EX HVY NIPPLE 5

PXNB383 3/8 X 3 BLACK EX HVY NIPPLE 3

PXNB384 3/8 X 4 BLACK EX HVY NIPPLE 3

PXNB385 3/8 X 5 BLACK EX HVY NIPPLE 3

PXNB386 3/8 X 6 BLACK EX HVY NIPPLE 3

PXNB12C 1/2 X CLOSE  BLK EX HVY STL NIPPLE 5

PXNB12112 1/2 X 1 1/2  BLK EX HVY STL NIPPLE 5

PXNB122 1/2 X 2  BLK EX HVY STL NIPPLE 5

APBXH181

CONTINUE

159



APBXH181
PXNB12212 1/2 X 2 1/2  BLK EX HVY STL NIPPLE 5

PXNB123 1/2 X 3  BLK EX HVY STL NIPPLE 3

PXNB124 1/2 X 4 BLK EX HVY STL NIPPLE 3

PXNB125 1/2 X 5 BLK EX HVY STL NIPPLE 3

PXNB126 1/2 X 6 BLK EX HVY STL NIPPLE 3

PXNB34C 3/4 X CLOSE BLACK EX HVY NIPPLE 5

PXNB34112 3/4 X 1 1/2 BLACK EX HVY NIPPLE 5

PXNB342 3/4 X 2 BLACK EX HVY NIPPLE 5

PXNB34212 3/4 X 2 1/2 BLACK EX HVY NIPPLE 5

PXNB343 3/4 X 3 BLACK STL EX HVY NIPPLE 3

PXNB344 3/4 X 4 BLACK EX HVY NIPPLE 3

PXNB345 3/4 X 5 BLACK EX HVY STL  NIPPLE 3

PNB346 3/4 X 6 STD BLACK NIPPLE 3

PXNB1C 1 X CLOSE BLK EX HVY STL NIPPLE 3

PXNB12 1 X 2  BLK EX HVY STL NIPPLE 3

PXNB1212 1 X 2 1/2  BLK EX HVY STL NIPPLE 3

PXNB13 1 X 3 BLACK STL EX HVY NIPPLE 2

PXNB1312 1 X 3 1/2 BLACK STL  EX HVY NIPPLE 2

PXNB14 1 X 4 BLACK STL  EX HVY NIPPLE 2

PXNB15 1 X 5 BLACK STL  EX HVY NIPPLE 2

PXNB16 1 X 6 BLACK STL  EX HVY NIPPLE 2

PHBFS1418 1/4 X 1/8 FORGED STEEL HEX BUSHING 10

PHBFS3814 3/8 X 1/4 FORGED STL HEX BUSHING 10

PHBFS1238 1/2 X 3/8 FORGED STEEL HEX BUSHING 10

PHBFS1214 1/2 X 1/4 FORGED STEEL HEX BUSHING 10

PHBFS3412 3/4 X 1/2 FORGED STL HEX BUSHING 10

PHBFS3438 3/4 X 3/8 FORGED STL HEX BUSHING 5

PHBFS3414 3/4 X 1/4 FORGED STL HEX BUSHING 5

CONTINUE

160



APBXH181
PHBFS134 1 X 3/4 FORGED STEEL HEX BUSHING 5

PHBFS112 1 X 1/2 FORGED STEEL HEX BUSHING 3

PHBFS138 1 X 3/8 FORGED STEEL HEX BUSHING 3

PXCRB3814 3/8 X 1/4 BLK M/I  EX HVY COUPLER REDUCER 2

PXCRB1238 1/2 X 3/8 BLK M/I  EX HVY COUPLER REDUCER 2

PXCRB1214 1/2 X 1/4 BLK M/I EX HVY COUPLER REDUCER 2

PXCRB3412 3/4 X 1/2 BLK M/I EX HVY COUPLER REDUCER 2

PXCRB3438 3/4 X 3/8 BLK M/I EX HVY COUPLER REDUCER 2

PXCRB134 1 X 3/4 BLK M/I  EX HVY COUPLER REDUCER 2

PXCRB112 1 X 1/2 BLK M/I  EX HVY COUPLER REDUCER 2

PXCB18 1/8 EX HVY BLK STL COUPLING 5

PXCB14 1/4 EX-HVY BLK STL COUPLING 5

PXCB38 3/8 EX HVY BLK STL COUPLING 5

PXCB12 1/2 EX HVY BLK STL COUPLING 5

PXCB34 3/4 EX HVY BLK STL COUPLING 5

PXCB1 1" EX HVY BLK STL COUPLING 4

PSPFS18 1/8 FORGED STEEL SQ HD PLUG 10

PSPFS14 1/4 FORGED STEEL SQ HD PLUG 10

PSPFS38 3/8 FORGED STEEL SQ HD PLUG 10

PSPFS12 1/2 FORGED STEEL SQ HD PLUG 10

PSPFS34 3/4 FORGED STEEL SQ HD PLUG 10

PSPFS1 1" FORGED STL SQ HD PLUG 5

TT12 1/2" X 260 INCH TEFLON TAPE 3

TT34520 3/4" X 520 INCH TEFLON TAPE 3

PXUB18 1/8 BLACK M/I  EX HVY 250# UNION 2

PXUB14 1/4 BLACK M/I  EX HVY 250# UNION 2

PXUB38 3/8 BLACK M/I  EX HVY 250# UNION 2

PXUB12 1/2 BLACK M/I  EX HVY 250# UNION 2

CONTINUE

161



APBXH181
PXUB34 3/4 BLACK M/I EX HVY 250# UNION 2

PXUB1 1" BLK UNION  M/I EX HVY 250# 2

PXEB1490 1/4 90 BLK M/I EX HVY ELBOW 3

PXEB3890 3/8 90 BLK M/I EX HVY ELBOW 3

PXEB1290 1/2 90 BLK M/I EX HVY ELBOW 3

PXEB3490 3/4 90 BLK M/I EX HVY ELBOW 3

PXEB190 1 " 90 BLK M/I EX HVY ELBOW 3

PXSEB1490 1/4 90 BLACK M/I  EX HVY STREET ELBOW 3

PXSEB3890 3/8 90 STREET BLK M/I  EX HVY  ELBOW 3

PXSEB1290 1/2 90 BLACK M/I  EX HVY STREET ELBOW 3

PXSEB3490 3/4 90 BLK M/I  EX HVY STREET ELBOW 2

PXSEB190 1" 90 STREET BLK M/I  EX HVY ELBOW 2

PXEB1445 1/4 45 BLK M/I EX HVY ELBOW 2

PXEB3845 3/8 45 BLK M/I  EX HVY ELBOW 2

PXEB1245 1/2 45  BLK  M/I  EX HVY ELBOW 2

PXEB3445 3/4 45 BLK M/I EX HVY ELBOW 2

PXEB145 1" 45  BLK M/I EX HVY ELBOW 2

PXTB14 1/4  BLACK M/I  EX HVY TEE 3

PXTB38 3/8 BLACK M/I EX HVY TEE 3

PXTB12 1/2 BLACK M/I EX HVY TEE 3

PXTB34 3/4 BLACK M/I  EX HVY TEE 2

PXTB1 1"  BLACK M/I  EX HVY TEE 2

PXCPB14 1/4 BLK M/I  EX HVY CAP 3

PXCPB38 3/8 BLK M/I EX HVY CAP 3

PXCPB12 1/2 BLK M/I EX HVY CAP 3

PXCPB34 3/4 BLK M/I  EX HVY CAP 2

PXCPB1 1"  BLK M/I  EX HVY CAP 2

72BIN 72 OPENING BIN 1

40BIN 40 OPENING BIN 1

162



APRAA
PART NO. DESCRIPTION QTY

RPAA1818 1/8 X 1/8 ALUM/ALUM POP RIVET 100

RPAA1814 1/8 X 1/4 ALUM/ALUM POP RIVET 100

RPAA1838 1/8 X 3/8 ALUM/ALUM POP RIVET 100

RPAA1812 1/8 X 1/2 ALUM/ALUM POP RIVET 100

RPAA53214 5/32 X 1/4 ALUM/ALUM POP RIVET 100

RPAA53212 5/32 X 1/2 ALUM/ALUM POP RIVET 100

RPAA31618 3/16 X 1/8 ALUM/ALUM POP RIVET 100

RPAA31614 3/16 X 1/4 ALUM/ALUM POP RIVET 100

RPAA31638 3/16 X 3/8 ALUM/ALUM POP RIVET 100

RPAA31612 3/16 X 1/2 ALUM/ALUM POP RIVET 100

RPAA31634 3/16 X 3/4 ALUM/ALUM POP RIVET 100

ADJDRAWER ADJUSTABLE DRAWER 1

163



APRSS
PART NO. DESCRIPTION QTY

RPSS1818 1/8 X 1/8 STEEL/STEEL POP RIVET 100

RPSS1814 1/8 X 1/4 STEEL/STEEL POP RIVET 100

RPSS1838 1/8 X 3/8 STEEL/STEEL POP RIVET 100

RPSS1812 1/8 X 1/2 STEEL/STEEL POP RIVET 100

RPSS53214 5/32 X 1/4 STEEL/STEEL POP RIVET 100

RPSS53212 5/32 X 1/2 STEEL/STEEL POP RIVET 100

RPSS31618 3/16 X 1/8 STEEL/STEEL POP RIVET 100

RPSS31614 3/16 X 1/4 STEEL/STEEL POP RIVET 100

RPSS31638 3/16 X 3/8 STEEL/STEEL POP RIVET 100

RPSS31612 3/16 X 1/2 STEEL/STEEL POP RIVET 100

RPSS31634 3/16 X 3/4 STEEL/STEEL POP RIVET 100

ADJDRAWER ADJUSTABLE DRAWER 1

164



APSDS

PART NO. DESCRIPTION QTY

SDSP638 6 X 3/8 PHIL PAN HD SELF DRILLING SCREW 100

SDSP612 6 X 1/2 PHIL PAN HD SELF DRILLING SCREW 100

SDSP658 6 X 5/8 PHIL PAN HD SELF DRILLING SCREW 100

SDSP634 6 X 3/4 PHIL PAN HD SELF DRILLING SCREW 100

SDSP61 6 X 1 PHIL PAN HD SELF DRILLING SCREW 100

SDSP812 8 X 1/2 PHIL PAN HD SELF DRILLING SCREW 100

SDSP834 8 X 3/4 PHIL PAN HD SELF DRILLING SCREW 100

SDSP81 8 X 1 PHIL PAN HD SELF DRILLING SCREW 100

SDSP8112 8 X 1 1/2 PHIL PAN HD SELF DRILLING SCREW 50

SDSP1012 10 X 1/2 PHIL PAN HD SELF DRILLING SCREW 100

SDSP1034 10 X 3/4 PHIL PAN HD SELF DRILLING SCREW 50

SDSP101 10 X 1 PHIL PAN HD SELF DRILLING SCREW 50

ADJDRAWER ADJUSTABLE DRAWER 1

165



PART NO. DESCRIPTION QTY

PSC31634 3/16 X 3/4 STD CLEVIS PIN 10

PSC3161 3/16 X 1 STD CLEVIS PIN 10

PSC316112 3/16 X 1 1/2 STD CLEVIS PIN 5

PSC3162 3/16 X 2 STD CLEVIS PIN 5

PSC141 1/4 X 1 STD CLEVIS PIN 10

PSC14112 1/4 X 1 1/2 STD CLEVIS PIN 5

PSC142 1/4 X 2 STD CLEVIS PIN 5

PSC143 1/4 X 3 STD CLEVIS PIN 5

PSC516114 5/16 X 1 1/4 STD CLEVIS PIN 5

PSC516134 5/16 X 1 3/4 STD CLEVIS PIN 5

PSC516212 5/16 X 2 1/2 STD CLEVIS PIN 5

PSC5163 5/16 X 3 STD CLEVIS PIN 5

PSC381 3/8 X 1 STD CLEVIS PIN 5

PSC38112 3/8 X 1 1/2 STD CLEVIS PIN 5

PSC382 3/8 X 2 STD CLEVIS PIN 5

PSC38212 3/8 X 2 1/2 STD CLEVIS PIN 5

PSC38312 3/8 X 3 1/2 STD CLEVIS PIN 4

PSC12112 1/2 X 1 1/2 STD CLEVIS PIN 4

PSC122 1/2 X 2 STD CLEVIS PIN 4

PSC123 1/2 X 3 STD CLEVIS PIN 4

PSC124 1/2 X 4 STD CLEVIS PIN 4

PSC582 5/8 X 2 STD CLEVIS PIN 3

PSC584 5/8 X 4 STD CLEVIS PIN 3

PSC34234 3/4 X 2 3/4 STD CLEVIS PIN 3

24DRAWER 24 COMPARTMENT DRAWER 1

ASCP

166



PART NO. DESCRIPTION QTY

SFCS63212 6/32 X 1/2 FLAT HEAD SOCKET C/S 50

SFCS63234 6/32 X 3/4 FLAT HEAD SOCKET C/S 50

SFCS83212 8/32 X 1/2 FLAT HEAD SOCKET C/S 50

SFCS83234 8/32 X 3/4 FLAT HEAD SOCKET C/S 50

SFCS102438 10/24 X 3/8 FLAT HEAD SOCKET C/S 50

SFCS102412 10/24 X 1/2 FLAT HEAD SOCKET C/S 50

SFCS102434 10/24 X 3/4 FLAT HEAD SOCKET C/S 50

SFCS10241 10/24 X 1 FLAT HEAD SOCKET C/S 50

SFCS142012 1/4-20 X 1/2 FLAT HEAD SOCKET C/S 50

SFCS142034 1/4-20 X 3/4 FLAT HEAD SOCKET C/S 25

SFCS14201 1/4-20 X 1 FLAT HEAD SOCKET C/S 25

SFCS1420112 1/4-20 X 1 1/2 FLAT HEAD SOCKET C/S 15

SFCS5161812 5/16-18 X 1/2 FLAT HEAD SOCKET C/S 15

SFCS5161834 5/16-18 X 3/4 FLAT HEAD SOCKET C/S 15

SFCS516181 5/16-18 X 1 FLAT HEAD SOCKET C/S 15

SFCS51618112 5/16-18 X 1 1/2 FLAT HEAD SOCKET C/S 15

SFCS381612 3/8-16 X 1/2 FLAT HEAD SOCKET C/S 15

SFCS381634 3/8-16 X 3/4 FLAT HEAD SOCKET C/S 15

SFCS38161 3/8-16 X 1 FLAT HEAD SOCKET C/S 10

SFCS3816112 3/8-16 X 1 1/2 FLAT HEAD SOCKET C/S 10

SFCS12131 1/2-13 X 1 FLAT HEAD SOCKET C/S 10

SFCS1213114 1/2-13 X 1 1/4 FLAT HEAD SOCKET C/S 10

SFCS1213112 1/2-13 X 1 1/2 FLAT HEAD SOCKET C/S 10

SFCS12132 1/2-13 X 2 FLAT HEAD SOCKET C/S 10

24DRAWER 24 COMPARTMENT DRAWER 1

ASFCS24

167



ASFCS40

PART NO. DESCRIPTION QTY

SFCS142012 1/4-20 X 1/2 FLAT HEAD SOCKET C/S 25

SFCS142058 1/4-20 X 5/8 FLAT HEAD SOCKET C/S 25

SFCS142034 1/4-20 X 3/4 FLAT HEAD SOCKET C/S 20

SFCS14201 1/4-20 X 1 FLAT HEAD SOCKET C/S 20

SFCS1420114 1/4-20 X 1 1/4 FLAT HEAD SOCKET C/S 20

SFCS1420112 1/4-20 X 1 1/2 FLAT HEAD SOCKET C/S 15

SFCS1420134 1/4-20 X 1 3/4 FLAT HEAD SOCKET C/S 15

SFCS14202 1/4-20 X 2 FLAT HEAD SOCKET C/S 15

SFCS5161812 5/16-18 X 1/2 FLAT HEAD SOCKET C/S 25

SFCS5161834 5/16-18 X 3/4 FLAT HEAD SOCKET C/S 25

SFCS516181 5/16-18 X 1 FLAT HEAD SOCKET C/S 20

SFCS51618114 5/16-18 X 1 1/4 FLAT HEAD SOCKET C/S 20

SFCS51618112 5/16-18 X 1 1/2 FLAT HEAD SOCKET C/S 15

SFCS51618134 5/16-18 X 1 3/4 FLAT HEAD SOCKET C/S 15

SFCS516182 5/16-18 X 2 FLAT HEAD SOCKET C/S 15

SFCS51618212 5/16-18 X 2 1/2 FLAT HEAD SOCKET C/S 10

SFCS381612 3/8-16 X 1/2 FLAT HEAD SOCKET C/S 25

SFCS381634 3/8-16 X 3/4 FLAT HEAD SOCKET C/S 25

SFCS38161 3/8-16 X 1 FLAT HEAD SOCKET C/S 20

CONTINUE

168



ASFCS40

SFCS3816114 3/8-16 X 1 1/4 FLAT HEAD SOCKET C/S 20

SFCS3816112 3/8-16 X 1 1/2 FLAT HEAD SOCKET C/S 15

SFCS38162 3/8-16 X 2 FLAT HEAD SOCKET C/S 10

SFCS3816212 3/8-16 X 2 1/2 FLAT HEAD SOCKET C/S 10

SFCS38163 3/8-16 X 3 FLAT HEAD SOCKET C/S 10

SFCS7161434 7/16-14 X 3/4 FLAT HEAD SOCKET C/S 15

SFCS716141 7/16-14 X 1 FLAT HEAD SOCKET C/S 15

SFCS71614114 7/16-14 X 1 1/4 FLAT HEAD SOCKET C/S 10

SFCS71614112 7/16-14 X 1 1/2 FLAT HEAD SOCKET C/S 10

SFCS71614134 7/16-14 X 1 3/4 FLAT HEADSOCKET C/S 10

SFCS716142 7/16-14 X 2 FLAT HEAD SOCKET C/S 10

SFCS121334 1/2-13 X 3/4 FLAT HEAD SOCKET C/S 15

SFCS12131 1/2-13 X 1 FLAT HEAD SOCKET C/S 15

SFCS1213114 1/2-13 X 1 1/4 FLAT HEAD SOCKET C/S 10

SFCS1213112 1/2-13 X 1 1/2 FLAT HEAD SOCKET C/S 10

SFCS1213134 1/2-13 X 1 3/4 FLAT HEAD SOCKET C/S 10

SFCS12132 1/2-13 X 2 FLAT HEAD SOCKET C/S 10

SFCS1213212 1/2-13 X 2 1/2 FLAT HEAD SOCKET C/S 10

SFCS12133 1/2-13 X 3 FLAT HEAD SOCKET C/S 10

40BIN 40 OPENING BIN 1

169



ASHCS24
PART NO. DESCRIPTION QTY

SHCS63212 6/32 X 1/2 SOCKET HD C/S 25

SHCS63234 6/32 X 3/4 SOCKET HD C/S 25

SHCS83212 8/32 X 1/2 SOCKET HD C/S 25

SHCS83234 8/32 X 3/4 SOCKET HD C/S 25

SHCS102438 10/24 X 3/8 SOCKET HD C/S 20

SHCS102412 10/24 X 1/2 SOCKET HD C/S 20

SHCS102434 10/24 X 3/4 SOCKET HD C/S 20

SHCS10241 10/24 X 1 SOCKET HD C/S 15

SHCS142012 1/4-20 X 1/2 SOCKET HD C/S 15

SHCS142034 1/4-20 X 3/4 SOCKET HD C/S 15

SHCS14201 1/4-20 X 1 SOCKET HD C/S 15

SHCS1420112 1/4-20 X 1 1/2 SOCKET HD C/S 10

SHCS5161812 5/16-18 X 1/2 SOCKET HD C/S 10

SHCS5161834 5/16-18 X 3/4 SOCKET HD C/S 10

SHCS516181 5/16-18 X 1 SOCKET HD C/S 10

SHCS51618112 5/16-18 X 1 1/2 SOCKET HD C/S 10

SHCS381612 3/8-16 X 1/2 SOCKET HD C/S 10

SHCS381634 3/8-16 X 3/4 SOCKET HD C/S 10

SHCS38161 3/8-16 X 1 SOCKET HD C/S 10

SHCS3816112 3/8-16 X 1 1/2 SOCKET HD C/S 8

SHCS12131 1/2-13 X 1 SOCKET HD C/S 8

SHCS1213114 1/2-13 X 1 1/4 SOCKET HD C/S 8

SHCS1213112 1/2-13 X 1 1/2 SOCKET HD C/S 6

SHCS12132 1/2-13 X 2 SOCKET HD C/S 6

24DRAWER 24 COMPARTMENT DRAWER 1

170



ASHCS24S
PART NO. DESCRIPTION QTY

SHCS63214 6/32 X 1/4 SOCKET HD C/S 100

SHCS63238 6/32 X 3/8 SOCKET HD C/S 100

SHCS63212 6/32 X 1/2 SOCKET HD C/S 100

SHCS63258 6/32 X 5/8 SOCKET HD C/S 50

SHCS63234 6/32 X 3/4 SOCKET HD C/S 50

SHCS6321 6/32 X 1 SOCKET HD C/S 50

SHCS83238 8-32 X 3/8 SOCKET HD C/S 100

SHCS83212 8/32 X 1/2 SOCKET HD C/S 100

SHCS83234 8/32 X 3/4 SOCKET HD C/S 50

SHCS8321 8/32 X 1 SOCKET HD C/S 50

SHCS832114 8/32 X 1 1/4 SOCKET HD C/S 25

SHCS832112 8/32 X 1 1/2 SOCKET HD C/S 25

SHCS103212 10/32 X 1/2 SOCKET HD C/S 50

SHCS103234 10/32 X 3/4 SOCKET HD C/S 50

SHCS10321 10/32 X 1 SOCKET HD C/S 25

SHCS1032114 10/32 X 1 1/4 SOCKET HD C/S 25

SHCS1032112 10/32 X 1 1/2 SOCKET HD C/S 25

SHCS10322 10/32 X 2 SOCKET HD C/S 25

SHCS102412 10/24 X 1/2 SOCKET HD C/S 50

SHCS102434 10/24 X 3/4 SOCKET HD C/S 50

SHCS10241 10/24 X 1 SOCKET HD C/S 25

SHCS1024114 10/24 X 1 1/4 SOCKET HD C/S 25

SHCS1024112 10/24 X 1 1/2 SOCKET HD C/S 25

SHCS10242 10/24 X 2 SOCKET HD C/S 25

24DRAWER 24 COMPARTMENT DRAWER 1

171



ASHCS40

PART NO. DESCRIPTION QTY

SHCS142012 1/4-20 X 1/2 SOCKET HD C/S 25

SHCS142034 1/4-20 X 3/4 SOCKET HD C/S 25

SHCS14201 1/4-20 X 1 SOCKET HD C/S 25

SHCS1420112 1/4-20 X 1 1/2 SOCKET HD C/S 25

SHCS14202 1/4-20 X 2 SOCKET HD C/S 15

SHCS5161812 5/16-18 X 1/2 SOCKET HD C/S 25

SHCS5161834 5/16-18 X 3/4 SOCKET HD C/S 25

SHCS516181 5/16-18 X 1 SOCKET HD C/S 25

SHCS51618112 5/16-18 X 1 1/2 SOCKET HD C/S 15

SHCS516182 5/16-18 X 2 SOCKET HD C/S 15

SHCS381634 3/8-16 X 3/4 SOCKET HD C/S 25

SHCS38161 3/8-16 X 1 SOCKET HD C/S 25

SHCS3816112 3/8-16 X 1 1/2 SOCKET HD C/S 15

SHCS38162 3/8-16 X 2 SOCKET HD C/S 15

SHCS3816212 3/8-16 X 2 1/2 SOCKET HD C/S 10

SHCS716141 7/16-14 X 1 SOCKET HD C/S 15

SHCS71614112 7/16-14 X 1 1/2 SOCKET HD C/S 15

SHCS716142 7/16-14 X 2 SOCKET HD C/S 10

SHCS71614212 7/16-14 X 2 1/2 SOCKET HD C/S 5

SHCS716143 7/16-14 X 3 SOCKET HD C/S 5

CONTINUE

172



ASHCS40

SHCS12131 1/2-13 X 1 SOCKET HD C/S 10

SHCS1213112 1/2-13 X 1 1/2 SOCKET HD C/S 10

SHCS12132 1/2-13 X 2 SOCKET HD C/S 5

SHCS1213212 1/2-13 X 2 1/2 SOCKET HD C/S 5

SHCS12133 1/2-13 X 3 SOCKET HD C/S 5

NFH1420Z 1/4-20 FIN HEX NUT ZINC 50

NFH51618Z 5/16-18 FIN HEX NUT ZINC 50

NFH3816Z 3/8-16 FIN HEX NUT ZINC 50

NFH71614Z 7/16-14 FIN HEX NUT ZINC 25

NFH1213Z 1/2-13 FIN HEX NUT ZINC 25

WFUSS14Z 1/4 USS FLAT WASHER ZINC 50

WFUSS516Z 5/16 USS FLAT WASHER ZINC 50

WFUSS38Z 3/8 USS FLAT WASHER ZINC 50

WFUSS716Z 7/16 USS FLAT WASHER ZINC 25

WFUSS12Z 1/2 USS FLAT WASHER ZINC 25

WL14Z 1/4 SPLIT LOCK WASHER ZINC 50

WL516Z 5/16 SPLIT LOCK WASHER ZINC 50

WL38Z 3/8 SPLIT LOCK WASHER ZINC 50

WL716Z 7/16 SPLIT LOCK WASHER ZINC 25

WL12Z 1/2 SPLIT LOCK WASHER ZINC 25

40BIN 40 OPENING BIN 1

173



ASHCS72

PART NO. DESCRIPTION QTY

SHCS102412 10/24 X 1/2 SOCKET HD C/S 25

SHCS102434 10/24 X 3/4 SOCKET HD C/S 25

SHCS10241 10/24 X 1 SOCKET HD C/S 25

SHCS1024114 10/24 X 1 1/4 SOCKET HD C/S 25

SHCS1024112 10/24 X 1 1/2 SOCKET HD C/S 25

SHCS10242 10/24 X 2 SOCKET HD C/S 15

SHCS142012 1/4-20 X 1/2 SOCKET HD C/S 25

SHCS142034 1/4-20 X 3/4 SOCKET HD C/S 25

SHCS14201 1/4-20 X 1 SOCKET HD C/S 25

SHCS1420114 1/4-20 X 1 1/4 SOCKET HD C/S 25

SHCS1420112 1/4-20 X 1 1/2 SOCKET HD C/S 25

SHCS14202 1/4-20 X 2 SOCKET HD C/S 15

SHCS5161812 5/16-18 X 1/2 SOCKET HD C/S 25

SHCS5161834 5/16-18 X 3/4 SOCKET HD C/S 25

SHCS516181 5/16-18 X 1 SOCKET HD C/S 25

SHCS51618114 5/16-18 X 1 1/4 SOCKET HD C/S 15

SHCS51618112 5/16-18 X 1 1/2 SOCKET HD C/S 15

SHCS516182 5/16-18 X 2 SOCKET HD C/S 15

SHCS381634 3/8-16 X 3/4 SOCKET HD C/S 25

SHCS38161 3/8-16 X 1 SOCKET HD C/S 25

SHCS3816114 3/8-16 X 1 1/4 SOCKET HD C/S 15

SHCS3816112 3/8-16 X 1 1/2 SOCKET HD C/S 15

SHCS38162 3/8-16 X 2 SOCKET HD C/S 15

CONTINUE

174



ASHCS72
SHCS3816212 3/8-16 X 2 1/2 SOCKET HD C/S 10

SHCS716141 7/16-14 X 1 SOCKET HD C/S 15

SHCS71614114 7/16-14 X 1 1/4 SOCKET HD C/S 15

SHCS71614112 7/16-14 X 1 1/2 SOCKET HD C/S 15

SHCS716142 7/16-14 X 2 SOCKET HD C/S 10

SHCS71614212 7/16-14 X 2 1/2 SOCKET HD C/S 5

SHCS716143 7/16-14 X 3 SOCKET HD C/S 5

SHCS12131 1/2-13 X 1 SOCKET HD C/S 10

SHCS1213112 1/2-13 X 1 1/2 SOCKET HD C/S 10

SHCS12132 1/2-13 X 2 SOCKET HD C/S 5

SHCS1213212 1/2-13 X 2 1/2 SOCKET HD C/S 5

SHCS12133 1/2-13 X 3 SOCKET HD C/S 5

SHCS1213312 1/2-13 X 3 1/2 SOCKET HD C/S 5

SHCS5811114 5/8-11 X 1 1/4 SOCKET HD C/S 5

SHCS5811112 5/8-11 X 1 1/2 SOCKET HD C/S 5

SHCS58112 5/8-11 X 2 SOCKET HD C/S 5

SHCS5811212 5/8-11 X 2 1/2 SOCKET HD C/S 5

SHCS58113 5/8-11 X 3 SOCKET HD C/S 5

SHCS5811312 5/8-11 X 3 1/2 SOCKET HD C/S 5

SHCS3410112 3/4-10 X 1 1/2 SOCKET HD C/S 4

SHCS34102 3/4-10 X 2 SOCKET HD C/S 4

SHCS3410212 3/4-10 X 2 1/2 SOCKET HD C/S 4

SHCS34103 3/4-10 X 3 SOCKET HD C/S 4

SHCS3410312 3/4-10 X 3 1/2 SOCKET HD C/S 4

CONTINUE

175



ASHCS72
SHCS34104 3/4-10 X 4 SOCKET HD C/S 4

NHMS1024 10-24 HEX MACH SCREW NUT ZINC 100

NFH81420P 1/4-20 GR8 FIN HEX NUT PLAIN 50

NFH851618P 5/16-18 GR8 FIN HEX NUT PLAIN 50

NFH83816P 3/8-16 GR8 FIN HEX NUT PLAIN 50

NFH871614P 7/16-14 GR8 FIN HEX NUT PLAIN 25

NFH81213P 1/2-13 GR8 FIN HEX NUT PLAIN 25

NFH85811P 5/8-11 GR8 FIN HEX NUT PLAIN 20

NFH83410P 3/4-10 GR8 FIN HEX NUT PLAIN 20

WFSAE10 #10 SAE FLAT WASHER ZINC 100

NSWFS14 1/4 F436 STRUCTURAL FLAT WASHER PLAIN 50

NSWFS516 5/16 F436 STRUCTURAL FLAT WASHER PLAIN 50

NSWFS38 3/8 F436 STRUCTURAL FLAT WASHER PLAIN 50

NSWFS716 7/16 F436 STRUCTURAL FLAT WASHER PLAIN 25

WFS12 1/2 F436 STRUCTURAL FLAT WASHER 25

WFS58 5/8 F436 STRUCTURAL FLAT WASHER 20

WFS34 3/4 F436 STRUCTURAL FLAT WASHER 15

WHCL10 #10 HIGH COLLAR LOCK WASHER 100

WHCL14 1/4 HIGH COLLAR LOCK WASHER 50

WHCL516 5/16 HIGH COLLAR LOCK WASHER 50

WHCL38 3/8 HIGH COLLAR LOCK WASHER 50

WHCL716 7/16 HIGH COLLAR LOCK WASHER 25

WHCL12 1/2 HIGH COLLAR LOCK WASHER 25

WHCL58 5/8 HIGH COLLAR LOCK WASHER 20

WHCL34 3/4 HIGH COLLAR LOCK WASHER 15

72BIN 72 OPENING BIN 1

176



ASHCSHLW
PART NO. DESCRIPTION QTY

SHCS142012 1/4-20 X 1/2 SOCKET HD C/S 25

SHCS142034 1/4-20 X 3/4 SOCKET HD C/S 25

SHCS14201 1/4-20 X 1 SOCKET HD C/S 20

SHCS1420114 1/4-20 X 1 1/4 SOCKET HD C/S 20

SHCS1420112 1/4-20 X 1 1/2 SOCKET HD C/S 15

SHCS14202 1/4-20 X 2 SOCKET HD C/S 15

SHCS1420212 1/4-20 X 2 1/2 SOCKET HD C/S 15

SHCS5161812 5/16-18 X 1/2 SOCKET HD C/S 25

SHCS5161834 5/16-18 X 3/4 SOCKET HD C/S 25

SHCS516181 5/16-18 X 1 SOCKET HD C/S 20

SHCS51618114 5/16-18 X 1 1/4 SOCKET HD C/S 20

SHCS51618112 5/16-18 X 1 1/2 SOCKET HD C/S 15

SHCS516182 5/16-18 X 2 SOCKET HD C/S 15

SHCS51618212 5/16-18 X 2 1/2 SOCKET HD C/S 10

SHCS381612 3/8-16 X 1/2 SOCKET HD C/S 25

SHCS381634 3/8-16 X 3/4 SOCKET HD C/S 25

SHCS38161 3/8-16 X 1 SOCKET HD C/S 20

SHCS3816114 3/8-16 X 1 1/4 SOCKET HD C/S 20

SHCS3816112 3/8-16 X 1 1/2 SOCKET HD C/S 15

SHCS38162 3/8-16 X 2 SOCKET HD C/S 10

CONTINUE

177



ASHCSHLW

SHCS3816212 3/8-16 X 2 1/2 SOCKET HD C/S 10

SHCS7161412 7/16-14 X 1/2 SOCKET HD C/S 15

SHCS7161434 7/16-14 X 3/4 SOCKET HD C/S 15

SHCS716141 7/16-14 X 1 SOCKET HD C/S 10

SHCS71614114 7/16-14 X 1 1/4 SOCKET HD C/S 10

SHCS71614112 7/16-14 X 1 1/2 SOCKET HD C/S 10

SHCS716142 7/16-14 X 2 SOCKET HD C/S 10

SHCS71614212 7/16-14 X 2 1/2 SOCKET HD C/S 10

SHCS121334 1/2-13 X 3/4 SOCKET HD C/S 15

SHCS12131 1/2-13 X 1 SOCKET HD C/S 15

SHCS1213114 1/2-13 X 1 1/4 SOCKET HD C/S 10

SHCS1213112 1/2-13 X 1 1/2 SOCKET HD C/S 10

SHCS12132 1/2-13 X 2 SOCKET HD C/S 10

SHCS1213212 1/2-13 X 2 1/2 SOCKET HD C/S 10

SHCS12133 1/2-13 X 3 SOCKET HD C/S 10

WHCL14 1/4 HIGH COLLAR LOCK WASHER 100

WHCL516 5/16 HIGH COLLAR LOCK WASHER 100

WHCL38 3/8 HIGH COLLAR LOCK WASHER 50

WHCL716 7/16 HIGH COLLAR LOCK WASHER 25

WHCL12 1/2 HIGH COLLAR LOCK WASHER 25

40BIN 40 OPENING BIN 1

178



PART NO. DESCRIPTION QTY

SMSPSS614 6 X 1/4 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS638 6 X 3/8 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS612 6 X 1/2 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS634 6 X 3/4 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS61 6 X 1 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS838 8 X 3/8 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS812 8 X 1/2 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS834 8 X 3/4 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS81 8 X 1 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS8112 8 X 1 1/2 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS1012 10 X 1/2 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS1034 10 X 3/4 PAN HD SMS STAINLESS PHILLIPS 100

SMSPSS101 10 X 1 PAN HD SMS STAINLESS PHILLIPS 50

SMSPSS10114 10 X 1 1/4 PAN HD SMS STAINLESS PHILLIPS 50

SMSPSS10112 10 X 1 1/2 PAN HD SMS STAINLESS PHILLIPS 50

SMSPSS102 10 X 2 PAN HD SMS STAINLESS PHILLIPS 50

SMSPSS1234 12 X 3/4 PAN HD SMS STAINLESS PHILLIPS 50

SMSPSS121 12 X 1 PAN HD SMS STAINLESS PHILLIPS 50

SMSPSS12112 12 X 1 1/2 PAN HD SMS STAINLESS PHILLIPS 50

SMSPSS122 12 X 2 PAN HD SMS STAINLESS PHILLIPS 50

SMSPSS141 14 X 1 PAN HD SMS STAINLESS PHILLIPS 50

SMSPSS14114 14 X 1 1/4 PAN HD SMS STAINLESS PHILLIPS 50

SMSPSS14112 14 X 1 1/2 PAN HD SMS STAINLESS PHILLIPS 50

SMSPSS142 14 X 2 PAN HD SMS STAINLESS PHILLIPS 50

24DRAWER 24 COMPARTMENT DRAWER 1

ASMSPPSS

179



ASSHCS72

PART NO. DESCRIPTION QTY

NFHSS1420 1/4-20 STAINLESS FIN HEX NUT 50

NFHSS51618 5/16-18 STAINLESS FIN HEX NUT 50

NFHSS3816 3/8-16 STAINLESS FIN HEX NUT 50

NFHSS71614 7/16-14 STAINLESS FIN HEX NUT 25

NFHSS1213 1/2-13 STAINLESS FIN HEX NUT 25

NFHSS91612 9/16-12 STAINLESS FIN HEX NUT 10

NFHSS5811 5/8-11 STAINLESS FIN HEX NUT 10

NFHSS3410 3/4-10 STAINLESS FIN HEX NUT 10

WFSS14 1/4 STAINLESS FLAT WASHER 50

WFSS516 5/16 STAINLESS FLAT WASHER 50

WFSS38 3/8 STAINLESS FLAT WASHER 50

WFSS716 7/16 STAINLESS FLAT WASHER 50

WFSS12 1/2 STAINLESS FLAT WASHER 50

WFSS916 9/16 STAINLESS FLAT WASHER 25

WFSS58 5/8 STAINLESS FLAT WASHER 25

WFSS34 3/4 STAINLESS FLAT WASHER 15

WLSS14 1/4 STAINLESS LOCK WASHER 50

WLSS516 5/16 STAINLESS LOCK WASHER 50

WLSS38 3/8 STAINLESS LOCK WASHER 50

WLSS716 7/16 STAINLESS LOCK WASHER 50

WLSS12 1/2 STAINLESS LOCK WASHER 50

WLSS916 9/16 STAINLESS LOCK WASHER 25

WLSS58 5/8 STAINLESS LOCK WASHER 25

CONTINUE

180



ASSHCS72
WLSS34 3/4 STAINLESS LOCK WASHER 15

HCSSS142012 1/4-20 X 1/2 STAINLESS HEX HD C/S 25

HCSSS142034 1/4-20 X 3/4 STAINLESS HEX HD C/S 25

HCSSS14201 1/4-20 X 1 STAINLESS HEX HD C/S 25

HCSSS1420114 1/4-20 X 1 1/4 STAINLESS HEX HD C/S 25

HCSSS1420112 1/4-20 X 1 1/2 STAINLESS HEX HD C/S 25

HCSSS14202 1/4-20 X 2 STAINLESS HEX HD C/S 15

HCSSS5161812 5/16-18 X 1/2 STAINLESS HEX HD C/S 25

HCSSS5161834 5/16-18 X 3/4 STAINLESS HEX HD C/S 25

HCSSS516181 5/16-18 X 1 STAINLESS HEX HD C/S 25

HCSSS51618114 5/16-18 X 1 1/4 STAINLESS HEX HD C/S 25

HCSSS51618112 5/16-18 X 1 1/2 STAINLESS HEX HD C/S 20

HCSSS516182 5/16-18 X 2 STAINLESS HEX HD C/S 15

HCSSS381634 3/8-16 X 3/4 STAINLESS HEX HD C/S 25

HCSSS38161 3/8-16 X 1 STAINLESS HEX HD C/S 25

HCSSS3816114 3/8-16 X 1 1/4 STAINLESS HEX HD C/S 25

HCSSS3816112 3/8-16 X 1 1/2 STAINLESS HEX HD C/S 25

HCSSS38162 3/8-16 X 2 STAINLESS HEX HD C/S 15

HCSSS3816212 3/8-16 X 2 1/2 STAINLESS HEX HD C/S 10

HCSSS716141 7/16-14 X 1 STAINLESS HEX HD C/S 15

HCSSS71614114 7/16-14 X 1 1/4 STAINLESS HEX HD C/S 15

HCSSS71614112 7/16-14 X 1 1/2 STAINLESS HEX HD C/S 15

HCSSS716142 7/16-14 X 2 STAINLESS HEX HD C/S 10

HCSSS71614212 7/16-14 X 2 1/2 STAINLESS HEX HD C/S 10

CONTINUE

181



ASSHCS72

HCSSS716143 7/16-14 X 3 STAINLESS HEX HD C/S 5

HCSSS12131 1/2-13 X 1 STAINLESS HEX HD C/S 15

HCSSS1213112 1/2-13 X 1 1/2 STAINLESS HEX HD C/S 15

HCSSS12132 1/2-13 X 2 STAINLESS HEX HD C/S 15

HCSSS1213212 1/2-13 X 2 1/2 STAINLESS HEX HD C/S 10

HCSSS12133 1/2-13 X 3 STAINLESS HEX HD C/S 10

HCSSS1213312 1/2-13 X 3 1/2 STAINLESS HEX HD C/S 5

HCSSS91612114 9/16-12 X 1 1/4 STAINLESS HEX HD C/S 5

HCSSS91612112 9/16-12 X 1 1/2 STAINLESS HEX HD C/S 5

HCSSS916122 9/16-12 X 2 STAINLESS HEX HD C/S 5

HCSSS91612212 9/16-12 X 2 1/2 STAINLESS HEX HD C/S 5

HCSSS916123 9/16-12 X 3 STAINLESS HEX HD C/S 5

HCSSS91612312 9/16-12 X 3 1/2 STAINLESS HEX HD C/S 5

HCSSS5811114 5/8-11 X 1 1/4 STAINLESS HEX HD C/S 5

HCSSS5811112 5/8-11 X 1 1/2 STAINLESS HEX HD C/S 5

HCSSS58112 5/8-11 X 2 STAINLESS HEX HD C/S 5

HCSSS5811212 5/8-11 X 2 1/2 STAINLESS HEX HD C/S 5

HCSSS58113 5/8-11 X 3 STAINLESS HEX HD C/S 5

HCSSS5811312 5/8-11 X 3 1/2 STAINLESS HEX HD C/S 5

HCSSS3410112 3/4-10 X 1 1/2 STAINLESS HEX HD C/S 5

HCSSS34102 3/4-10 X 2 STAINLESS HEX HD C/S 5

HCSSS3410212 3/4-10 X 2 1/2 STAINLESS HEX HD C/S 5

HCSSS34103 3/4-10 X 3 STAINLESS HEX HD C/S 5

HCSSS3410312 3/4-10 X 3 1/2 STAINLESS HEX HD C/S 5

HCSSS34104 3/4-10 X 4 STAINLESS HEX HD C/S 5

72BIN 72 OPENING BIN 1

182



ASSMHCS72

PART NO. DESCRIPTION QTY

NHSSM6 M6 X 1 STAINLESS HEX NUT 25

NHSSM8 M8 X 1.25 STAINLESS HEX NUT 25

NHSSM10 M10 X 1.5 STAINLESS HEX NUT 25

NHSSM12 M12 X 1.75 STAINLESS HEX NUT 25

NHSSM16 M16 X 2 STAINLESS HEX NUT 25

NHSSM20 M20 X 2.5 STAINLESS HEX NUT 10

NHSSM24 M24 X 3 STAINLESS HEX NUT 10

WFSSM6 M6 FLAT WASHER STAINLESS 25

WFSSM8 M8 FLAT WASHER STAINLESS 25

WFSSM10 M10 FLAT WASHER STAINLESS 25

WFSSM12 M12 FLAT WASHER STAINLESS 25

WFSSM16 M16 FLAT WASHER STAINLESS 25

WFSSM20 M20 FLAT WASHER STAINLESS 10

WFSSM24 M24 FLAT WASHER STAINLESS 10

WLSSM6 M6 STAINLESS SPLIT LOCK WASHER 25

WLSSM8 M8 STAINLESS SPLIT LOCK WASHER 25

WLSSM10 M10 STAINLESS SPLIT LOCK WASHER 25

WLSSM12 M12 STAINLESS SPLIT LOCK WASHER 25

WLSSM16 M16 STAINLESS SPLIT LOCK WASHER 25

WLSSM20 M20 STAINLESS SPLIT LOCK WASHER 10

WLSSM24 M24 STAINLESS SPLIT LOCK WASHER 10

HCSSSM616 M6 X 16 HEX HEAD CAP SCREW STAINLESS 25

HCSSSM620 M6 X 20 HEX HEAD CAP SCREW STAINLESS 25

CONTINUE

183



ASSMHCS72
HCSSSM625 M6 X 25 HEX HEAD CAP SCREW STAINLESS 25

HCSSSM630 M6 X 30 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM640 M6 X 40 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM650 M6 X 50 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM660 M6 X 60 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM816 M8 X 16 HEX HEAD CAP SCREW STAINLESS 25

HCSSSM820 M8 X 20 HEX HEAD CAP SCREW STAINLESS 25

HCSSSM825 M8 X 25 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM830 M8 X 30 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM840 M8 X 40 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM850 M8 X 50 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM860 M8 X 60 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM870 M8 X 70 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM1020 M10 X 20 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM1025 M10 X 25 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM1030 M10 X 30 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM1040 M10 X 40 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM1050 M10 X 50 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM1060 M10 X 60 HEX HEAD CAP SCREW STAINLESS 10

HCSSSM1080 M10 X 80 HEX HEAD CAP SCREW STAINLESS 10

HCSSSM10100 M10 X 100 HEX HEAD CAP SCREW STAINLESS 6

HCSSSM1220 M12 X 20 HEX HEAD CAP SCREW STAINLESS 10

HCSSSM1225 M12 X 25 HEX HEAD CAP SCREW STAINLESS 12

HCSSSM1230 M12 X 30 HEX HEAD CAP SCREW STAINLESS 12

CONTINUE

184



ASSMHCS72

HCSSSM1240 M12 X 40 HEX HEAD CAP SCREW STAINLESS 10

HCSSSM1250 M12 X 50 HEX HEAD CAP SCREW STAINLESS 6

HCSSSM1260 M12 X 60 HEX HEAD CAP SCREW STAINLESS 6

HCSSSM1270 M12 X 70 HEX HEAD CAP SCREW STAINLESS 5

HCSSSM1280 M12 X 80 HEX HEAD CAP SCREW STAINLESS 5

HCSSSM12100 M12 X 100 HEX HEAD CAP SCREW STAINLESS 5

HCSSSM1630 M16 X 30 HEX HEAD CAP SCREW STAINLESS 5

HCSSSM1640 M16 X 40 HEX HEAD CAP SCREW STAINLESS 5

HCSSSM1650 M16 X 50 HEX HEAD CAP SCREW STAINLESS 4

HCSSSM1660 M16 X 60 HEX HEAD CAP SCREW STAINLESS 3

HCSSSM1680 M16 X 80 HEX HEAD CAP SCREW STAINLESS 3

HCSSSM16100 M16 X 100 HEX HEAD CAP SCREW STAINLESS 2

HCSSSM16120 M16 X 120 HEX HEAD CAP SCREW STAINLESS 2

HCSSSM2040 M20 X 40 HEX HEAD CAP SCREW STAINLESS 3

HCSSSM2060 M20 X 60 HEX HEAD CAP SCREW STAINLESS 3

HCSSSM2080 M20 X 80 HEX HEAD CAP SCREW STAINLESS 2

HCSSSM20100 M20 X 100 HEX HEAD CAP SCREW STAINLESS 4

HCSSSM20120 M20 X 120 HEX HEAD CAP SCREW STAINLESS 2

HCSSSM20140 M20 X 140 HEX HEAD CAP SCREW STAINLESS 2

HCSSSM2450 M24 X 50 HEX HEAD CAP SCREW STAINLESS 2

HCSSSM2460 M24 X 60 HEX HEAD CAP SCREW STAINLESS 2

HCSSSM2480 M24 X 80 HEX HEAD CAP SCREW STAINLESS 2

HCSSSM24100 M24 X 100 HEX HEAD CAP SCREW STAINLESS 2

HCSSSM24140 M24 X 140 HEX HEAD CAP SCREW STAINLESS 2

HCSSSM24120 M24 X 120 HEX HEAD CAP SCREW STAINLESS 2

72BIN 72 OPENING BIN 21

185



ASSP141
PART NO. DESCRIPTION QTY

PHBSS1418 1/4 X 1/8 STAINLESS HEX BUSHING 5

PHBSS3814 3/8 X 1/4 304 STNLS STL  HEX BUSHING 5

PHBSS3818 3/8 X 1/8 STAINLESS HEX BUSHING 5

PHBSS1238 1/2 X 3/8 304 STAINLESS HEX BUSHING 5

PHBSS1214 1/2 X 1/4  304 S/S  HEX BUSHING 5

PHBSS1218 1/2 X 1/8 STAINLESS HEX BUSHING 5

PHBSS3412 3/4 X 1/2 STAINLESS HEX BUSHING 5

PHBSS3438 3/4 X 3/8 STAINLESS HEX BUSHING 5

PHBSS3414 3/4 X 1/4 304 STAINLESS HEX BUSHING 5

PHBSS3418 3/4 X 1/8 STAINLESS HEX BUSHING 5

PHBSS134 1 X 3/4 304 S/S HEX BUSHING 5

PHBSS112 1 X 1/2 304 S/S HEX BUSHING 3

PHBSS138 1 X 3/8 STAINLESS HEX BUSHING 2

PHBSS114 1 X 1/4 STAINLESS HEX BUSHING 2

TT12 1/2" X 260 INCH TEFLON TAPE 3

TT34 3/4" X 260 INCH TEFLON TAPE 3

PCRSS1418 1/4 X 1/8 304 S/S COUPLER REDUCER 3

PCRSS3814 3/8 X 1/4 304 S/S COUPLER REDUCER 3

PCRSS3818 3/8 X 1/8 304 S/S COUPLER REDUCER 3

PCRSS1238 1/2 X 3/8 304 S/S BELL CPLR REDUCER 3

PCRSS1214 1/2 X 1/4 304 S/S COUPLER REDUCER 3

CONTINUE

186



ASSP141

PCRSS3412 3/4 X 1/2 304 S/S COUPLER REDUCER 3

PCRSS3438 3/4 X 3/8 304 S/S COUPLER REDUCER 2

PCRSS134 1 X 3/4 304 S/S COUPLER REDUCER 2

PCSS14 1/4 STAINLESS COUPLING 6

PCSS38 3/8 304  STAINLESS COUPLING 6

PCSS12 1/2 304 S/S COUPLING 6

PCSS34 3/4 304 STAINLESS COUPLING 6

PCSS1 1" 304 S/S COUPLING 5

PSPSS14 1/4 304 STAINLESS SQ HD PLUG 6

PSPSS38 3/8 STAINLESS SQ HD PLUG 6

PSPSS12 1/2  304 STAINLESS SQ HD PLUG 6

PSPSS34 3/4 304 STAINLESS SQ HD PLUG 5

PSPSS1 1" STAINLESS SQ HD PLUG 4

PTSS14 1/4 304 S/S TEE 4

PTSS38 3/8 304 S/S  TEE 4

PTSS12 1/2 304 S/S TEE 4

PTSS34 3/4 304 S/S TEE 4

PTSS1 1" 304 S/S TEE 3

PESS1490 1/4 304 S/S 90 ELBOW 6

PESS3890 3/8 304 S/S  90  ELBOW 6

PESS1290 1/2 304 S/S 90  ELBOW 6

PESS3490 3/4 304  S/S  90  ELBOW 6

CONTINUE

187



ASSP141

PESS190 1" 304 S/S  ELBOW 90 4

PSESS1490 1/4 304  STAINLESS 90 STREET ELBOW 4

PSESS3890 3/8 STAINLESS 90 STREET ELBOW 4

PSESS1290 1/2 304 S/S 90 STREET ELBOW 4

PSESS3490 3/4 STAINLESS 90 STREET ELBOW 4

PSESS190 1" STAINLESS 90 STREET ELBOW 3

PCPSS14 1/4 304 STAINLESS CAP 4

PCPSS38 3/8 304 STAINLESS CAP 4

PCPSS12 1/2 304 STAINLESS CAP 4

PCPSS34 3/4 304 STAINLESS CAP 3

PCPSS1 1" 304 STAINLESS  PIPE CAP 2

PESS1445 1/4 304 S/S  45 ELBOW 2

PESS3845 3/8 304 S/S  45 ELBOW 2

PESS1245 1/2 304 S/S 45 ELBOW 2

PESS3445 3/ 4 304  S/S 45  ELBOW 2

PESS145 1" 304 S/S 45 ELBOW 2

PUSS14 1/4 304 S/S UNION 2

PUSS38 3/8 304 S/S UNION 2

PUSS12 1/2 304 S/S UNION 2

PUSS34 3/4 304 S/S UNION 2

PUSS1 1" 304 S/S UNION 1

72BIN 72 OPENING BIN 1

188



PART NO. DESCRIPTION QTY

PNSS14C 1/4 X CLOSE 304 S/S NIPPLE 10

PNSS14112 1/4 X 1 1/2 304 STAINLESS NIPPLE 10

PNSS142 1/4 X 2 304 STAINLESS NIPPLE 10

PNSS14212 1/4 X 2 1/2 304 STAINLESS NIPPLE 6

PNSS143 1/4 X 3 304 STAINLESS NIPPLE 6

PNSS144 1/4 X 4 304  STAINLESS NIPPLE 4

PNSS145 1/4 X 5  304 STAINLESS NIPPLE 4

PNSS146 1/4 X 6  304 STAINLESS NIPPLE 4

PNSS38C 3/8 X CLOSE 304  STAINLESS NIPPLE 10

PNSS38112 3/8 X 1 1/2  304 STAINLESS NIPPLE 10

PNSS382 3/8 X 2  304 STAINLESS NIPPLE 10

PNSS38212 3/8 X 2 1/2  304 STAINLESS NIPPLE 6

PNSS383 3/8 X 3  304 STAINLESS NIPPLE 6

PNSS384 3/8 X 4  304 STAINLESS NIPPLE 4

PNSS385 3/8 X 5  304 STAINLESS NIPPLE 4

PNSS386 3/8 X 6  304 STAINLESS NIPPLE 4

PNSS12C 1/2 X CLOSE 304 STAINLESS NIPPLE 10

PNSS12112 1/2 X 1 1/2 304 STAINLESS NIPPLE 10

PNSS122 1/2 X 2 304 STAINLESS NIPPLE 10

PNSS12212 1/2 X 2 1/2 STAINLESS NIPPLE 6

ASSPN141

CONTINUE

189



ASSPN141

PNSS123 1/2 X 3  304 STAINLESS NIPPLE 6

PNSS124 1/2 X 4 STAINLESS NIPPLE 4

PNSS125 1/2 X 5 STAINLESS  NIPPLE 4

PNSS126 1/2 X 6 STAINLESS NIPPLE 4

PNSS34C 3/4 X CLOSE 304 S/S NIPPLE 10

PNSS34112 3/4 X 1 1/2 304  STAINLESS NIPPLE 10

PNSS342 3/4 X 2 304  STAINLESS NIPPLE 10

PNSS34212 3/4 X 2 1/2 304 STAINLESS NIPPLE 6

PNSS343 3/4 X 3  304 STAINLESS NIPPLE 6

PNSS344 3/4 X 4  304 STAINLESS NIPPLE 6

PNSS345 3/4 X 5  304 STAINLESS NIPPLE 6

PNSS346 3/4 X 6  304 STAINLESS NIPPLE 6

PNSS1C 1 X CLOSE 304 S/S NIPPLE 6

PNSS12 1 X 2 304 STAINLESS NIPPLE 6

PNSS1212 1 X 2 1/2 STAINLESS NIPPLE 6

PNSS13 1 X 3 STAINLESS NIPPLE 6

PNSS1312 1 X 3 1/2 STAINLESS NIPPLE 6

PNSS14 1 X 4 STAINLESS NIPPLE 4

PNSS15 1 X 5  304 STAINLESS NIPPLE 4

PNSS16 1 X 6  304 STAINLESS NIPPLE 4

40BIN 40 OPENING BIN 1

190



PART NO. DESCRIPTION QTY

SSC632316 6/32 X 3/16 CUP POINT SOCKET SET 50

SSC63214 6/32 X 1/4 CUP POINT SOCKET SET 50

SSC63238 6/32 X 3/8 CUP POINT SOCKET SET 50

SSC83214 8/32 X 1/4 CUP POINT SOCKET SET 50

SSC83238 8/32 X 3/8 CUP POINT SOCKET SET 50

SSC83212 8/32 X 1/2 CUP POINT SOCKET SET 50

SSC102414 10/24 X 1/4 CUP POINT SOCKET SET 50

SSC102438 10/24 X 3/8 CUP POINT SOCKET SET 50

SSC102412 10/24 X 1/2 CUP POINT SOCKET SET 50

SSC103214 10/32 X 1/4 CUP POINT SOCKET SET 50

SSC103238 10/32 X 3/8 CUP POINT SOCKET SET 50

SSC103212 10/32 X 1/2 CUP POINT SOCKET SET 25

SSC142014 1/4-20 X 1/4 CUP POINT SOCKET SET 50

SSC142038 1/4-20 X 3/8 CUP POINT SOCKET SET 50

SSC142012 1/4-20 X 1/2 CUP POINT SOCKET SET 25

SSC51618516 5/16-18 X 5/16 CUP POINT SOCKET SET 25

SSC5161812 5/16-18 X 1/2 CUP POINT SOCKET SET 25

SSC5161834 5/16-18 X 3/4 CUP POINT SOCKET SET 25

SSC381638 3/8-16 X 3/8 CUP POINT SOCKET SET 25

SSC381612 3/8-16 X 1/2 CUP POINT SOCKET SET 25

SSC381634 3/8-16 X 3/4 CUP POINT SOCKET SET 25

SSC7161412 7/16-14 X 1/2 CUP POINT SOCKET SET 25

SSC121312 1/2-13 X 1/2 CUP POINT SOCKET SET 25

SSC121334 1/2-13 X 3/4 CUP POINT SOCKET SET 25

24DRAWER 24 COMPARTMENT DRAWER 1

ASSSC2

191



PART NO. DESCRIPTION QTY

SSC142814 1/4-28 X 1/4 CUP POINT SOCKET SET 25

SSC1428516 1/4-28 X 5/16 CUP POINT SOCKET SET 25

SSC142838 1/4-28 X 3/8 CUP POINT SOCKET SET 25

SSC142812 1/4-28 X 1/2 CUP POINT SOCKET SET 25

SSC142834 1/4-28 X 3/4 CUP POINT SOCKET SET 25

SSC14281 1/4-28 X 1 CUP POINT SOCKET SET 25

SSC5162414 5/16-24 X 1/4 CUP POINT SOCKET SET 25

SSC51624516 5/16-24 X 5/16 CUP POINT SOCKET SET 25

SSC5162438 5/16-24 X 3/8 CUP POINT SOCKET SET 25

SSC5162412 5/16-24 X 1/2 CUP POINT SOCKET SET 25

SSC5162434 5/16-24 X 3/4 CUP POINT SOCKET SET 25

SSC516241 5/16-24 X 1 CUP POINT SOCKET SET 25

SSC382414 3/8-24 X 1/4 CUP POINT SOCKET SET 25

SSC382438 3/8-24 X 3/8 CUP POINT SOCKET SET 25

SSC382412 3/8-24 X 1/2 CUP POINT SOCKET SET 25

SSC382434 3/8-24 X 3/4 CUP POINT SOCKET SET 25

SSC38241 3/8-24 X 1 CUP POINT SOCKET SET 25

SSC7162012 7/16-20 X 1/2 CUP POINT SOCKET SET 20

SSC716201 7/16-20 X 1 CUP POINT SOCKET SET 15

SSC122012 1/2-20 X 1/2 CUP POINT SOCKET SET 15

SSC122034 1/2-20 X 3/4 CUP POINT SOCKET SET 10

SSC12201 1/2-20 X 1 CUP POINT SOCKET SET 10

SSC1220112 1/2-20 X 1 1/2 CUP POINT SOCKET SET 10

24DRAWER 24 COMPARTMENT DRAWER 1

ASSSCF

192



PART NO. DESCRIPTION QTY

SSCSS63218 6/32 X 1/8 SOCKET SET SCREW STAINLESS 50

SSCSS63214 6/32 X 1/4 SOCKET SET SCREW STAINLESS 50

SSCSS63238 6/32 X 3/8 SOCKET SET SCREW STAINLESS 50

SSCSS63212 6/32 X 1/2 SOCKET SET SCREW STAINLESS 25

SSCSS63234 6/32 X 3/4 SOCKET SET SCREW STAINLESS 25

SSCSS6321 6/32 X 1 SOCKET SET SCREW STAINLESS 25

SSCSS83218 8/32 X 1/8 SOCKET SET SCREW STAINLESS 50

SSCSS83214 8/32 X 1/4 SOCKET SET SCREW STAINLESS 50

SSCSS83238 8/32 X 3/8 SOCKET SET SCREW STAINLESS 50

SSCSS83212 8/32 X 1/2 SOCKET SET SCREW STAINLESS 25

SSCSS83234 8/32 X 3/4 SOCKET SET SCREW STAINLESS 25

SSCSS8321 8/32 X 1 SOCKET SET SCREW STAINLESS 25

SSCSS102414 10/24 X 1/4 SOCKET SET SCREW STAINLESS 50

SSCSS102438 10/24 X 3/8 SOCKET SET SCREW STAINLESS 50

SSCSS102412 10/24 X 1/2 SOCKET SET SCREW STAINLESS 50

SSCSS102434 10/24 X 3/4 SOCKET SET SCREW STAINLESS 25

SSCSS10241 10/24 X 1 SOCKET SET SCREW STAINLESS 25

SSCSS1024114 10/24 X 1 1/4 SOCKET SET SCREW STAINLESS 10

SSCSS142014 1/4-20 X 1/4 SOCKET SET SCREW STAINLESS 25

SSCSS142038 1/4-20 X 3/8 SOCKET SET SCREW STAINLESS 25

SSCSS142012 1/4-20 X 1/2 SOCKET SET SCREW STAINLESS 25

SSCSS142034 1/4-20 X 3/4 SOCKET SET SCREW STAINLESS 25

SSCSS14201 1/4-20 X 1 SOCKET SET SCREW STAINLESS 10

SSCSS1420114 1/4-20 X 1 1/4 SOCKET SET SCREW STAINLES 10

24DRAWER 24 COMPARTMENT DRAWER 1

ASSSCSS

193



PART NO. DESCRIPTION QTY

SSC63218 6/32 X 1/8 CUP POINT SOCKET SET 100

SSC63214 6/32 X 1/4 CUP POINT SOCKET SET 100

SSC63238 6/32 X 3/8 CUP POINT SOCKET SET 100

SSC63212 6/32 X 1/2 CUP POINT SOCKET SET 100

SSC63234 6/32 X 3/4 CUP POINT SOCKET SET 50

SSC6321 6/32 X 1 CUP POINT SOCKET SET 25

SSC83218 8/32 X 1/8 CUP POINT SOCKET SET 100

SSC83214 8/32 X 1/4 CUP POINT SOCKET SET 100

SSC83238 8/32 X 3/8 CUP POINT SOCKET SET 100

SSC83212 8/32 X 1/2 CUP POINT SOCKET SET 50

SSC83234 8/32 X 3/4 CUP POINT SOCKET SET 50

SSC8321 8/32 X 1 CUP POINT SOCKET SET 25

SSC102414 10/24 X 1/4 CUP POINT SOCKET SET 50

SSC102438 10/24 X 3/8 CUP POINT SOCKET SET 50

SSC102412 10/24 X 1/2 CUP POINT SOCKET SET 25

SSC102434 10/24 X 3/4 CUP POINT SOCKET SET 25

SSC10241 10/24 X 1 CUP POINT SOCKET SET 15

SSC1024114 10/24 X 1 1/4 CUP POINT SOCKET SET 10

SSC103214 10/32 X 1/4 CUP POINT SOCKET SET 50

SSC103238 10/32 X 3/8 CUP POINT SOCKET SET 50

SSC103212 10/32 X 1/2 CUP POINT SOCKET SET 25

SSC103234 10/32 X 3/4 CUP POINT SOCKET SET 25

SSC10321 10/32 X 1 CUP POINT SOCKET SET 15

SSC1032114 10/32 X 1 1/4 CUP POINT SOCKET SET 10

24DRAWER 24 COMPARTMENT DRAWER 1

ASSSS

194



PART NO. DESCRIPTION QTY

WHCL14 1/4 HIGH COLLAR LOCK WASHER 100

WHCL516 5/16 HIGH COLLAR LOCK WASHER 100

WHCL38 3/8 HIGH COLLAR LOCK WASHER 50

WHCL716 7/16 HIGH COLLAR LOCK WASHER 50

WHCL12 1/2 HIGH COLLAR LOCK WASHER 50

WHCL916 9/16 HIGH COLLAR LOCK WASHER 25

WHCL58 5/8 HIGH COLLAR LOCK WASHER 25

WHCL34 3/4 HIGH COLLAR LOCK WASHER 25

WHCL78 7/8 HIGH COLLAR LOCK WASHER 10

WHCL1 1 HIGH COLLAR LOCK WASHER 10

ADJDRAWER ADJUSTABLE DRAWER 1

AWHCL

195



Family owned and operated since 1979

WWW.JLFASTENERS.COM

SALES@JLFASTENERS.COM

FIND US ON FACEBOOK!

196




